


Oertifika

NECMi KARATAS - KARATAS OTOMOTIV

FEVZICAKMAK MAHALLESI 10733. SK. NO:13/1
KARATAY - KONYA / TURKIYE

Goldcert, yukanda bilgileri bulunan kurulugun

ISO 9001:2015

KALITE YONETIM SISTEMI

standardina uyguniugunun

FRENLER, SERVO FRENLER, AKSAMLARI VE PARCALARI TEMINi,
PAZARLAMA VE SATISI

kapsaminda degerlendirildigini, kurulusun ilgili standardin gereklerine
uygun bir yénetim sistemi kurdugunu ve uygulamakta oldugunu teyit eder.

Sertifika Numarasi : GC-18-2185
Belgelendirme Tarihi ¢ 20/10/2018
Sertifika Yayin Tarihi : 20/10/2018 Rev:0
Gegerlilik Tarihi ¢ 19/10/2021

Genel Midir

Codn A

TURKAK BDS NO
N YS-68E9-9C94

Bu sertifika, Goldcert belgelendirme kuraflanna uyuldugu sirece gecerlidir. Sertifika Dogrulama islemi; mobil cihazlar araciigyla belge Uzerindeki karekod
okutularak veya "TURKAK BDS No" ile hitps://ibds.furkak.org.fr  belge dogrulama sisteminden yapilabilir.

SERTIFIKA BELGELENDIRME DENETIM MUAYENE ve EGITIM HIZMETLERI LTD. STi.
ikitelli OSB Giyim Sanatkarlar Sanayi Sitesi 3. Ada A Blok No: 301 Basaksehir 34490 istanbul /TURKIYE
Tel: +90 212 407 01 00  Faks: +90 212 407 00 17 info@goldcert.com.ir

goldcert.com.tr sertifika.com.ir

S-F.07/1



o
TURK PATENT ENSTITUSU

MARKA TESCIL BELGESI
SURETI

Marka No : 201048385 - Ticaret - Hizmet

LINIERAKE

Marka Sahibi : NECMI KARATAS (T.C Kimlik No: 44332601474)
TURKIYE CUMHURIYETI
Horozluhan Mah. Ayca Sk. No: 40 Selcuklu / KONYA
Emtiasi : 12,35
Nisiktedir

Markalarin Korunmas: Hakkinda 556 Sayili Kanun Hiikmiinde
Kararnameye gore 23/07/2010 tarihinden itibaren ON YIL miiddetle
02/11/2011 tarihinde tescil edilmistir.

l 2 TURK PATENT [O.] ENSTITUSU —

O



TAMOREHHBIN COI03
CEPTUQUKAT COOTBETETRUA

Ne TC RU C-TR.A/150.B.00532
Cepus RU  Ne 0751892

EC OPTAH ITO CEPTHOMKALIAM O6uecTBo ¢ orpanuyeHHol orBeTcTBeHHOCTbIO «CTAHAAPTMALLITECT». Mecto
- Haxoxaenus: 117437, Poccuiickas @denepauns, ropox Mocksa, yiauua Akagemnka ApuumoBuya, 1oM |7, nometuenue V,
KoMHaTa 9. Apec mecta ocyuiecTBaeHus aesatenbHocTh: 115114, Poceutickas ®exnepauus, ropoa Mocksa, ynuua
JleTHUKOBCKasl, 10M 9, cTpoeHue |. ATTectat akkpeantauuu perucrtpaunonseiii Ne RA.RU.10AJI50. [lata peructpauuu
atrectaTa akkpeauTaunn 03.03.2017 rona. Tenedon: +74954813360. Anpec snekTpoHHO# noutsl: info@standartmashtest.ru

¢ SASIBUTEAD o6yectso ¢ OrpaHM4eHHON OTBETCTBEHHOCTHIO «Mup TexHomoruii».
OCHOBHO# rocyaapCTBEHHbIH perucTpaunoHHbii Homep: 1187746469096.
Mecto naxoxaenns: 117042, Poccuiickas @eaepauns, ropoa Mocksa, yauua Aavupana PyaHesa, 1o 4, atax 6,
nometenue [V, opuc 613
Tenedon: 89154152183, anpec snexrponnoii moutsl: MirTekhnologiy@gmail.com

g% TTPOAYKIIVIA Komnonenrel, nocrasisiembie B kayecTse CMEHHBIX (3amacHbIX) yacTei A/1s NOCIenpoaaXKHOro TEXHHYECKOro

g 00C/y)KMBaHHS aBTOTPAHCIIOPTHBIX cpeAcTB, ToproBoit Mapku «UNIBRAKE»: cornacHo npuiioskeHuio - 61anku NeNe 0553716, 0553717.
[TpoyKiMs H3roTOBJIEHA B COOTBETCTBHU ¢ JlupekTuBoi 2007/46/EC.
CepuiiHblit BbITYCK

e COOTBETCTBYET TPEBOBAHUAM Texnuueckoro pernamenta TamoxerHoro cotosza TP TC 018/2011
"O 6e30MaCHOCTH KOJIECHBIX TPAHCMOPTHBIX CPEACTB"

i

- CEPTU®UKAT BHIAAH HA OCHOBAHHH NpoTOKOJOB HCTbITaHKH NeNe 981 ATC-2018, 982ATC-2018

o 0125.09.2018 roaa, BeLIaHHBIX MCTIBITATENbHON TabopaTopueit «ABToTpakTopHbie CpencTsay OOLIECTBa ¢ OFpaHUUEHHOH
otBeTcTBEHHOCTBIO «[TPOMMALLL TECT», arrectar akkpeantaunu Ne RA.RU.2IHA71.

Cxema ceprudpukauuu: 11c

AOHOAHHTEAI)HA’I HH(DOPMAHM YCnoBHs XpaHeH s, CPOK XPaHEHHUs (CiyObl, FOAHOCTH) MPOYKIHMH yKa3aHbl B NpHIaraeMoit

K NMPOAYKLHMH KCIUIyaTallMOHHOM 10KyMeHTalu. Cranaapt, obecnieunBatoiuii codmoaenne tpedosannii TexHUUECKOro periamenTa TaMOKEHHOro cor3a
TP TC 018/2011 "O GesonacHocTH KonecHbIX TpancnoptHbix cpeacts: TOCT P 52847-2007 "ABToMoOH/IbHBIE TPAHCTIOPTHBIE CPeACTBA. TOPMO3HbIE
MexaHu3Mbl. TexHuueckue TpeOoBaHNs 1 METO/IbI CTeH10BbIX HenbiTannit"; Mpasuaa EOK OOH N 26 "EannooGpasHblie npeanucanns, Kacaroumecs
O(HIMATBHOTO YTBEPIKACHUS TPAHCTIOPTHBIX CPEICTB B OTHOIIEHHH HX HAPY/KHBIX BBICTYTOB".

qc  25.09.2018 no 24.092022  BKAIOYUTEABHO

PykoBoputeas (ynmosnomouensoe @/ : Hrops Onerosi Exos

AMII0) OpraHa 1o cepTHUKAIHH 47 k) (AriAivarioi, aAn)
! i Anton Bacubesuy Epemuerko
kcnepr (axcnepr-ayauTop) . '
- (sxcmeprs1 (axcrepTi-ayAuTOpHI) )
§ S, (RS S A SN B e VN AR & 22 e 1S A S e, VN Y N
X bnaHk 3rOTOBNEH 3A0 “OMNUWMOH", www.opcion.ru (nuuyexaus Ne 05-05-09/003 ®HC PO

(noanuce) (MAuLane!, amunns)




SB5 TYPE SB6 TYPE SB7 AXIAL TYPE ST7 TYPE

SB7 RADIAL TYPE SK7 TYPE SL7-SM7 TYPE CALIPER CARRIER

SNS TYPE

SN6 TYPE SN7 TYPE CALIPER CARRIER

(=

KNORR
BRAKE CALIPER REPAIR KITS

You can follow our new products from our website.




UNIBRAKE

Brake Caliper Repair Kit

KNORR
SERIES

5000 / Caliper Piston Tappet & Seals Repair Kit 5001 / Caliper Piston Tappet Repair Kit - 369 mm
SN6 / SN7 /| SK7 Type - @69 mm SN6 / SN7 /| SK7 Type

KNORR: K001300-K010603-K000366-K092079 / MB: 000 420 2382 - 000 420 4082 - 000 420 4982
MAN: 81.50822.6020 - 81.50822.6031 / SCANIA: 1723417 - 2121858 - 2198394
DAF: 1622785 - 1616894 - 1689313 / IVECO: 42541413 / 09.801.06.32.0 / SAF: 3 434 3814 00 / CKSK.4.2

Turkey [

269 mm
A 269 mm
¢ o &
o / 218x216x10 mm maxmexm mm
~ " 0101 /InnerSeal = ﬂ a
@69 mm 7 5
0102 / Tappet Bush 0102 / Tappet Bush

0100 / Caliper Tappet

0100
Caliper Tappet

5002 / Caliper Piston Tappet Repair Kit - 969 mm 5003 / Caliper Piston Tappet & Seal Kit - @369 mm
SN6 / SN7 / SK7 Type SN6 / SN7 / SK7 Type
269 mm
218x@16x10 mm 269 mm 269 mm
e > = 218x@16x10 mm
: L.

0102/ Tappet Bush
0102 / Tappet Bush

0100 / Caliper Tappet

0101 / Inner Seal

0100 / Caliper Tappet

5004 / Caliper Piston Tappet & Boot Set - 369 mm
SN6 / SN7 / SK7 Type

269 mm D240xD36x82 mm
m 8xa1 6x1 0 mm
a S otozs Tappet Bush O
0101/ Inner Seal 5087 / Pin Bush 0914 / Outer Boot Clamp 0912 I'Inner Boot Ring 0915/ O-ring
‘9 b 7\ .

0100/ Caliper Tappet 5085 / Pin Rubber Bush 0103/ Plastic Cap 0913 / Outer Boot 0911/ Inner Boot 0916 / Pin Cap

5005 / Caliper Piston Tappet & Boot Set - 369 mm
SN6 / SN7 /| SK7 Type

269 mm 1 ="
18x@16x10 mm 0914/ Outer Boot Clamp
e
0102 / Tappet Bush >

0100 / Caliper Tappet

- »

5085 / Pin Rubber Bush

0913 / Outer Boot 0911 / Inner Boot

www.unibrake.com.tr @/ UnibrakeAutomotive

(@) / unibrake_caliper
ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

KNORR
SERIES

Turkey [

5006 / Caliper Piston Tappet & Seals Repair Kit
SB5/SB6 / SB7 / SN6 / SN7 / SK7 / SB7 Radial Type - @74 mm

81.50822.6022 - 81.50822.6032 /| SCANIA: 1743421 - 1746824 - 1756389 - 1759811 - 1723414 -
2121859 / DAF: 1448913 - 1623221 / IVECO: 93162050 / SAF: 3 434 3804 00 / CKSK.4

274 mm

218xB16x10 mm
0201 /Inner Seal - o
@74 mm
0102 / Tappet Bush

0200 / Caliper Tappet

KNORR: K000944 - K010604 / MB: 000 420 0682 - 000 420 3982 - 000 420 4882 / MAN: 81.50822.6007 -

5007 / Caliper Piston Tappet Repair Kit
SB5/SB6/SB7 / SN6 / SN7 / SK7 / SB7 Radial Type - @74 mm
KNR: 11179320065 - 11304130065 / SCN: 1390429

274 mm

218x216x10 mm

0102 / Tappet Bush

0200 / Caliper Tappet

5008 / Caliper Piston Tappet Repair Kit
SB5/SB6/SB7 / SN6 / SN7 / SK7 / SB7 Radial Type - @74 mm

274 mm

218x@16x10 mm

0102 / Tappet Bush

0200 / Caliper Tappet

5009 / Caliper Piston Tappet & Seal Kit - @74 mm
SB5/SB6 / SB7 / SN6 / SN7 / SK7 / SB7 Radial Type - @74 mm

274 mm @74 mm

218xB16x10 mm

0102 / Tappet Bush

0201 / Inner Seal

0200 / Caliper Tappet

ot min 218x@16x10 mm

- o
T‘\ 0102/ Tappet Bush

0201 / Inner Seal

) b

0200 / Caliper Tappet

5085 / Pin Rubber Bush

0915/ O-ring "

]

0916 / Pin Cap

5010 / Caliper Pin & Boot Set - @74 mm
SB5/SB6 / SB7 / SB7 Radial Type

>

0912/ Inner Boot Ring

0914 / Outer Boot Clamp

0913 / Outer Boot 0911/ Inner Boot

0103 / Plastic Cap
D40xD36x82 mm

5087 / Pin Bush

@74 mm

sz \i'r/
0102/ Tappet Bush

0200 / Caliper Tappet

]
218x@16x10 mm 0914/ Outer Boot Clamp

0913 / Outer Boot

5011 / Caliper Pin & Boot Set - @974 mm
SB5/SB6 / SB7 / SB7 Radial Type

0912/ Inner Boot

5085/ Pin Rubber Bush

0911 / Inner Boot

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




KNORR
SERIES

UNIBRAKE %) Yurkey HI

Brake Caliper Repair Kit

5012 / Caliper Piston Tappet & Seal Kit - 369 mm

SNS5 Type
ZE9,mn 269 mm
218x@16x10 mm
P -
. 0102/ Tappet Bush
Back View
0300 / Caliper Tappet 0101/ Inner Seal

5013 / Caliper Piston Tappet Kit - 369 mm
SNS5 Type

KNORR: K001929 / MB: 000 420 4282 / MAN: 81.50822.6027

269 mm

Q Back View

0300 / Caliper Tappet

218x216x10 mm

-

0102 / Tappet Bush

5014 / Caliper Complete Mechanism Repair Kit - @74 mm
SB6 / SB7 Type

5031 / Caliper Bridge Assembly 5038 / Calibration Bolt 5022 / Caliper Lever

5006 / Caliper Piston Tappet & Seals Kit 5027 / Caliper Pinion Shaft

T,

BN =\ -

5028 / Caliper Adjusting Mechanism

= |
. . 29 Link

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




KNORR
SERIES

UNIBRAKE %) Yurkey HI

Brake Caliper Repair Kit

5015 / Caliper Complete Mechanism Repair Kit - @74 mm
SB6 / SB7 Type

5031 / Caliper Bridge Assembly | 5038 / Calibration Bolt 5025 / Caliper Lever

5006 / Caliper Piston Tappet & Seals Kit A 5027 / Caliper Pinion Shaft 5047 / Caliper Roller Bearing Set

o,

T

LAY 3

I - I 5028 / Caliper Adjusting Mechanism 5039 / Caliper Calibration Shaft Chain

29 Link
5016 / Caliper Complete Mechanism Repair Kit - @74 mm
SB6 / SB7 Type

5031 / Caliper Bridge Assembly 5038 / Calibration Bolt 5024 / Caliper Lever

5006 / Caliper Piston Tappet & Seals Kit A 5027 / Caliper Pinion Shaft
' 5028 / Caliper Adjusting Mechanism 5039 / Caliper Calibration Shaft Chain
. . -

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

KNORR
SERIES

TORKAKK

Turkey [

5017 | Caliper Complete Mechanism Repair Kit - @69 mm

5034 / Caliper Bridge Assembly |

5000 / Caliper Piston Tappet & Seals Kit A
269 mm

SN6 / SN7 /| SK7 Type

5038 / Calibration Bolt

5027 / Caliper Pinion Shaft

]

L

5028 / Caliper Adjusting Mechanism

5021 / Caliper Lever

N

|

5039 / Caliper Calibration Shaft Chain
29 Link

5018 / Caliper Complete Mechanism Repair Kit - 369 mm

5034 / Caliper Bridge Assembly |

5000 / Caliper Piston Tappet & Seals Kit
@69 mm

SN6 / SN7 / SK7 Type

5038 / Calibration Bolt

5027 / Caliper Pinion Shaft

Lo

L

5028 / Caliper Adjusting Mechanism

5023 / Caliper Lever

r\I\_

<

5039 / Caliper Calibration Shaft Chain
29 Link

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive

(@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

KNORR
SERIES

TORKAKK

Turkey [

5019 / Caliper Complete Mechanism Repair Kit - 369 mm

5034 / Caliper Bridge Assembly |

SN6 / SN7 | SK7 Type

5038 / Calibration Bolt

5000 / Caliper Piston Tappet & Seals Kit
269 mm

5027 / Caliper Pinion Shaft

N

L

5028 / Caliper Adjusting Mechanism

5099 / Caliper Lever

Fa ]

A |

5039 / Caliper Calibration Shaft Chain
29 Link

5020 / Caliper Complete Mechanism Repair Kit - @69 mm

5037 / Caliper Bridge Assembly |

SN6 / SN7 /| SK7 Type

5038 / Calibration Bolt

5000 / Caliper Piston Tappet & Seals Kit
269 mm

5027 / Caliper Pinion Shaft

Tp

L

5028 / Caliper Adjusting Mechanism

5026 / Caliper Lever

5046 / Caliper Roller Bearing Set

)

|

5039 / Caliper Calibration Shaft Chain
29 Link

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive

(@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

KNORR

@
Turkey HI

SERIES

5021 / Caliper Lever
SN6 / SN7 / SK7 Type

KNR:Z002881

5022 / Caliper Lever
SB6 / SB7 Type

KNR: C73158

5023 / Caliper Lever
SN6 / SN7 / SK7 Type

KNR:Z002965 / CKSK18.3

5024 / Caliper Lever
SB6 / SB7 Type

CKSK.18.1

5025 / Caliper Lever
SB6 / SB7 Type

CKSK.18

5026 / Caliper Lever
SN6 / SN7 / SK7 / SL7 | SM7 | ST7 Type

KNR: Z002962

-

5027 | Caliper Adjusting Shaft (With Spring)
SB6/SB7/SN6 /SN7 / SK7 / SL7 / SM7 /| ST7 /| SB7 Radial Type

CKSK.10.1
A
in

.

5028 / Caliper Adjusting Mechanism

SB6/SB7/SN6/SN7/SK7/SL7/SM7/ST7 / SB7 Radial Type

CKSK.10.4

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

KNORR Turkey [l

SERIES

@
TORKAK
<)

5029 / Caliper Bridge Assembly
SB6 / SB7 /| SB7 Radial Type

5031 / Caliper Bridge Assembly
SB6 / SB7 / SB7 Radial Type

m
0505 / Spring

5029 / Caliper Bridge Assembly

5030 / Caliper Bridge Assembly

5029 / Caliper Bridge Assembly

SB6 / SB7 / SB7 Radial

CKSK.17

0505 / Spring

5048 / Lever Bearing 5038 / Calibration Bolt

5032 / Caliper Bridge Assembly
SN6 / SN7 / SK7 Type

5034 / Caliper Bridge Assembly
SN6 / SN7 / SK7 Type

0505 / Spring

5032 / Caliper Bridge Assembly

5033 / Caliper Bridge Assembly

5032 / Caliper Bridge Assembly

SN6 / SN7 / SK7 Type

CKSK.17.1

0505 / Spring

—ras

5048 / Lever Bearing

5038 /Calibration Bolt

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

KNORR
SERIES -

<4

TORKAKK

Turkey [

5035 / Caliper Bridge Assembly
SN6 /SN7 / SK7 / SL7 /| SM7 | ST7 Type

5037 / Caliper Bridge Assembly
SN6 / SN7 / SK7 / SL7 /| SM7 / ST7 Type

0505 / Spring

5035 / Caliper Bridge Assembly

5035 / Caliper Bridge Assembly

5036 / Caliper Bridge Assembly
SN6 / SN7 /| SK7 Type

0505 / Spring

5038 / Calibration Bolt

5038 / Caliper Calibration Bolt
SB5/SB6/ SB7 / SN5/ SN6 / SN7 / SK7 / SB7 Radial Type

5039 / Caliper Calibration Shaft Chain ( Long )
SB6 / SB7 / SN6 / SN7 / SK7 / SL7 / SM7 | ST7 | SB7 Radial Type

29 Link
CKSK.11

5040 / Caliper Adjusting Mechanism

SN5 Type
CKSK.10.5

5041 / Caliper Calibration Shaft Chain 14 Link
SN5 Type

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




JNIBRAKE \orR ﬂ Turkey HI

SERIES

Brake Caliper Repair Kit

5042 / Caliper Mechanism Gear 5043 / Caliper Pinion Shaft

SB6/SB7/SN6/SN7/SK7/SL7/SM7 / ST7 / SB7 Radial Type SN5 Type
CKSK.11.1

5044 | Caliper Bridge Assembly 5045 / Caliper Bridge Assembly
SN5 Type SB5 Type

0106 / Spring

0106 /Spring

0104 / Shaft Housing
0115 / Shaft Housing
5046 / Caliper Roller Bearing Set 5047 | Caliper Roller Bearing Set
SB6 /SB7 / SN6 / SN7 /| SK7 /| SB7 Radial Type SB5/SB6/SB7/ SN6 / SN7 / SK7 / SB7 Radial Type
CKSK.14.1 CKSK.14

0908 / Roller Bearing 0909 / Roller Bearing

5048 / Caliper Lever Bearing . 5049 / Adjusting Mechanism Adapter
SB6/SB7 / SN6 / SN7 /| SK7 /| SB7 Radial Type SB6/SB7 / SN6 / SN7 /| SK7 / SB7 Radial Type
CKSK.15

. /

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

KNORR
SERIES

Turkey [l

5050 / Caliper Pin Repair Kit
SB6 / SB7 /| SB7 Radial Type

KNORR:K010813 / MAN:81.50822.6033

@36x113,70 mm

M16x1,5x85 mm

0800 / Pin Bolt

0702 / Caliper Pin
236x64 mm

—

0706 / Caliper Pin

D40x@36x20 mm
M16x1,5x70 mm

0806 /Pin Bolt
0105 / Pin Bush

. ‘ @40x@36x82 mm -

240x25 mm

g S e S
R -

0912 / Inner Boot Ring

& O

0915/ O-ring

0902/ Pin Cap

0911 / Inner Boot 5087 /Pin Bush 0916/ Pin Cap

5051 / Caliper Plastic Cover (Without Sensor)
SB6/SB7/SN6/SN7/SK7/SL7/SM7 | ST7 Type

CKSK.16.1

Without Sensor

5052 / Caliper Sensor Cover (2 Cables Sensor)
SB6/SB7/SN6/SN7/SK7/SL7/SM7/ ST7 Type

0140
Sensor Adjuster Plastic

2 Cables Sensor

5053 / Caliper Sensor Cover (3 Cables Sensor)
SB6/SB7/SN6/ SN7 / SK7 / SL7 / SM7 | ST7 Type /| MERCEDES

3 Cables Sensor

A
MERCEDES
TYPE

0140
Sensor Adjuster Plastic

5054 / Caliper Pin Repair Kit
SB5/SB6 / SB7 /| SB7 Radial Type

KNR: 11369100062 - 11339680062 / MB: 000 420 1282 / MN: 81.50822.6009 / SCN: 1390427 - 2121643 / DF: 1142142 - 1198153 - 1198154 - 1448915/ IVC: 93162048 / NPLN: 11015565

B236x145 mm

D40xD36x82 mm

-~

= M16x1,5x150 mm
[ —
0801/ Pin Bolt 0912 / Inner Boot Ring \j——

0700 / Caliper Pin

234x80 mm
— —
——— - i M16x1,5x85 mm .
e — 0800/ Caliper Pin

0701 / Caliper Pin

X
0914 / Outer Boot Clamp 5087 / Pin Bush

—
—
i
5085 / Pin Rubber Bush

0913 / Outer Boot

0911 / Inner Boot

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

KNORR siricey I

SERIES

236x145 mm

0700 / Caliper Pin

M16x1,5x150 mm

[ | ———

0801 / Caliper Pin

5055 / Caliper Pin Repair Kit
SB5/SB6 / SB7 /| SB7 Radial Type

KNR: K000935 / SF: 3 434 3802 00

2

0914 / Outer Boot Clamp

—
>
e

0913 / Outer Boot

_s&’\

0912 / Inner Boot Ring

D40xD36x82 mm

5087 / Pin Bush

0911/ Inner Boot

236x113,70 mm

—

0702 / Caliper Pin

M16x1,5x85 mm

[T ——

0800 / Pin Bolt

[T e T

5056 / Caliper Pin Repair Kit
SN6 / SN7 / SK7 Type

KNORR: K052759K50

@39 mm

232x88,5 mm

AN

E
N\ B—

D240x14 mm

5084 / Pin Rubber Bush 0912 nner Boot Ring

P40xD36x82 mm

0113 / Caliper Pin

M16x1,5x80 mm

0901 / Pin Cap

5087 / Pin Bush

0802 / Pin Bolt

0911 / Inner Boot

236x135 mm

——

0704 / Caliper Pin

@34x80 mm

—

0701 / Caliper Pin

5057 / Caliper Pin Repair Kit
SB6 / SB7 /| SB7 Radial Type

KNR: K000132 / MB: 000 420 1082 - 000 420 2182 / SCN: 1390426 - 1798063 - 2121644

M16x1,5x140 mm

0803 / Pin Bolt & Q\'_—

0912/ Inner BOot Ring 4614 / outer Boot Clamp

0911 / Inner Boot 0913 / Outer Boot

5085 / Pin Rubber Bush

B40xD36x82 mm

5087 / Pin Bush

M16x1 5x85 mm

0800 / Pin Bolt

234x80 mm

—

0701/ Caliper Pin

5058 / Caliper Short Pin Repair Kit
SB5/SB6 / SB7 / SB7 Radial Type

KNR: 11368470064 / SCN: 2121840 / DF: 1448910 / SF:3 434 3801 00

M16x1,5x85 mm

[T ——

0800 / Pin Bolt -

5085 / Pin Rubber Bush

www.unibrake.com.tr

OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

KNORR Turkey [l

SERIES

5059 / Caliper Pin Repair Kit
SB6 / SB7 / SB7 Radial Type

@36x135 mm
ﬁ -
) 0912/1 Boot Ri -
0704/ Caliper Pin nner Be0tRNY 0914/ outer Boot Clamp 240x236x82 mm
@34x80 mm
—_ | — —
L e—— e

—
= 5087 / Pin Bush
— inBus 5085 / Pin Rubber Bush

0701 / Caliper Pin

0911 / Inner Boot 0913 / Outer Boot

5060 / Caliper Pin Repair Kit
SB6 / SB7 / SB7 Radial Type

236x135 mm

0912 / Inner Boot Ring

D240xB36x82 mm

0704 / Caliper Pin 0914 / Outer Boot Clamp

M16x1,5x140 mm 5087 / Pin Bush
0803 / Pin Bolt

0911/ Inner Boot 0913 / Outer Boot

\\\

5061 / Caliper Pin Repair Kit
SB6/SB7/SN6/SN7/SK7/SL7/SM7 | ST7 Type

KNR: K001915 - K048389K50 / MB: 000 420 4682 / MN: 81.50822.6034 - 81.50822.6037 / SCN: 1477675 - 1527631 - 2121646 / DF: 1639100

@36x113,70 mm

239 mm
M16x1,5x85 mm

0800/ Pin Bolt . -

0702 / Caliper Pin 5071/ Pin Rubber Bush

.-

0912/ Inner Boot Ring

240x14 mm

240xD36x82 mm
@32x80 mm =
— 7 M1GX1’5xa0 - = o cap
_j 0802/ Pin Bolt
0703/ Caliper Pin 0911 / Inner Boot 5087 / Pin Bush
5062 / Caliper Pin Boot 5063 / Caliper Lever
SB5/SB6/SB7/SN6/SN7/SK7/SL7/SM7/ST7/SB7 Radial Type SN6 / SN7 / SK7 Type

KNR: K019508 / BV: 02.1011.24.00 - 09.801.06.34.0

-

0912/ Inner Boot Ring

0911 / Inner Boot

.

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

KNORR
SERIES

Turkey [

5037 / Caliper Bridge Assembly |

5038 / Calibration Bolt

5065 / Caliper Complete Mechanism Repair Kit - 369 mm
SN6 / SN7 /| SK7 Type

5063 / Caliper Lever

5000 / Caliper Piston Tappet & Seals Kit
269 mm

:‘

5027 / Caliper Pinion Shaft

5028 / Caliper Adjusting Mechanism

5064 / Caliper Pin Repair Kit
SN6 / SN7 / SK7 / SL7 | SM7 | ST7 Type

236x113,70 mm

i - M16x1,5x85 mm

VAT —

0800 / Pin Bolt
0702 / Caliper Pin

©32x80 mm 239 mm
s M16x1,5x80 mm

0802 / Pin Bolt

0703 / Caliper Pin 5071 / Rubber Bush

5066 / Caliper Short Pin Repair Kit
SN6 /SN7 / SK7 / SL7 | SM7 | ST7 Type

©32x80 mm 239 mm

—— =

0703 / Caliper Pin 5071 / Pin Rubber Bush

236x113,70 mm

@32x80 mm

0703 / Caliper Pin

M16x1,5x80 mm .

0802/ Pin Bolt

0702 / Caliper Pin

M16x1,5x85 mm

0800 / Pin Bolt

.

0912 / Inner Boot Ring :

0915/ O-ring

0911 / Inner Boot

5067 / Caliper Pin Repair Kit
SB6 / SB7 / SN6 / SN7 / SK7 / SB7 Radial Type

KNR: K001532 / SCN: 1472919 / B: 09.801.06.31.0

235 mm

-

0904 / Bolt Ring
D240xD36x82 mm

5087 / Pin Bush

5073 / Pin Rubber Bush

0916/ Pin Cap

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

KNORR siricey I

SERIES

5068 / Caliper Pin Repair Kit
SN6 / SN7 /| SK7 Type

KNORR: K000472 - KO17707 / MAN: 81.50822.6019 - 81.50822.6034 / SCANIA: 1527631 - 1477675 / IVEC0:42541412 / B: 09.801.06.33.0 / SAF:3 434 3812 00 /
MERCEDES: 000 420 3482 / CKSK.3.2

236x113,70 mm @40x@36x82 mm
M16x1,5x85 mm
[T = -
- .
0800 / Pin Bolt - .
0702 / Caliper Pin "= 5087 / Pin Bush 0912/InnerBoot Ring 904 ot Ring
232x80 mm @39 mm @40x14 mm
. ——— i M16x1,5x80 mm =
RSN — 0802 / Pin Bolt . .
0703 / Caliper Pi .
aliper Fin 5084 / Pin Rubber Bush 0911 ! Inher Boot 0901 / Pin Cap
5069 / Caliper Short Pin Repair Kit 5071 / Caliper Pin Rubber Bush (Short - @39 mm)
SB5/SB6 / SB7 /| SN6 / SN7 / SK7 Type SB6 / SB7 / SN6 / SN7 / SK7 / SL7 / SM7 / ST7 / SB7 Radial Type
KNR: K000698 / BV: 09.801.06.91.0 / SAF: 3 434 3813 00 / CKSK.13.5
@32x80 mm 239 mm
0703 / Caliper Pin 5084 / Pin Rubber Bush -
M16x1,5%x80 mm @
0802/ Pin Bolt .
0904 / Bolt Ring

5070 / Caliper Pin Repair Kit
SB6 / SB7 /| SB7 Radial Type

KNR: K000696 - 11310370066 / MB: 002 420 0383 / SF: 3 434 3805 00

@36x113,70 mm

I ; @40x@36x82 mm
0915 / O-ring 0912 / Inner Boot Ring =

5087 / Pin Bush
0911/ Inner Boot

0702 / Caliper Pin

M16x1,5x85 mm

0800 / Pin Bolt

0916/ Pin Cap

5072 / Caliper Pin Repair Kit
SB6 /SB7 / SN6 / SN7 /| SK7 /| SB7 Radial Type

KNORR:K000365 / MERCEDES: 000 420 0782 - 000 420 2282

113,71
236x113,70 mm M16x1,5x85 mm @40x14 mm
- 239 mm
i : 2 0912/ Inner Boot .
' calirer B 0800/ Pin Bolt 5085 / Rubber Bush  9901/Pin Cap Ring 0915/ O-ring
334x80 mm @32x80 mm B40xD36x82 mm
—— — -
- M16x1,5x80 mm
) oot
— | 0802 / Pin Bolt Pin Rubber Bush
0701 / Caliper Pin 0703 / Caliper Pin 5087 / Pin Bush =
0911 / Inner Boot 0916 / Pin Cap
www.unibrake.com.tr )/ unibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

KNORR Turkey [l

SERIES

5074 | Caliper Pin Repair Kit
SN5 Type

KNORR: K001928 / MAN: 81.50822.6026 / 000 420 4182 / SCANIA : 2121650
230x99 mm

5

0707 / Caliper Pin

234x@30x65 mm
M16x1,5x105 mm

0804 / Pin Bolt .

234x14 mm

0114 / Inner Boot Ring

ﬂ30x72 mm D234x230x20 mm

M16x1 5x75 mm

0805 / Pin Bolt

0705 / Caliper Pin 0907 / Pin Cap

1506 / Pin Bush

0108 / Inner Boot

5075 / Caliper Pin Repair Kit
SN6 / SN7 /| SK7 Type

KNORR: K004100 - K010766 - K004168 / MB: 000 420 5082 / SAF: 3 434 3815 00 / SCANIA: 1748131 - 2121647 - 2198395 / 1008450 / 803114
HNDRCKSN: §-29152-9 / MODEL: ADB22X

@36x113,70 mm

@40x25 mm
240x14 mm

M16x1,5x85 mm
& § .
R -

0912 / Inner Boot Ring

0800 / Pin Bolt

0702 / Caliper Pin
236x64 mm
—

0902/ Pin Cap 0901 / Pin Cap

D240xD36x20 mm

D40xB36x82 mm

M16x1,5x70 mm

0806 / Pin Bolt

0706 / Caliper Pin 0105/ Pin Bush 5087 / Pin Bush

0911 / Inner Boot

5073 Caliper Pin Rubber Bush (@35 mm)
SB6 / SB7 / SN6 / SN7 / SK7 / SB7 Radial Type

5076 / Caliper Short Pin Repair Kit
SN6 / SN7 /| SK7 Type

236x64 mm

AR

0912 I Inner Boot Ring
@40x@36x20 mm

0706 / Caliper Pin

M16x1,5x70 mm

0806 / Pin Bolt

0105 / Pin Bush

0911 / Inner Boot

5077 | Caliper Cap Set
SB5/SB6 / SB7 / SB7 Radial Type

KNR: K001301 / MN: 81.50822.6025 / SCN: 1439494 - 2121839

QO
[y &

S88 -

0916 / Pin Cap 0915/ O-ring

0913 / Outer Boot

0914 / Outer Boot Clamp

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive

(@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

KNORR
SERIES

@
TORKAR
<

AB-0089-YS

Turkey [l

5078 / Caliper Cap Set - 338 mm

SB6/SB7/SN6/SN7/SK7/SL7/SM7/ ST7 /| SB7 Radial Type
KNORR: K000029 / MERCEDES: 000 423 4687 / MAN: 81.50822.6021

o @, @ se
"X ¥ 2 I r
¥ X ¥ WYRY

0103 / Plastic Cap 5049 / Mechanism Adapter

5079 / Caliper Cap Set - @35 mm
SB6 / SB7 / SN6 / SN7 /| SK7 Type

KNORR: K003902 / MB: 000 420 3248 / SCN: 2121869 - 2198536
OTHER MODEL: ADB22X / BNDX: 802643 / SCHMITZ: 1008453

ssom @ @R W
"X VS B
QAOO@ ccce

0124 / Plastic Cap 5049 / Mechanism Adapter

5080 / Caliper Cap & O-ring

SB5/SB6/SB7/SN6/SN7 / SK7 /| SB7 Radial Type
KNR: 1139769F0063 / SF: 3 434 3806 00

0915/ O-ring

0916 / Pin Cap

5081 / Caliper Pin Boot & Cap Set

SB5/SB6/SB7/SN6 / SN7 / SK7 / SB7 Radial Type

KNORR: 11328090061 / MB: 001 420 5283 / DF: 1448914 / SCN: 1415150 /
MN: 81.50822.6008 / IVC: 93162049 / BP: 09.801.06.11.0 / CKSK.1.1

.Y,
_—_

0912 / Inner Boot Ring

0915/ O-ring

0916 / Pin Cap 0911 / Inner Boot

5082 / Brake Pad Retainer Repair Kit

SB5/SB6/SB7/SN6/SN7/SK7/SL7/SM7/ST7/SB7 Radial Type
KNR: K000133 / MB: 000 420 2582

—_— . -

e E s e

0134 / Brake Pad Retainer

0135/ Pin 0136 / Washer

0137/ Circlip

5083 / Brake Pad Retainer Repair Kit
SB5/SB6/SB7/SN6/SN7/SK7/SL7/SM7/ST7/SB7 Radial Type

CKSK.2.7
238 mm
0103 / Plastic Cap .
h - - K — - 5049
- . Mechanism
G351 Pin 0136/ Washer  aganter
0137/ Circlip

5084 / Caliper Pin Rubber Bush - @39 mm
SB5/SB6/SB7/SN6/SN7 / SK7 /| SB7 Radial Type

.

5085 / Caliper Pin Rubber Bush
SB5/SB6/SB7/SN6 / SN7 / SK7 / SB7 Radial Type

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




KNORR Turkey [l

SERIES

UNIBRAKE

Brake Caliper Repair Kit

5086 / Caliper Pin Bellow Cap 5087 / Caliper Pin Bush

SB5/SB6 / SB7 / SB7 Radial Type SB5/SB6/SB7/SN6/SN7/SK7/SL7/SM7/ST7/SB7 Radial Type
KNORR: 11350470063

@40xD336x82 mm

-

o

RIS FOutsr Boot 0914 / Outer Boot Clamp
5088 / Caliper Pinion Shaft 5089 / Caliper Calibration Shaft Chain
SB5 Type SB5 Type
CKSK.10.8 CKSK.12

5090 / Caliper Pin Repair Kit
SB6 / SB7 /| SB7 Radial Type

KNR: K000687 / DF: 1603326
@36x145 mm D40xB36x82 mm

M16x1,5x150 mm
0801 I Pin Bolt

—

e — N

reg

0912 / Inner Boot Ring 0914 / Outer Boot

0700 / Caliper Pin 5087 / Pin Bush i
@32x80 mm 239 mm
-—-— r— M16x1,5x80 mm
0703 / Caliper Pin 5071/Pin Rubber Bush 0911/ Inner Boot 0913 / Outer Boot
5091 / Caliper Pin Boot & Cap Set 5092 / Caliper Short Pin Repair Kit
SB5/SB6 / SB7 / SB7 Radial Type SB5/SB6/ SB7 / SB7 Radial Type
KNR: 11350470061 / MB: 001 420 6683 / MN: 81.50822.6005 CKSK.13.3

,/.A
‘g @34x80 mm
0912 / Inner Boot Ring -
0914 / Outer Boot Clamp - o e ‘i
R e

S4a€Caliper Pin 5085 / Pin Rubber Bush

0911/ Inner Boot 0913 / Outer Boot

.

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




JMIBRAKE  «Norr Turkey HI

SERIES

Brake Caliper Repair Kit

5093 / Caliper Short Pin Repair Kit
SB5/SB6/SB7/ SN6/ SN7 / SK7 / SB7 Radial Type

KNR: K000697

@32x80 mm 239 mm
— — —-—
- ‘
0703/ Caliper Pin 5084 / Pin Rubber Bush

5094 / Caliper Pin Repair Kit
SB6 / SB7 / SB7 Radial Type

KNR: 1139769F0062 / SCN: 2121645/ IVC: 42537451

g O B40x@36x82 mm
3 : 0912/ Inner Boot Rin
0702 / Caliper Pin 5085 / Pin Rubber Bush 2 0915/ O-ring
Wl M16x1,5x85 mm

H 5087 / Pin Bush

236x113,70 mm

0701 / Caliper Pin

0800 / Pin Bolt

0911/ Inner Boot 0916/ Pin Cap
5095 / Caliper Adjusting Mechanism Adapter Kit 5096 / Caliper Lever

SB6/SB7/SN6/SN7 / SK7 / SB7 Radial Type SN6 / SN7 / SK7 Type

KNR: Z001548 / HNDRCKSN: $-29152-5

5049 / Adjusting Mechanism Adapter

5097 / Caliper Cap Set
SB6/SB7/SN6/SN7 / SK7 / SL7 / SM7 | ST7 Type

KNORR:K000945 / MAN 81.50822.6024 / SCN: 2121868 / DF:1439493 / SF: 8 531 7002 500 / CKSK.7

38 mm

QAQOA @& cosse sseet
QOQOQ@& oveee ggsas

0103 / Plastic Cap 0107/ Plastic Cover Cap 5049 / Adjusting Mechanism Adapter

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

KNORR "¢ Turkey HI
SERIES —e

5098 / Caliper Complete Mechanism Repair Kit - 369 mm

5037 / Caliper Bridge Assembly |

SL7 / SM7 | ST7 Type

5117 / Calibration Bolt 5120 / Caliper Lever

5118 / Caliper Piston Tappet & Seals Kit A
@69 mm

5121 / Caliper Pinion Shaft

5028 / Caliper Adjusting Mechanism 5039 / Caliper Calibration Shaft Chain
29 Link

5099 / Caliper Lever
SN6 / SN7 /| SK7 Type

CKSK.18.2

5100 / Caliper Lever
SB5 Type

5101 / Caliper Lever \ 5102 / Caliper Cover Set
SB7 Radial Type SN6 / SN7 /| SK7 Type
KNORR: K100259 - K000250 / SCANIA: 1480809 - 1480810 CKSK.22

0119/ Caliper Cover

M8x16 mm
) 0120 / Bolt
WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

SERIES

KNORR

irkey [

5103 / Caliper Roller Bearing Set
SN5 Type

0910 / Roller Bearing i

g Back Wi

5104 / Caliper Lever
SNS5 Type

5105 / Caliper Pin Repair Kit

SB6 / SB7 / SB7 Radial

Type

KNR: 11179320062 / MB: 050 121 0167 / DF: B230397

236x135 mm
M16x1,5x140 mm

0803 / Pin Bolt

0704 / Caliper Pin

234x120 mm
B
M16x1 5x125 mm

— P A

— 0221 / Pin Bolt

0220 / Caliper Pin

240xD36x82 mm

5087 / Pin Bush
240x@34x95 mm

0222 / Pin Rubber Bush

@,

0914 / Outer Boot Clamp

0132/ Inner Boot

0917 / Outer Boot

236x145 mm
M16x1,5x150 mm

0801/ Pin Bolt

0700 / Caliper Pin

5087 / Pin Bush

5106 / Caliper Pin Repair Kit
SB6 / SB7 /| SB7 Radial Type

KNR: 11358510062 / MB: 000 420 1182 - 050 121 1047 / SCN: 1415149 - 1415154 - 1415515

P40xD36x82 mm

p

0914 / Outer Boot

-

0912/ Inner Boot Ring

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

Clamp
@34x120 mm D240xD34x95 mm
—
t - eaming M16x1 5x125 mm —
=
0221 / Pin Bolt
0220 / Caliper Pin
0222 / Pin Rubber Bush 0911 / Inner Boot 0913 / Outer Boot
5107 / Caliper Pin Repair Kit
SB6 / SB7 /| SB7 Radial Type
KNORR: 11197330062
236x135 mm
D40xD36x82 mm
M16x1 ,5%x140 mm f,_’\
0803 I Pin Bolt >
0704 / Caliper Pin 5087 | Pin Bush .‘ p
0914 / Outer Boot Clamp
ﬂ34x80 mm
M16x1 5x85 mm
0800 / Pin Bolt
o701/ ca"per Pin 5085 / Pin Rubber Bush 0132/ Inner Boot 0917 / Outer Boot
www.unibrake.com.tr )/ unibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

KNORR
SERIES

5108 / Caliper Pin Repair Kit
SB6 / SB7 Type

KNORR: 11197140062 / MAN: 81.50822.6006
D240xD36x82 mm

236x135 mm

M16x1,5x140 mm
0803 / Pin Bolt . o] '
0704/ Caliper Pin 5087 / Pin Bush 0914 / Outer Boot Clamp

ﬂ34x80 mm

M16x1 5x85 mm

0132/ Inner Boot

0800 I Pin Bolt

0701 ICaIlper Pin

5085 / Pin Rubber Bush 0919 / Outer Boot
5109 / Caliper Pin Bellow Cap q 5110/ Caliper Cap
SB6 / SB7 /| SB7 Radial Type SB6 / SB7 Type
KNORR: 11344730063 / MAN: 81.50822.6010 / DAF: 1448600 KNORR: 11197140063

‘ l:l - >
0914 / Outer Boot Clamp . S el

0917 / Outer Boot
0914 / Outer Boot Clamp
0919 / Outer Boot

5111 / Caliper Pin Repair Kit
SB5 Type

KNR: K001274 - K002716

236x102 mm

232x80 mm 240xD36x75 mm
ﬁ ﬁ 0912 I Inner Boot Ring
0225 / Caliper Pin 0703/ Caliper Pin 0224 / Pin Bush 0904 / Bolt Ring
@39 mm @40x14 mm
M16x1,5x85 mm M16x1 5x80 mm
0800 / Pin Bolt 0802 I Pin Bolt
0911 / Inner Boot 5084 / Pin Rubber Bush 0901/ Pin Cap
5112 / Caliper Bellow Kit
KNORR BENDIX
KNORR: 381.413 / IVECO: 93161192 / ADB: 3700 - 4300
# " ; g % W . {n
0230/ R
0234 / Plastic Cover o prot/iRove
= ——
y TR 0233 / Rove
0229 / Rubber Bellows
0232 / Rubber Gaiter 0235/ Inner Boot
www.unibrake.com.tr )/ unibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




IBRAKE

Brake Caliper Repair Kit

KNORR
SERIES e

@
Turkey [l

236x113,70 mm

M16x1,5x85 mm

0800 / Pin Bolt
0702 / Caliper Pin

@32x84 mm 239 mm
M16x1 5x80 mm

0802 / Pin Bolt
0226 / Caliper Pin

5087 / Pin Bush

0228 / Pin Rubber Bush

5113 / Caliper Pin Repair Kit
SB6 / SB7 /| SB7 Radial Type

KNR: K031844K50 - K011117 / SCN: 1756390 - 1906779

D40xD36x82 mm

e L )

0920 / Inner Boot °912“'::e’3°°‘ 0915/ O-ring
Ring 9

0223 / Inner Boot 0911/ Inner Boot 0916 / Pln Cap

0227 / Black Metal
Cap

2l4Dx14 mm

0901/ Pin Cap

5114 | Caliper Cover Set
SN5 Type

M8x16 mm

111
'y

0120/ Bolt

0116 / Caliper Cover

&

0118 / Seal

5115/ Caliper Dust Cover Set
SN5 Type

&2
(=g =

0118/ Seal

5116 / Caliper Plastic Cover (Without Sensor)
SB6/ SB7 / SN6 / SN7 / SK7 Type

'\,
\\'ith()ilt Sensor

5117 | Caliper Calibration Bolt
SL7/SM7 |/ ST7 Type

5118 / Caliper Piston Tappet & Seals Kit - @69 mm

SL7/SM7 / ST7 Type
KNORR: K046523K50 - K108004K50 / MERCEDES: 000 423 0316
269 mm B17x@15x7 mm

- -

0127 / Tappet Bush
0101 / Inner Seal

269 mm

0126 / Caliper Tappet

5119 / Caliper Roller Bearing Set
SL7/SM7/ ST7 Type

0138/ Roller Bearing

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

KNORR
SERIES

Turkey [

@
TORKAK
<)

5120 / Caliper Lever
SL7 / SM7 / ST7 Type

5121 / Caliper Pinion Shaft
SB6/SB7/SN6/SN7 / SK7 / SL7 / SM7 | ST7 Type

5122 | Caliper Piston Tappet Set
SL7/SM7 / ST7 Type

@17x@15x7 mm

.’I '_/..

0127 / Tappet Bush

0126 / Caliper Tappet

5123 / Caliper Piston Tappet
SL7/SM7 | ST7 Type

@17x@15x7 mm

0127 / Tappet Bush |

0126 / Caliper Tappet

5124 | Caliper Piston Tappet & Seal Kit
SL7/SM7 /| ST7 Type

269 mm

P17xB15x7 mm

.

5126 / Caliper Cover Set
SN6 /SN7 / SK7 / SL7 /| SM7 | ST7 Type

0121/ Metal Cover

- M8x16 mm M8x50 mm
0127 / Tappet Bush l l l l l l
0120/ Bolt
0126 / Caliper Tappet 0101/ Inner Seal © 0123 / Bolt

5035 / Caliper Bridge Assembly

5125 / Caliper Bridge Assembly
SL7/SM7 | ST7 Type

0505 / Spring

\\\

5117 / Calibration Bolt

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




KNORR
SERIES

Brake Caliper Repair Kit

UNIBRAKE Yurkey [

5127 | Caliper Complete Repair Kit 12-160 MAN
SB5 Type / KNORR SET

5045 / Caliper Bridge Assembly 5038 / Calibration Bolt 5047 / Roller Bearing Set

5182 / Adjusting Mechanism Shaft |

5088 / Pinion Shaft

5009 / Caliper Piston Tappet & Seal Kit - 74 mm 5080 / Pin Cap | 5089 / Caliper Shaft Chain
. = 12 Links

5128 / Caliper Complete Repair Kit 12-180 TGL MAN
SN5 Type / KNORR SET

5044 / Caliper Bridge Assembly 5038 / Calibration Bolt 5103 / Roller Bearing

5040 / Adjusting Mechanism Shaft | 5043 / Pinion Shaft

5114 / Caliper Cover Set 5013 / Caliper Piston Tappet | 5041/ Caliper Shaft Chain

14 Links
A

o @@ -~

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE KNORR o

SERIES

Turkey [

Brake Caliper Repair Kit

5129 / Caliper Complete Repair Kit ACTROS B OLD MODEL SET
SN6 / SN7 /| SK7 Type / KNORR SET

5036 / Caliper Bridge Assembly 5102 / Caliper Cover Set

WA |
5067 / Caliper Pin Repair Kit | 5047 / Roller Bearing Set 5000 / Caliper Piston Tappet & Seals Kit
269 mm

prE—— =N |
O S

5028 / Adjusting Mechanism Shaft 5039 / Caliper Shaft Chain 5027 / Pinion Shaft
29 Link

D

5130 / Caliper Complete Repair Kit ACTROS B NEW MODEL SET
SN6 / SN7 / SK7 Type / KNORR SET

5034 / Caliper Bridge Assembly 5038 / Calibration Bolt 5102 / Caliper Cover Set

1i1lillll

5068 / Caliper Pin Repair Kit 5046 / Roller Bearing Set 5000 / Caliper Piston Tappet & Seals Kit
269 mm

DD

5039 / Caliper Shaft Chain 5027 / Pinion Shaft
29 Link

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE oo

SERIES

Turkey [

Brake Caliper Repair Kit

5131 / Caliper Complete Repair Kit AXOR OLD MODEL SET

SB6 / SB7 Type /| KNORR SET
5031 / Caliper Bridge Assembly 5038 / Calibration Bolt 5006 / Caliper Piston Tappet & Seals Kit
274 mm
- o
5061 / Caliper Pin Repair Kit 5046 / Roller Bearing Set

t

e L ‘ o — ¢

5028 / Adjusting Mechanism Shaft 5039 / Caliper Shaft Chain 5027 / Pinion Shaft
29 Link

¥ oy o

5132 / Caliper Complete Repair Kit AXOR NEW MODEL SET
SN6 / SN7 /| SK7 Type / KNORR SET

5034 / Caliper Bridge Assembly 5038 / Calibration Bolt 5006 / Caliper Piston Tappet & Seals Kit
@74 mm

- =

5061 / Caliper Pin Repair Kit 5046 / Roller Bearing Set

o
L3S
Q

i Ty
{ 9

5028 / Adjusting Mechanism Shaft 5039 / Caliper Shaft Chain 5027 / Pinion Shaft
29 Link

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE 6 E—
Brake Caliper Repair Kit KNORR Tﬁ%ﬁ*ﬁé'&y [H[

SERIES

5133 / Caliper Complete Repair Kit MAN TGA NEW MODEL SET
SB6 / SB7 Type / KNORR SET

5031 / Caliper Bridge Assembly 5038 / Calibration Bolt 5006 / Caliper Piston Tappet & Seals Kit
@74 mm
5061 / Caliper Pin Repair Kit 5047 / Roller Bearing Set

et — -
— - =

5028 / Adjusting Mechanism Shaft 5039 / Caliper Shaft Chain 5027 / Pinion Shaft
29 Link

5134 / Caliper Complete Repair Kit SCANIA SET
SN6 / SN7 /| SK7 Type /| KNORR SET

5037 / Caliper Bridge Assembly 5038 / Calibration Bolt 5102 / Caliper Cover Set

1111111l

5075 / Caliper Pin Repair Kit 5047 / Roller Bearing Set 5000 / Caliper Piston Tappet & Seals Kit
269 mm
o=
5028 / Adjusting Mechanism Shaft 5039 / Caliper Shaft Chain 5027 / Pinion Shaft

29 Link

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

KNORR
SERIES

Turkey I

5037 / Caliper Bridge Assembly

5117 / Calibration Bolt

5135/ Caliper Complete Repair Kit AXOR NEW MODEL SET
SL7 / SM7 | ST7 Type

5126 / Caliper Cover Set

L1

5061 / Caliper Pin Repair Kit

_i T
e

e ® -
) | -

5119 / Roller Bearing Set

5118 / Caliper Piston Tappet & Seals Kit
269 mm

5028 / Adjusting Mechanism Shaft

5039 / Caliper Shaft Chain
29 Link

5121 / Pinion Shaft

5136 / Caliper Sensor Cover (3 Cables Sensor)
SN5 Type /| MERCEDES

%Q

0139/ Sensor Adjuster Plastic

5136-1 / Caliper Sensor Cover (3 Cables Sensor)
SN5 Type / 12-180 MAN TGL

%Q

0139/ Sensor Adjuster Plastic

5137 | Caliper Sensor Cover (2 Cables Sensor)
SN5 Type

0139/ Sensor Adjuster Plastic

5138 / Caliper Plastic Cover (Without Sensor)
SN5 Type

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




SERIES

5139 / Caliper Sensor Cover (3 Cables Sensor)
SB5 Type /| MERCEDES

3 Lines

=

0139 / Sensor Adjuster Plastic

5139-1 / Caliper Sensor Cover (3 Cables Sensor)
SB5 Type / 12-160 MAN TGL

R
3 Lines

0139 / Sensor Adjuster Plastic

5140 / Caliper Sensor Cover (2 Cables Sensor)
SB5 Type

2 Lines

=

0139 / Sensor Adjuster Plastic

5141 / Caliper Plastic Cover (Without Sensor)
SB5 Type

5142 | Caliper Pin Repair Kit
SB6 / SB7 /| SB7 Radial Type

KNR: K000375 / MB: 000 420 2982 / MN: 81.50822.6023 / IVC: 42538002 / B: 09.801.06.24.0

236x113,70 mm

pmam—

0702 / Caliper Pin

232x80 mm

—

0703 / Caliper Pin

M16x1,5x80 mm

0802 / Pin Bolt

M16x1,5x85 mm

T s

0800 / Pin Bolt

@239 mm

@) "

0915 / O-rin 5084 / Pin Rubber Bush

&

-

0912/ Inner Boot Ring

=4

0904 / Bolt Ring
DP40xD36x82 mm

5087 / Pin Bush

0911 / Inner Boot

0916 / Pin Cap

5143 | Caliper Short Pin Repair Kit
SN6 / SN7 /| SK7 Type

232x88,5 mm

=

0113/ Caliper Pin

239 mm

5084 / Pin Rubber Bush

M16x1,5x80 mm

0802/ Pin Bolt

5144 | Caliper Short Pin Repair Kit
SN6 / SN7 /| SK7 Type

239 mm

ﬂ32x8§,5 mm

0113 / Caliper Pin

5084 / Pin Rubber Bush

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

KNORR
SERIES

Turkey [

@
TORKAK
<)

5145 | Caliper Short Pin Repair Kit
SB6/SB7 / SN6 / SN7 / SK7 / SB7 Radial Type

B:09.801.06.90.0 / CKSK.13.4

@35 mm

5073 / Pin Rubber Bush

=

0904 / Bolt Ring

232x80 mm
*j
0703 / Caliper Pin

M16x1,5x80 mm

0802 / Pin Bolt

5146 / Caliper Short Pin Repair Kit
SB6/ SB7 / SN6 / SN7 / SK7 / SB7 Radial Type

CKSK.13.1

@35 mm
232x80 mm

0703 / Caliper Pin 5073 / Pin Rubber Bush

5147 | Caliper Lever
SB7 Radial Type

5148 | Caliper Pinion Shaft
SB6/SB7/SN6 / SN7 / SK7 | SL7 /| SM7 | ST7 Type

5149 / Caliper Pinion Shaft
SB6/SB7/SN6/ SN7 / SK7 / SL7 /| SM7 | ST7 Type

5150 / Caliper Pinion Shaft
SB6/SB7/SN6/ SN7 / SK7 / SL7 /| SM7 | ST7 Type

5151 / Caliper Sensor Cover (3 Cables Sensor)
SB6/SB7 / SN6 / SN7 / SK7 /| SL7 /| SM7 | ST7 Type /| MAN

3 Cables Sensor

i
MAN
TYPE

0140
Sensor Adjuster Plastic

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE o

SERIES

Turkey [

Brake Caliper Repair Kit

5152 | Caliper Complete Mechanism Repair Kit
SB6 / SB7 Type

5031 / Caliper Bridge Assembly

5038 / Calibration Bolt

5153 / Caliper Lever

5006 / Caliper Piston Tappet & Seals Kit
@74 mm

N

=2\V3

5027 / Pinion Shaft

5047 / Roller Bearing Set

 om

5028 / Adjusting Mechanism Shaft

5039 / Caliper Shaft Chain
29 Link

5153 / Caliper Lever
SB6 / SB7 Type

)

5154 | Caliper Lever Support
SB5/SB6 / SB7 / SB7 Radial Type

0109 / Lever Support

5155 / Caliper Caps Kit
SB5/SB6/SB7/SN5/SN6/SN7/SK7/SL7/SM7/ST7 Type

CKSK.3.4

. k- .

5156 / Caliper Pad Retainer Repair Kit
SN5/SB5/SB6/SB7/SN6/SN7 / SK7 /| SB7 Radial Type

- o &
2 Fe—®

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




KNORR
SERIES

UNIBRAKE "% Yurkey HI

Brake Caliper Repair Kit

5157 | Caliper Complete Mechanism Repair Set
SN6 / SN7 /| SK7 Type

5037 / Caliper Bridge Assembly ‘ 5038 / Calibration Bolt 5096 / Caliper Lever

5000 / Caliper Piston Tappet & Seals Kit 5027 / Pinion Shaft
269 mm

\.
l 8
A A LN
a Q
5028 / Adjusting Mechanism ' 5039 / Caliper Shaft Chain

29 Link

5158 / Caliper Short Pin Repair Kit
SB6/SB7/SN6/ SN7/SK7/SL7/ SM7 / ST7 / SB7 Radial Type

@32x80 mm 239 mm

-
— — g M16x1,5x80 mm
0802 / Pin Bolt

0703 / Caliper Pin

5071 / Pin Rubber Bush

5159 / Caliper Pin Repair Kit
SB6 / SB7 /| SB7 Radial Type

KNORR: K048371K50 / MAN: 81.50822.6036 /| SCANIA: 2121648

236x113,70 mm 239 mm
M16x1,5x85 mm _\
k 4
0800 / Pin Bolt 0912/ Inner Boot Ring 0915 / O-ring
0702 / Caliper Pin 5071 / Pin Rubber Bush
232x80 mm D240xD36x82 mm
e ———— - M16x1,5x80 mm
5 0802 Pin Bolt . —
0703 / Caliper Pin 0911 / Inner Boot 0916 / Pin Cap 5087 / Pin Bush
www.unibrake.com.tr )/ unibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




KNORR
SERIES

Brake Caliper Repair Kit

UNIBRAKE Turkey HI

5160 / Caliper Pin & Pad Retainer Repair Kit

SN6 / SN7 / SK7 Type
236x113,70 mm KNORR: K013007 : i
M16x1,5x85 mm WA B
¥ 2
e e
0800 / Pin Bolt & N RRp— -
0702/ Caliper Pin 5082 / Brake Pad Retainer Repair Kit
936x64 mm 238 mm =, el 240x14 mm
M16x1,5x70 mm -‘:“;—-'T‘ " -‘I:__
PR ‘ — 8 E |
- . 0806 / Pin Bolt N 504‘9 - G602 = 0_961
0706 / Caliper Pin 0103 / Plastic Cap 0912/ Inner Boot Ring pechanism Adapter Pin Cap Pin Cap

5161 / Caliper Cap Set
SB6 / SB7 / SN6 / SN7 /| SK7 Type

35 mm

QAQA @& cosse saeee
Q@@ soesee ggsas

0124/ Plastic Cap 0107/ Plastic Cover Cap 5049 / Adjusting Mechanism Adapter
5162 / Caliper Sensor Cover (3 Cables Sensor) 5163 / Caliper Sensor Cover (2 Cables Sensor)
SB7 Radial Type SB7 Radial Type

0141/ Adjuster Plastic 0141/ Adjuster Plastic

5164 / Caliper Plastic Cover (Without Sensor) 5165 / Caliper Sensor Cover (3 Cables Sensor)
SB7 Radial Type SB7 Radial Type

0141 / Adjuster Plastic

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

KNORR
SERIES

Turkey [l

@
TORKAR
<

5166 / Caliper Sensor Cover (2 Cables Sensor)
SB7 Radial Type

0141 / Adjuster Plastic

5167 / Caliper Plastic Cover (Without Sensor)
SB7 Radial Type

5168 / Caliper Sensor Cover (3 Cables Sensor)
SB6 / SB7 / SN6 / SN7 /| SK7 Type

0140
Adjuster Plastic

) Sl

3 Cables Sensor

5169 / Caliper Sensor Cover (2 Cables Sensor)
SB6/ SB7 / SN6 / SN7 / SK7 Type

0140
Adjuster Plastic

2 Cables Sensor

@36x113,70 mm

—

0702 / Caliper Pin

M16x1,5x85 mm

TR T —

0800 / Pin Bolt

@32x80 mm

@35 mm
—— M16x1 5x80 mm G
0703 / Caliper Pin 0129

Metal Of Rubber Bush 0911/ Inner Boot

5170 / Caliper Pin Repair Kit
SB6/SB7 / SN6 / SN7 /| SK7 / SB7 Radial Type

KNORR: K067417K50 / SAF: 3 434 3820 00 / SCANIA: 2064260 - 2292232

239 mm

240x14 mm
0912 I Inner Boot 0915 / O-ring ‘ !
Ring 5084 / Pin Rubber Bush 0901 / Pin Cap

D40xD36x82 mm

e

5087 / Pin Bush 0904 / Bolt Ring

0916 / Pin Cap

5171 / Caliper Seal Kit - 945 mm

5172 | Caliper Seal Kit - 942 mm

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

SN6 / SN7 / SK7 Type SN6 / SN7 / SK7 Type
‘ 0130/ Seal ‘ . 0131/ Seal I
www.unibrake.com.tr

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

KNORR
SERIES

@
TURKAIK

Turkey [l

5173 | Caliper Pin Repair Kit
SB6 / SB7 Type

KNORR: K048396K50 / SCANIA: 2121641

236x113,70 mm

M16x1,5x85 mm
0800 / Pin Bolt

0702/ Caliper Pin

232x80 mm
M16x1,5x80 mm

————— -
—I 0802/ Pin Bolt

0703 / Caliper Pin

o1

0912/ Inner Boot
Ring

0911 / Inner Boot

@35 mm

0915/ O-ring

5174 | Pin Rubber Bush

D240x236x82 mm

0916 / Pin Cap 5087 / Pin Bush

5174 | Caliper Pin Rubber Bush (Short - @35 mm)

SB6 / SB7 Type

5175 | Caliper Adjusting Mechanism
(With Spring - New Type)

SB6/SB7/SN6/SN7/SK7 /SL7/ SM7 /| ST7 Type

5176 | Caliper Calibration Mechanism Set

SB6/SB7/SN6/SN7/SK7/SL7/SM7 / ST7 /| SB7 Radial Type

5028 / Adjusting Mechanism

5027 / Pinion Shaft

5039 / Caliper Shaft Chain - 29 Links

5177 | Caliper Cover Bolt Kit
SB5/SB6 / SB7 / SB7 Radial Type

i3

g

M12x1,75x80 mm

0807 / Cover Bolt

5178 | Caliper Cover Bolt Kit
SB5/SB6 / SB7 / SB7 Radial Type

~M14x2x52 mm

0808 / Cover Bolt

5179 | Caliper Cover Bolt Kit
SB5/SB6 / SB7 / SB7 Radial Type

- g -
T, T

M10x1,5x60 mm

0809 / Cover Bolt

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

KNORR
SERIES

Turkey [

@
TORKAK
<)

AB-0089-YS

5180 / Caliper Adjusting Mechanism Shaft

SB6/SB7/SN6/SN7/SK7/SL7/SM7/ST7/SB7 Radial Type
CKSK.10.3

5182 / Caliper Adjusting Mechanism Shaft
SB5 Type

5181 / Caliper Pin Repair Kit
SB6 / SB7 / SB7 Radial Type

KNR: 11328090062 / SCN: 2121642 / B: 09.801.02.58.0 - 09.801.02.88.0 / SF: 8 531 7002 100 - 8 531 7002 200

236x145 mm
M16x1,5x150 mm

0801/ Pin Bolt
0700 / Caliper Pin

234x80 mm

==2

0701 / Caliper Pin

M1Gx1 5x80 mm

0802 / Pin Bolt

240xD36x82 mm

<) -

0914 / Outer Boot
Clamp

0912/ Inner Boot
Ring

5087 / Pin Bush

—
-
-

0913 / Outer Boot 5085 / Pin Rubber Bush

0911 / Inner Boot

5183 / Caliper Complete Mechanism Repair Kit
SL7/SM7 ]/ ST7 Type

5185 / Caliper Pin Repair Kit

%

5117 / Calibration Bolt

5037 / Caliper Bridge Assembly

5102 / Caliper Cover Set

14111111

5119 / Roller Bearing Set

Wl@

5118 / Caliper Piston Tappet & Seals Kit
269 mm

5028 / Adjusting Mechanism

5149 / Pinion Shaft

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




KNORR
SERIES

Brake Caliper Repair Kit

UNIBRAKE Turkey I

5185 / Caliper Pin Repair Kit
SL7/SM7 /| ST7 Type

KNORR: K108002K50 - K108002K64 - K108002K62 / SCHMITZ: 1227598 / SAF: 3 434 3824 00

0800 / Pin Bolt & 4 &*

0702 / Caliper Pin 0912 / Inner Boot Ring

236x113,70 mm
. 240x25 mm

@40x14 mm

-~ M16x1,5x85 mm

0902 / Pin Cap 0901/ Pin Cap
236x64 mm D40xD36x20 mm

- M16x1,5x70 mm Q

£
0706 / Caliper Pin n

ﬂ40xﬂ36x82 mm

0806 / Pin Bolt J

0133/ Pin Bush 0911 / Inner Boot

5087 / Pin Bush

P

5184 / Caliper Piston Tappet & Seal Kit q 5186 / Caliper Cap Set
SNS5 Type SB5/SB6/SB7/SL7/SM7/ST7/SN6/SN7/SK7/SB7 Radial Type

218x216x10 mm
° 0102/ Tappet ““‘

0118/ Seal Bush 0142/ Caliper Cap

0300 / Caliper Tappet

i 5187 I Caliper Cap Set 4 5188 / Caliper Lever
SB5/SB6/SB7/SL7/SM7/ST7/SN6/SN7/SK7/SB7 Radial Type SL7/SM7 / ST7 Type

43989
23333

0143 / Caliper Cap

. B

P

5189 / Caliper Adjusting Mechanism 5190 / Caliper Adjusting Mechanism
SL7 / SM7 | ST7 Type SN5 Type

. /

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

KNORR
SERIES

Turkey [l

@
TORKAR
<

5191 / Caliper Lever
SB6 / SB7 Type

C73164

5192 | Sensor Adjuster Plastic Kit
SB5/ SN5 Type

LA 2 ALY

0139
Sensor Adjuster Plastic

5193 / Caliper Plastic Cover
SB6/SB7/SN6/SN7/SK7/SL7/SM7 | ST7 Type

5194 |/ Caliper Repair Kit
SB6 / SB7 Type

KNORR: K000421

232x80 mm @35 mm

0703/ Caliper Pin 5073 / Pin Rubber Bush

0904/ Bolt Ring

M16x1,5x80 mm

0802/ Pin Bolt

0144 / Sheet Holder

5195 / Caliper Repair Kit
SB6 / SB7 Type

232x80 mm
M16x1,5x80 mm

0802 / Pin Bolt
0703 / Caliper Pin

239 mm

5071/ Pin Rubber Bush
0144 / Sheet Holder

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

KNORR Turkey [l

SERIES

5196 / Caliper Complete Mechanism Repair Kit
SB7 Radial Type

5031 / Caliper Bridge Assembly | 5038 / Calibration Bolt 5101 / Caliper Lever

93

5006 / Caliper Piston Tappet & Seals Kit 5027 / Pinion Shaft = 5047 / Roller Bearing Set
@74 mm

~

=

5028 / Adjusting Mechanism 5039 / Caliper Shaft Chain - 29 Link

5196-1 / Caliper Complete Mechanism Repair Kit
SB7 Radial Type

5031 /Caliper Bridge Assembly | 5038 / Calibration Bolt 5147 | Caliper Lever

5006 / Caliper Piston Tappet & Seals Kit A 5027 / Pinion Shaft 5047 / Roller Bearing Set
274 mm

-

5028 / Adjusting Mechanism

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

<4

KNORR "¢ Turkey HI
SERIES -

5031 / Caliper Bridge Assembly |

5038 / Calibration Bolt

“

5197 | Caliper Complete Mechanism Repair Kit
SB6 / SB7 Type

5191 / Caliper Lever

5006 / Caliper Piston Tappet & Seals Kit A
@74 mm

5027 / Pinion Shaft

5028 / Adjusting Mechanism

5198 / Brake Pad Retainer Repair Kit

5199 / Brake Pad Retainer Repair Kit

e

LN L R g —

A 0145 I Brake Pad Retainer
-,:‘ - L) '

‘-‘ : s @ ©

SB6 / SB7 Type SB6 / SB7 Type
K000946
,_-a-""% F_—=‘
S s @ & &
= a Rl z
- — . =
I s = = S ‘
0134/ Brake Pad Retainer
5200 / Brake Pad Retainer Repair Kit 5201 / Brake Pad Retainer Repair Kit
SB6 / SB7 Type SB6 / SB7 Type

3

A2 ey

0145 / Brake Pad Retainer

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

EAL

KNORR Turkey

SERIES
5203 / Brake Pad Retainer Repair Kit

SB6/SB7/SN6/SN7/SK7/SL7/SM7 / ST7 / SB7 Radial Type

5202 / Brake Pad Retainer Repair Kit
SB6 / SB7 / SN6 / SN7 | SK7 Type

\ S2m ’
0134/ Brake Pad Retainer

-t g S =i

0145/ Brake Pad Retainer

5204 | Brake Pad Retainer Repair Kit
SB6/SB7/SN6 / SN7 / SK7 / SL7 /| SM7 / ST7 / SB7 Radial Type

KNORR: K000129 - 1119712004 - 1130679004 - 11197120061 / MB: 050 121 1049 - 627 420 0188 / DAF: 1448911 / MAN: 36.50822.6001 - 36.50822.6005 -
RENAULT: 5021 175 165 / IVECO: 42538004 - 97131548 / B: 09.801.02.66.0 - 09.801.02.76.0 / SCHMITZ: 015420 - FRUEHAUF: M100969 - M91000201
SAF: 3 434 3807 00 - 3 434 3809 00 - 5 317 0026 00 - 8 531 7002 600

~ -

- N =
0135/ Pin 0137/ Circlip 0136 / Washer
0145 / Brake Pad Retainer
5205 / Caliper Pin Repair Kit
SN6 / SN7 / SK7 Type
KNORR: K001925 - K028451 - MB: 000 420 4382
236x102 mm @39 mm
M16x1,5x85 mm
>
0800 / Pin Bolt 0912 / Inner Boot @40x14 mm

0225 / Caliper Pin

Ring 5071 / Pin Rubber Bush

D240xD36x75 mm

0224 / Pin Bush

232x80 mm

oo

0703 / Caliper Pin

0901/ Pin Cap

M16x1,5x80 mm

0802/ Pin Bolt

0911 / Inner Boot

5206 / Caliper Pin Repair Kit
SN6 / SN7 / SK7 Type

KNORR: K002872

336x113,70 mm

240x31 mm
240x14 mm

M16x1,5x85 mm

I
-

0800 / Pin Bolt

0702 / Caliper Pin
B@36x70 mm

0912 / Inner Boot king -
0921/ Pin Cap

0901 / Pin Cap

D40xD36x20 mm

240xD36x82 mm

M16x1,5x75 mm

Lo

8

N

0805 / Pin Bolt

0708 / Caliper Pin
0133/ Pin Bush

0911 / Inner Boot

5087 / Pin Bush

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive

(@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

@
Tunxzm

KNORR
SERIES

Turkey [l

@36x113,70 mm

0702 / Caliper Pin

M16x1,5x85 mm

0800 / Pin Bolt

5207 / Caliper Pin Repair Kit
SN6 / SN7 / SK7 Type

KNORR: K001691
240x31 mm

0912/ Inner Boot
Ring

0921/ Pin Cap

@40x14 mm

&

0901/ Pin Cap

0911 / Inner Boot

240xD36x82 mm

5087 / Pin Bush

5208 / Caliper Pin Repair Kit
SN6 / SN7 / SK7 Type

KNORR: K001692

240x@D36x20 mm

q

0133 / Pin Bush

M16x1,5x75 mm

0805 / Pin Bolt

M16x1,5x85 mm
0800 / Pin Bolt
236x70 mm

0708 / Caliper Pin

240x31 mm

0921/ Pin Cap

-

0912 / Inner Boot
Ring

0911/ Inner Boot

240x14 mm

®

0901 / Pin Cap

5210 / Caliper Cap Kit

5209 / Caliper Cap Kit
SN6 / SN7 / SK7 Type

240x14 mm

&

SN6 / SN7 / SK7 Type

e

y

0902 / Pin Cap

D240x25 mm

0901/ Pin Cap

269 mm

0100
Caliper Piston Tappet

In

5211 I Caliper Piston Tappet & Seals Kit 369 mm
SN6 / SN7 / SK7 Type

218x216x10 mm
.- o

0102 / Tappet Bush

0146
ner Seal Plate Locking

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

KNORR Turkey [l

SERIES

5212/ Caliper Pin & Pad Retainer Repair Kit
SL7 / SM7 | ST7 Type

KNORR: K012912

@36x113,70 mm - ~

M16x1,5x85 mm

e
0800 / Pin Bolt i B -

J

il
N
0702 / Caliper Pin 5082 / Brake Pad Retainer Kit
@32x80 mm 238 mm @40x14 mm
e— M16x1,5x80 mm
. g
F 0802 / Pin Bolt s\\‘
aliper Pin 0912 I'I{;::r Boot Mechanfso:agAdapter 0103/ Plastic Cap 0901 / Pin Cap
5213 |/ Caliper Complete Mechanism Repair Kit
SL7 / SM7 | ST7 Type
5037 / Caliper Bridge Assembly 5117 / Calibration Bolt 5188 / Caliper Lever

5118 / Caliper Piston Tappet & Seals Kit A 5149 / Pinion Shaft 5119 / Roller Bearing Set
369 mm m
3
.

5028 / Adjusting Mechanism ' 5039 / Caliper Shaft Chain - 29 Link

5214 |/ Caliper Pin Repair Kit
SB6 / SB7 / SN6 / SN7 /| SK7 Type

KNORR: K105599K55 / SCANIA: 2286677

D40xD36x82 mm .
: 0912 / Inner Boot :
5087 IPinBush 227 I Black Metal 0920 /Inner Boot Ring 0915/0-ring
Cap Ring

239 mm
232x84 mm ¢40x14 mm
i i M16x1,5x80 mm
0802/ Callper Pin
0226 / Caliper Pin

0228 / Pin Rubber Bush 0236 / Bush 0901 I Pin Cap 0223/Inner Boot 0911/Inner Boot 0916/ Pln Cap

236x114 mm

M16x1,5x85 mm

0800 / Caliper Pin

0709 / Caliper Pin

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




* KNORR
SERIES

Brake Caliper R;:)aih Kit

Turkey [l

@
TORKAR
<

5215 / Caliper Pin Repair Kit
SB6 / SB7 / SB7 Radial Type

KNR: 11339830064

234x120 mm

" - ..i

-
0220/ Caliper Pin

240xD34x95 mm

M16x1,5x125 mm

0222 / Pin Rubber Bush

0221/ Pin Bolt

5216 / Caliper Short Pin Repair Kit
SB6/ SB7 / SN6 / SN7 / SK7 /| SB7 Radial Type

@32x80 mm

*j
0703 / Caliper Pin
239 mm

0904 / Bolt Ring

5084 / Pin Rubber Bush

5217 | Caliper Repair Kit
SB6 / SB7 / SN6 / SN7 /| SK7 / SB7 Radial Type

-

. B . I £ 1(

0922 / Shaft Housing Pin | -~/}

Amenn, -

0923 / Sheet Circlip
5048 / Caliper Lever Bearing

5218 | Sensor Stabilizer Plastic Kit
SB6/SB7/SN6/SN7/SK7/SL7/SM7/ST7 Type

0924 / Sensor Stabilizer Plastic

5219 / Caliper Piston Tappet & Seals Repair Kit

SL7/SM7 | STT7 Type

00 ¢

0146 / Inner Seal
0149 / Circlip

(Plate Locking )

0148 / Tappet & Boot Assembly

5220 / Caliper Piston Tappet Repair Kit
SL7/SM7/ ST7 Type

O &

0149 / Circlip

& 6. e

0148 / Tappet & Boot Assembly

5221 |/ Caliper Clibration Bolt New Model
SL7/SM7/ ST7 Type

5222 | Caliper Inner Boot & Ring
SB6/SB7 / SN6 / SN7 /| SK7 / SB7 Radial Type

O

0920 / Inner Boot Ring

0223 / Inner Boot

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

0/ UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake C'aliper* Repair Kit

<4

KNORR “v) Turkey HI
SERIES |

5223 / Caliper Cover
SL / SM7 / ST7 Type

5224 | Sensor Adjuster Plastic Kit
SB6/SB7/SN6/SN7/SK7/SL7/SM7/ST7 Type

35,5 mm

u) ’

0140
Sensor Adjuster Plastic

5225 | Sensor Adjuster Plastic Kit
SB7 Radial Type

0141 / Sensor Adjuster Plastic

5226 | Sensor Adjuster Plastic Kit
SB6/SB7 /SN6/SN7 / SK7 / SL7 / SM7 | ST7 Type

.‘\ /

29 mm

0147 / Sensor Adjuster Plastic

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

0/ UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

KNORR
CARRIERS ™

TORKAKK

Turkey [

5800 / Caliper Carrier / B AXLE
KNORR CARRIER

KNORR: K004099 / SCANIA: 212600 / SF:3 080 0054 01 - 3 080 0055 01

-t 377,50 mm— = . g

5801 / Caliper Carrier / MAN 12-180
KNORR CARRIER

KNORR: K005606

5802 / Caliper Carrier / MB FRONT AXLE
KNORR CARRIER

KNORR: K000026 - Z007541 / MB: 000 421 1106 / SCN: 2121591

5803 / Caliper Carrier / B AXLE
KNORR CARRIER

KNORR: K012619 - Z006715 / SCN: 2379697 / B: 01.303.88.56.0

= 298.10 mm
‘ 366.40 mm

n ‘ﬁ Bottom View

5804 / Caliper Carrier /| MB NEW 4140 REAR
KNORR CARRIER

KNORR: K052379K50 - Z025197 / MB: 000 423 1006

5805 / Caliper Carrier / MB NEW 4140 FRONT
KNORR CARRIER

KNORR: K046498K50 / MB: 000 421 5706

5806 / Caliper Carrier / SCANIA NEW MODEL
KNORR CARRIER

KNORR: K001507

N

5807 / Caliper Carrier / MB AXOR
KNORR CARRIER

KNORR: K000027 - Z006582 / MB: 000 423 0606 / SCANIA: 2121592

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

KNORR
CARRIERS

Turkey [l

@
Tunmm

5808 / Caliper Carrier / MB ATEGO
KNORR CARRIER

KNORR: K000690 - K001926 / MB: 000 421 2006 - 000 421 3106 / JOST: JAE0110402006

5809 / Caliper Carrier / SCANIA OLD MODEL
KNORR CARRIER

KNORR: K010765 / SCANIA: 1756388

378 mm
286 mm

248 mm_———

400 mm

- 435,25 mm

5810 / Caliper Carrier /| SAF AXLE
KNORR CARRIER

KNORR: K015308 - Z019050 / SF: 3 080 0059 00 - 3 080 0060 00

~ 266 mm

M =—211.50mm —p=

G

5811 / Caliper Carrier /| B AXLE
KNORR CARRIER

KNORR: K004679 / SCN: 2379695 B: 01.303.88.55.0

-266 mm —
211,40 mm—

297,50 mm
365,50 mm———————

5812 / Caliper Carrier / MAN TGA
KNORR CARRIER

KNORR: K001278

379,50 mm
286 mm —

- 248 mm ——— AR~

AS~

. 21950 mm—J‘ Aif

407,25 mm

G

5813 / Caliper Carrier /| DAF TRUCK
KNORR CARRIER

KNORR: K011479 / DAF: 1689314 - Z006590 / DF LF 55 IV / DF 75 CF - 85 CF
DF CF 65 II-IV / DF CF 75 IV / DF CF 85 IV / DF XF 95/ DF XF 105

¢ 378 mm =

5814 / Caliper Carrier / B AXLE
KNORR CARRIER

KNORR: K001105 - K003673

337,50 m
266 mm A————’

359,50 m

5815 / Caliper Carrier /| MB CONNECTO - RIGHT
KNORR CARRIER

KNORR: K001530 / MB: 000 421 3806

) = 4 \7

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

KNORR
CARRIERS

Turkey [l

5816 / Caliper Carrier / MB CONNECTO - LEFT
KNORR CARRIER

KNORR: K001529 / MB: 000 421 3706

5817 I Caliper Carrier /| SCHMITZ TRAILER
KNORR CARRIER

KNORR: K007475 - Z000968

266 mm
~g——211 mm

5818 / Caliper Carrier / B AXLE
KNORR CARRIER

KNORR: K004680 / SCN: 2379696 / BP: 01.303.88.57.0
286.50 mm ————

T T T Bottom View

5819 / Caliper Carrier / MB AXOR
KNORR CARRIER

KNORR: K000028 / MB: 000 421 1206

5820 / Caliper Carrier / MB ATEGO
KNORR CARRIER

KNORR: K001927 / MB: 000 421 3006 / SCANIA: 2121599

5821 / Caliper Carrier / MB 4140 FRONT
KNORR CARRIER

KNORR: K046764K50 / MB: 000 421 5806 / Z046338
378 mm

286 mm — >]
Pr jre—245mm——=a | #\y

of .

400 mm———————————

Y

5822 | Caliper Carrier / B AXLE
KNORR CARRIER

KNORR: K001505

400 mm
286 mm

5823 /| Caliper Carrier / B AXLE - RIGHT
KNORR CARRIER

KNORR: K001497

166,50 mm

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

KNORR EAL

CARRIERS

5824 | Caliper Carrier / B AXLE - LEFT 5825 | Caliper Carrier  MERCEDES ATEGO
KNORR CARRIER KNORR CARRIER
KNORR: K004206 KNORR: K001494 / MB: 000 421 1306

LA - >
= 1 176 MM ——

L e

158 mm 137,50 mm

166,50 mm

5826 / Caliper Carrier / SMB AXLE 5827 | Caliper Carrier / IVECO TRUCK
KNORR CARRIER KNORR CARRIER

KNORR: K001525 KNORR: K108814K50 - K001510

5828 / Caliper Carrier / SCHMITZ TRAILER ; 5829 / Caliper Carrier /| MB ATEGO
KNORR CARRIER KNORR CARRIER
KNORR: K108001K50 KNORR: K000358 / MB: 000 421 1606

IOV e :J—J : ¥ia C ) =%
| t ~—— 196 mm .1) Q,, \ﬁ
201,50 mm ———» ~- 299,75 mm

- 266 MM ———————————— | -t 315,75 mm -

5830 / Caliper Carrier / IVECO TRUCK RIGHT 5831 / Caliper Carrier / IVECO TRUCK LEFT
KNORR CARRIER KNORR CARRIER

KNORR: K002314 KNORR: K002313

266 mmgb‘

211,00 mm=—————ps |

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

KNORR EAL

CARRIERS

5832 / Caliper Carrier / B AXLE 5833 / Caliper Carrier / B AXLE
KNORR CARRIER KNORR CARRIER
KNORR: K001275 / MB: 000 421 2506 KNORR: K001521

340,50 mm———————
310 mm

———286 mm—ﬂ 286 mm—————

l-———248,00 m

5
.\51\/

,iy

- ﬁ
a7, 50mm—j
359 mm
5834 |/ Caliper Carrier / SAF AXLE ; 5835 | Caliper Carrier / ZF AXLE
KNORR CARRIER KNORR CARRIER
KNORR: K015378 - Z019053 KNORR: K001502

"[ w7
406m

5836 / Caliper Carrier / MB OLD MODEL FRONT | 5837 | Caliper Carrier / MB OLD MODEL REAR
KNORR CARRIER KNORR CARRIER
KNORR: K001538 / MB: 000 421 2606
& GG - 2 -~ 321 75mm————
~————————286 mm 286 mm W

~—248 mm —»1

- /meJ\

- 349,50 mm

- j‘\éf
-
= —400,25 mm- =

You can follow our new products from our website.

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




1000 VG TYPE WABCO CARRIERS MAXX22 TYPE

1300 VG TYPE

PAN 17 TYPE PAN 19/22 TYPE

WABCO

You can follow our new products from our website.

i B




UNIBRAKE

Brake Caliper Repair Kit

WABCO

Turkey HI

SERIES S

6003 / Caliper Boot & Pin Repair Kit

6000 / Caliper Repair Set
PAN 17 Type

6008 / Caliper Adjusting Mechanism Set

6009 / Adjusting Mechanism Washer & Spring Set

6003 / Caliper Boot & Pin Repair Kit

— ——

.

6001 / Caliper Repair Set
PAN 17 Type

6011 / Caliper Adjusting Mechanism Set

6009 / Adjusting Mechanism Washer & Spring Set

&
O

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE
Brake Caliper Repair Kit WABCO

SERIES

6002 / Caliper Repair Set
PAN 17 Type

6003 / Caliper Boot & Pin Repair Kit 6008 / Caliper Adjusting Mechanism Set

-

—

6003 / Caliper Boot & Pin Repair Kit ( 12-153 MN )
PAN 17 Type

WABCO: 12 999 699 - 12 999 702 / DAF: 1436853 / IVECO: 42536957 /| OTOKAR: 13C3508276AA / CWSK.2
230x91 mm

M16x1,5x90 mm

1504 / Pin Bolt —

1510
Head Cap

1501 / Caliper Pin

1505 / Pin Bellow Green 1500 / Tappet Boot
234x@30x20 mm

1507 / Pin Cap ;

@30x77,30 mm

234x16 mm
I M16x1,5x70 mm

1502 / Caliper Pin
1506 / Pin Bush

6004 / Caliper Boot & Pin Repair Kit

PAN 17 Type
230x91mm
1501 / Caliper Pin e g
1505 / Pin Bellow Green 1500 / Tappet Boot
@30x77,30 mm 234x16 mm 234xB30x20 mm
1502 / Caliper Pin . - v
\ 1507 /Pin Cap 1506 / Pin Bush

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

SERIES

K
WABCO ) Turkey HI

6005

-

1500 / Tappet Boot

|/ Caliper Boot Set
PAN 17 Type

1505 / Pin Bellow Green

6006 / Caliper Adjusting Mechanism Set
PAN 17 Type

6008 / Caliper Adjusting Mechanism Set

=

@ O

6009 / Adjusting Mechanism Washer & Spring Set

6007 / Caliper Adjusting Mechanism Set

6011 / Caliper Adjusting Mechanism Set

PAN 17 Type
6009 / Adjusting Mechanism Washer & Spring Set

'd

& o

6008 / Caliper Adjusting Mechanism Set

PAN 17 Type

6012 / Calibration Bolt

1003 / Spring

1000 / Adjusting Mechanism

1002 / Spring Ring Thin

1001 / Spring Ring Thick

6009 / Adjusting Mechanism Washer & Spring Set
PAN 17 Type
Q&
'-.__,_:.:-:. > Ay L -
1006 / Washer 1007 / Washer
8 O o
1005 / Spring 1009 / Circlip 1010/ Spring Retainer

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE . p0o [ Turkey W

SERIES

Brake Caliper Repair Kit

6010 / Caliper Repair Set
PAN 17 Type

6003 / Caliper Boot & Pin Repair Kit 6011 / Adjusting Mechanism Set

6011 / Caliper Adjusting Mechanism Set 6012 / Calibration Bolt
PAN 17 Type PAN 17 Type

. 4

6013 / Calibration Bolt

1000 / Adjusting Mechanism

@ O

1001 / Spring Ring Thick 1002/ Spring Ring Thin 1003 / Spring
6013 / Calibration Bolt 6014 / Caliper Lever
PAN 17 Type PAN 17/ 19/ 22 Type

CWSK.12.3

. /

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE  \ n0o [ Turkey W

SERIES

Brake Caliper Repair Kit

6015 / Caliper Shaft Housing Set
PAN 17 Type

1513 / Spring

1512 / Shaft Housing

6016 / Caliper Boot & Pin Bolt Repair Kit
PAN 17 Type

WBC: 12999 704 / DF: 1519363 / RNLT: 5001 852 880

1505 / Pin Bellow Green 1500 / Tappet Boot
234x@30x20 mm
M16x1,5x70 mm @34x16 mm

0806 / Pin Bolt : A ’ »

| 1507 / Pin Cap 1506 / Pin Bush

M16x1,5x90 mm

1504 / Pin Bolt

)

6017 / Caliper Boot & Bolt Set

PAN 17 Type
WBC: 12 999 580 / MN: 81.50822.6003 / DF: 1517407

6016 / Caliper Boot & Pin Bolt Repair Kit 6018 / Caliper Head Gasket Set 1511 / Caliper Screw
- .
‘ 3 ‘ ; i ’ j . — M10x1x40 mm

Il
il

6018 / Caliper Head Gasket Set 6019 / Caliper Lining Plate - Left (With Pin)
PAN 17 /19722 | MAXX 17 Type PAN 17 Type

1508 / Cover Gasket

1509 / Head Seal

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

WABCO
SERIES

@
TORKAK
<)

Turkey [

6020 / Caliper Brake Lining Plate - Right (With Pin)
PAN 17 Type

6021 / Caliper Brake Lining Plate - Left (With Groove)
PAN 17 Type

CWSK.17.3

6022 / Caliper Brake Lining Plate - Right (With Groove)
PAN 17 Type

CWSK.17.5

6023 / Roller Bearing Set
PAN 17 /19/22 | MAXX 17 / 17 CWS Type

CWSK.12

1603 / Roller Bearing

6024 / Caliper Brake Lining Plate - Left (With Groove)
PAN 19 /22 Type

CWSK.19.3

6025 / Caliper Brake Lining Plate - Right (With Groove)
PAN 19/ 22 Type

CWSK.19.5

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

TORKAKK

WABCO _Z_
SERIES -

Turkey

EAL

6028 / Caliper Boot & Pin Repair Kit

6026 / Caliper Repair Set
PAN 19/ 22 Type

6031 / Caliper Adjusting Mechanism Set

DO

6032 / Adjusting Mechanism Washer & Spring Set

6028 / Caliper Boot & Pin Repair Kit

6027 / Caliper Repair Set
PAN 19/ 22 Type

6031 / Caliper Adjusting Mechanism Set

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive

(@) / unibrake_caliper




UNIBRAKE
Brake Caliper Repair Kit WABCO

SERIES

Turkey [

6028 / Caliper Boot & Pin Repair Kit
PAN 19/ 22 Type

WBC: 12 999 776 / DF: 1628065 / RNLT: 5001 866 626 / SF: 3 434 3828 00 / SCB: 1068.119
NSSN: 411209X605 / KGL: 6500700 / LECITRAILER: 050340001 / VLV: 85108166 / CWSK.6

238x118 mm D42x29 mm
X
. ' @37,70x76 mm @42x17 mm
‘ | O O

2005 / Caliper Pin 2006 / Caliper Pin L ’

P P 2009 / Pin Bellow Green 2010/ Washer 2012 2013
D42x@38x30 mm Pin Cap Big Pin Cap Small
M16x1,5x120 mm M16x1,5x80 mm 6 ‘G 6
= e e =i S—y
2007 / Pin Bolt 0802 / Pin Bolt S

1510 / Head Cap

6042 / Tappet Boot 2011/ Pin Bush

6029 / Caliper Boot & Pin Repair Kit
PAN 19/ 22 Type

B42x17 mm
238x118 mm

2005 / Caliper Pin 2009 / Pin Bellow Green 2010 / Washer 2013/ Pin Cap Small

D242x29 mm
D242xD38x30 mm
@37,70x76 mm

— =l

2006 / Caliper Pin 6042 / Tappet Boot 2011 / Pin Bush 2012/ Pin Cap Big

6030 / Caliper Repair Set
PAN 19/ 22 Type

6032 / Adjusting Mechanism Washer & Spring Set
) .
6031 / Caliper Adjusting Mechanism Set 6032 / Adjusting Mechanism Washer & Spring Set
PAN 19/ 22 Type PAN 19/ 22 Type
e -
¢ » ¥
.. #" \(:./J
2000 / Adjusting Mechanism B 25 | Callietrion Bolt 1006 / Washer 1007 / Washer 1008 / Washer
- O o
2001 / Spring Ring Thick 2002/ Spring Ring Thin 20031 Spring 1005/ Spring 1009/ Circlip 1010/ Spring Retainer
WWW.unibrake.com.tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

WABCO
SERIES

TORKAKK

Turkey [

6033 / Caliper Repair Set - Left
MAXX 22 Type

6070 / Caliper Guide & Bush Repair Kit

6073 / Adjusting Mechanism Set

1550
Caliper Seal

1551
Caliper Gear

1552
Caliper Pin

(I & & .~

6076 / Caliper Roller Bearing Set

" OLD NUMBER /6107 " 6033-1 / Caliper Repair Set - Right

MAXX 22 Type

6070 / Caliper Guide & Bush Repair Kit

6073 / Adjusting Mechanism Set

1552
Caliper Pin

1551
Caliper Gear

& ~

1550
Caliper Seal

6076 / Caliper Roller Bearing Set

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive

(@) / unibrake_caliper




UNIBRAKE .

Brake Caliper Repair Kit

SERIES

WABCO ) Turkey HI

6034 / Shaft Housing (With Springs)

PAN 19/ 22 Type

1513 / Spring

1514 | Shaft Housing

6035 / Calibration Bolt (With Pin)
PAN 19 / 22 Type

6036 / Caliper Lining Plate - Right (With Groove)
PAN 19 /22 /| MAXX 22T Type

.

6037 / Caliper Lining Plate - Left (With Groove)
PAN 19 /22 | MAXX 22T Type

www.unibrake.com.tr

OI UnibrakeAutomotive

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

(@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

WABCO
SERIES

Turkey [

6038 / Caliper Boot & Pin Repair Kit
PAN 19 /22 Type

-1 1@

2009 / Pin Bellow Green

238x118 mm
| W

2005 / Caliper Pin 2006 / Caliper Pin

M16x1,5x120 mm M16x1,5x80 mm

e

0802 / Pin Bolt

2007 / Pin Bolt

6042 / Tappet Boot

WBC: 12 999 738 / DF: 1505890 / SF: 3 434 3827 01/ CWSK.4
©37,70x76 mm O

2010 / Washer
D242xB38x30 mm

2011/ Pin Bush

D42x29 mm .
x17 mm
— E d
1510 5 2013
2012 .
Head Cap Pin Cap Big Pin Cap Small
—— . —
— —
> - - -

2020 / Pin Bellow Yellow

PAN 19 /22 Type

@42x29 mm
E-i ‘i-i = =
& >
A L R ——
\% —

200980 Bellow GEEh 2020/ Pin Bellow Yellow

OLOO

6039 / Caliper Boot & Pin Bush Repair Kit

242x17 mm

2013 / Pin Cap Small

~

242x338x30 mm

2009 / Pin Bellow Green

6042 / Tappet Boot

2010 / Washer
6042 / Tappet Boot 2011/ Pin Bush )
6040 / Caliper Boot Set )
PAN 19 /22 /| MAXX 22 Type
2010 / Washer

PAN 19 / 22 Type

@38x118 mm
: @37,70x76 mm —— -
— — \—-f < —
— « R
— A S _-—_a

2020 / Pin Bellow Yellow

~

2005 / Caliper Pin 2006 / Caliper Pin

242x17 mm

M16x1,5x120 mm M16x1,5x80 mm

2007 / Pin Bolt 0802 / Pin Bolt
2013/ Pin Cap Small

6041 / Caliper Boot Pin Repair Kit

D42x238x30 mm

2011/ Pin Bush

2010 / Washer
6042 / Tappet Boot

@42x29 mm

N

2012/ Pin Cap Big

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive

(@) / unibrake_caliper




UNIBRAKE 2.
Brake Caliper Repair Kit WABCO .

SERIES
6042 / Caliper Tappet Boot y

Turkey

EAL

6043 / Caliper Tappet & Boot Set
PAN 19/22 / MAXX 17 /17 CWS / 19/ 22 ] 22T Type DOUBLE PISTONS Type

6044 / Caliper Calibration Bolt Right \ 6045 / Caliper Calibration Bolt Left
DOUBLE PISTONS Type DOUBLE PISTONS Type

i

6046 / Caliper Bridge Assembly
DOUBLE PISTONS Type

==

) 2023 / Spring
1224 | Bridge Assembly

6047 / Caliper Boot & Pin Repair Kit
DOUBLE PISTONS Type

WBC: 12999 746 / DF: 144 0505 / RNLT: 5001 858 722

238x118 mm @37,70x76 mm

| P E—
| — — —
-
= ‘
2005 / Caliper Pin 2006 / Caliper Pin

2020 / Pin Bellow Yellow 2010 1 Washay

6043 / Caliper Tappet Boot
D42x 17 i B42xD38x30 mm 242x28 mm

M16x1,5x120 mm M16x1 5x80 mm 6 6
—y —~—
2007 / Pin Bolt 0802 / Pin Bolt S— S—
2013/ Pin Cap Small 2011/ Pin Bush 2012/ Pin Cap Big 1510 / Head Cap
WWW-unlbrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper
ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




Brake Caliper Repair Kit WABCO
SERIES

JNIBRAKE Turkey HI

6048 / Caliper Adjusting Set 6049 / Caliper Adjusting Set
PAN 17 Type PAN 19/ 22 Type

6050 / Caliper Pin Repair Kit

1000 VG Type
WBC: 12 999 729 / MAN: 81.50800.6023 - N1011015566 / NEOPLAN: 82139200 - 11015566 / DAF: 1517354
@25x81 mm @25x81 mm
- r—— Sy W SU—— qE I I
1200 / Caliper Pin With Hole 1211/ Caliper Pin (Without Hole) .
M12x1,5x90 mm

228x16 mm 1205 / Pin Boot

— e @ 1zoszson&sp,.,,g o‘ >

1203/ Pin Cap 1204 / Tappet Boot

228x@25x15 mm o o l
! ! : o 1207 / O-ring
olelole o o _
1208 / Rubber Cap
1202 / Pin Bush 1206 / Seal
[ 6051 / Roller Bearing Set y 6052 / Caliper Lever
DOUBLE PISTONS Type DOUBLE PISTONS Type

1212 / Roller Bearing

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




WABCO
SERIES

Brake Caliper Repair Kit

JNIBRAKE Turkey HI

6053 / Caliper Lever & Bearing Set
DOUBLE PISTONS Type

S

-

; e 6067 / Caliper Roller Bearing Set
6052 / Caliper Lever 6051 / Caliper Roller Bearing Set

6054 / Caliper Lever Repair Kit
DOUBLE PISTONS Type

6056 / Caliper Lever Repair Kit 6052 / Caliper Lever

) ) ey

g-zurf"Q @

6055 / Caliper Lever Repair Kit
DOUBLE PISTONS Type

6056 / Caliper Lever Repair Kit 6051 6067 6052 / Caliper Lever

. : o Caliper Roller Bearing Set | Caliper Roller Bearing Set
E—— D

s =
L \) M

6056 / Caliper Lever Repair Kit
DOUBLE PISTONS Type

6061 / Caliper Lever Pin

L) * NG .
1517 [ Caliper Bearing ‘q 'q
- - g

6057 / Caliper Gear

1520 / Washer 2! I Washer 1522 / Circlip 1523 / Clrcllp

1518 / Caliper Bearing 1519 / Spring
.

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

WABCO (%7 Turkey HI
SERIES S

6057 / Caliper Gear Repair Kit
DOUBLE PISTONS Type

1213 / Caliper Gear

6058 / Caliper Gear Repair Kit / Right
DOUBLE PISTONS Type

1214 / Caliper Gear Right

6059 / Caliper Gear Repair Kit / Left
DOUBLE PISTONS Type

1215/ Caliper Gear Left

6060 / Caliper Adjusting Mechanism Pin
DOUBLE PISTONS Type

-

1216 / Adjusting Mechanism Pin

6061 / Caliper Lever Pin
DOUBLE PISTONS Type

1216 / Caliper Adjusting Mechanishm Pin
1524 | Washer

m————— 00

6062 / Caliper Gear Whell Adjusting Repair Kit
DOUBLE PISTONS Type

S RSISK X |

1526 / Circilp

1525 / Spring 1509 / Caliper Seal

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

@
WABCO Turkey [
SERIES e

6063 / Caliper Adjusting Mechanism Housing
DOUBLE PISTONS Type

. all

6064 / Caliper Calibration Bolt Right
DOUBLE PISTONS Type

s ™
- g "

1516 / Anti Rotation Plate 1515/ Circlip
6044 / Calibration Bolt Right

6065 / Caliper Calibration Bolt Left
DOUBLE PISTONS Type

) )
- /

S < -
1516 / Anti Rotation Plate 1515/ Circlip

6045 / Calibration Bolt Left

6066 / Caliper Gasket Set
DOUBLE PISTONS Type

M10x1x40 mm
: 1511 / Screw

M16x1,5x40 mm

1
\

1218 / Roller Bearing |} St __d

4008 / Screw
6067 / Roller Bearing Set 6068 / Caliper Lever Set
DOUBLE PISTONS Type MAXX 22 Type
—
s

1543 / Ball Bearing

1541 / Caliper Lever

1542 / Bushing

1550/ Caliper Seal 1551 / Caliper Gear

6069 / Caliper Repair Kit
MAXX 22 Type

MN: 81.50822.6039 / WBC: 640 322 927 2

-
~——
- -~

1552 / Caliper Pin 1510 / Caliper Plug

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




TORKAKK

UNIBRAKE

WABCO

Turkey [

Brake Caliper Repair Kit

SERIES

6070 / Caliper Guide & Bush Repair Kit
MAXX 22 Type

640 322 926 2 / MAN 81.50822.6038

@38x118 mm @37,70x76 mm
I ] [

2005 / Caliper Pin 2006 / Caliper Pin

@242x17 mm

2013/ Pin Cap

2009 / Pin Bellow Green

D42xB38x35 mm

M16x1,5x120 mm M16x1,5x80 mm

2007/ Pin Bolt 0802/ Pin Bolt

6042 / Tappet Boot 1527 / Pin Bush Caliper Head

6072 / Caliper Dust Cover Set
MAXX 22 Type

Q

SO0 O

o

6071 / Caliper Plug Set
MAXX 22 Type

.I. . | 4 g
5 ! P l :Ij,\

%
> 1539 / Plug
1531/ Plug

6073 / Adjusting Mechanism Set
MAXX 22 Type

1548 | Spring

1547 | Adjusting Mechanism Set

6074 |/ Calibration Mechanism Washer Set
MAXX 22 Type

1530 / Washer

O

1536 / Circlip

Cr o

1534 / Adjusting Gear

1539 / Washer

1531/ Plug

o

6075

g

1528
Adjusting Mechanism

G

- OO

1537 / Circlip 1540 / Washer

Calibration Bolt

1535 / Spring Ring Thick 1538 / Washer

1533 / Spring Ring Thin

1532/ Spring

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




WABCO Turkey [l

SERIES

UNIBRAKE

Brake Caliper Repair Kit

6075 / Calibration Bolt 6076 / Caliper Roller Bearing Set
MAXX 19 /22 /22L /| 22 MERCEDES Type MAXX 19 / 22 MERCEDES / 22L / 22T Type

1011/ Roller Bearing

6077 | Caliper Roller Bearing Set
MAXX 19 /22 /22 MERCEDES / 22L / 22T

o ii‘i e e

6076 / Caliper Roller Bearing 1542 | Ball Bearing 1543 / Bushing

6078 / Caliper Adjusting Mechanism
MAXX 22 Type

#‘. - : )

\\*\J

1532 / Spring 1535 / Spring Ring Thick 1539 / Washer

a8 o o

i

1528 / Adjusting Mechanism

6075 / Calibration Bolt e T
Sl 1531/ Plug
1533 / Spring Ring Thin 1534 / Adjusting Gear

6079 / Caliper Washer Set
MAXX 19/ 22/ 22 MERCEDES / 22L

ﬁ 5 ) o
' » EDC YC
1540 / Washer 1530 / Washer
1533 / Spring Ring Thin 1532 / Spring
e ircli 1537 / Circli
1534/ Adjusting Gear 1535 / Spring Ring Thick 1538 / Washer 1536/ Circlip P
WWW-ur"brake-com-tr )/ unibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE WABCO ‘Q Turkey Ml

SERIES

Brake Caliper Repair Kit

6080 / Caliper Shaft Housing With Springs
MAXX 22 Type

100831

1548 / Spring

1549 / Shaft Housing

6081 / Caliper Repair Set With Groove - Right

PAN 17 Type
6022 / Caliper Brake Lining Plate - Right

6003 / Caliper Boot & Pin Repair Kit 1513 / Spring (With GrooyG)

“
Sy

6023 / Roller Bearing Set | 1509 / Head Seal| 1511 / Caliper Screw
e ; > I S
1508 / Cover Gasket 6014 / Caliper Lever
WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit WABCO
SERIES

Turkey [l

6003 / Caliper Boot & Pin Repair Kit

(

&
e

1513 / Spring

6082 / Caliper Repair Set With Groove - Left
PAN 17 Type

6021 / Caliper Brake Lining Plate - Left
(With Groove)

6023 / Roller Bearing Set

1509 / Head Seal | 4511 / Caliper Screw

IS R
O A L
‘ )
O

1508 / Cover Gasket

6014 / Caliper Lever

ol

6003 / Caliper Boot & Pin Repair Kit

€
e

6083 / Caliper Repair Set With Pin - Right
PAN 17 Type

1513 / Spring

6020 / Caliper Brake Lining Plate - Right
(With Pin)

6023 / Roller Bearing Set

1509 / Head Seal | 1511 / Caliper Screw

I
2 e 4
. S e
) —

1508 / Cover Gasket

6014 / Caliper Lever

ol

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




° ®
g-g;l Li?ﬁ'?p!fﬁ WABCO [ Turkey HI

SERIES

6084 / Caliper Repair Set With Pin - Left
PAN 17 Type

6019 / Caliper Brake Lining Plate - Left
(With Pin)

6003 / Caliper Boot & Pin Repair Kit

1513 / Spring

6023 / Roller Bearing Set | 1509 / Head Seal

1511 / Caliper Screw
A —
|

. ] —
) C—

6014 / Caliper Lever

ol

6025 / Caliper Brake Lining Plate - Right
1513 / Spring (With Groove)

TR - |

6023 / Roller Bearing Set 1509 / Head Seal

Il

6090 / Adjusting Mechanism Set

6085 / Caliper Repair Set With Groove - Right
PAN 19-22 Type

6028 Caliper Boot & Pin Repair Kit

1511 / Caliper Screw
£ —
)
. i
) C—

6014 / Caliper Lever

www.unibrake.com.tr

OI UnibrakeAutomotive (@) / unibrake_caliper
ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

il

6049 / Adjusting Mechanism Set




UNIBRAKE

Brake Caliper Repair Kit

WABCO
SERIES

Turkey [

@
runx&u@

6028 / Caliper Boot & Pin Repair Kit

e

6086 / Caliper Repair Set With Groove - Left
PAN 19-22 Type

6024 / Caliper Brake Lining Plate - Left

(With Groove)
1513 / Spring

6023 / Roller Bearing Set | 1509 / Head Seal

1511 / Caliper Screw

6049 / Adjusting Mechanism Set

1508 / Cover Gasket

6014 / Caliper Lever

ol

6047 / Caliper Boot & Pin Repair Kit

6087 / Caliper Repair Set
DOUBLE PISTONS Type

6065 / Caliper Calibration Bolt
Left

=
/T

(2

6064 / Caliper Calibration Bolt
Right

‘ :
NG

6046 / Caliper Bridge Assembly

6055 / Caliper Lever Repair Kit
a»
g D0 &

.

— @%% %%

6066 / Caliper Gasket Set

= TTIEY

6063 / Caliper Adjusting
Mechanism Housing

pr =

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive

(@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

SERIES

K
WABCO ) Turkey HI

6088 / Dust Cover Set
PAN 19-22 | MAXX 17 | 22T Type

WABCO: 640.175.920.2 / SAF: 3.434.83.2900 / SCB: 1068.160 / DAF: 0906197 /
LIEBHERR: 10326501 / OTOKAR: 13C3508278AB / DAF: 0906197

1509 / Head Seal

6042 / Tappet Boot

6089 / Caliper Repair Kit

PAN 17 Type
@34x38 mm 884.503.503.2 / CWSK.11
£ @34x16 mm
1554 | Bolt Plug 1507 / Bolt Plug

€

1500 / Tappet Boot

1505 / Pin Bellow Green

6090 / Calibration Mechanism Set
PAN 17 Type

6091 / Caliper Sealing Ring
PAN 19-22 / PAN 17 Type

1012/ Seal

6092 / Caliper Brake Pad Retainer
Kit PAN 17 Type

6093 / Caliper Brake Pad Retainer
Kit PAN 19-22 Type

e 2\
L > v kY n
feal - t "
| "
JaNy, v \
S | ‘
ol
_—
2 l_d oy | u ﬂ-ﬂ- = —

6094 / Caliper Brake Pad Retainer Kit
PAN 19-22 Type

11

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

@
WABCO
SERIES |

6095 / Caliper Guide & Bush Repair Kit

Tiirkey

EAL

DOUBLE PISTONS Type

WABCO: 12 999 677 / DAF: 865965 / RENAULT: 5021 170 487 / SMB: M100667

S ————

=P

2020 / Pin Bellow Yellow

2010 / Washer = - 4
6043 I Callper Tappet And Boot Set 1220 / Dust Cover Black
242x17 mm
M16x1,5x130 mm M16x1,5x80 mm
1221/ Pin Bolt 0802 / Pin Bolt k3 -
2013/ Pin Cap 1219/ Ring 1510 / Seal Cap
.
6096 / Caliper Guide & Bush Repair Kit
DOUBLE PISTONS Type
WBC: 12 999 678 / DF: 865966 / RNLT: 5021 170 488 / SMB: M100675
238x128 mm 238x70 mm
[ [ ho S
’ﬁ e S
1223 / Caliper Pin

2010 / Washer

242x238x30 mm
M16x1,5x80 mm

1221/ Pin Bolt

je22/Slper Al 2020/ Pin Bellow Yellow 1220 / Dust Cover Black
@242x17 mm
M16x1,5x130 mm G \6 6
. 0802/ Pin Bolt .

2011/ Pin Bush 2013/ Pln Cap

1219/ Ring

6097 / Caliper Gear Whell Adjusting Repair Kit

DOUBLE PISTONS Type

OO

1526 / Circlip

oo S8

1509 / Caliper Seal

1216 / Caliper Adjusting Mechanism Pin

1214 1215
Caliper Gear - Right Caliper Gear - Left
1524 | Washer 1525/ Spring
6098 / Caliper Gear Whell Adjusting Repair Kit 6099 / Caliper Tappet Boot
DOUBLE PISTONS Type

DOUBLE PISTONS Type

WABCO: 8977500002

1214
Caliper Gear - Right

H

“.(p(ﬂlﬁp
1216 / Caliper Adjusting Mechanism Pin

&{(4)

1215
Caliper Gear - Left

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive

(@) / unibrake_caliper




UNIBRAKE |\ poo [ Turkey M

SERIES

Brake Caliper Repair Kit

6100 / Caliper Shaft Housing Set
DOUBLE PISTONS Type

1224 | Bearing Suppart 2023 / Spring
6044 / Caliper Calibration Bolt Right 6045 / Caliper Calibration Bolt Left

6101 / Caliper Guide & Bush Repair Kit
MAXX 22 Type

6070 / Caliper Guide & Bush Repair Kit 6074 / Calibration Mechanism Washer Set

—

=

2 <
&€& OO0

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

WABCO
SERIES

%) Turkey HI

6070 / Caliper Guide & Bush Repair Kit

—

———

Q-

6102 / Caliper Guide & Bush Repair Kit
MAXX 22 Type

&8 OO

6078 / Caliper Adjusting Mechanism

o
@
—

‘L‘&, 4

6103 / Caliper Sealing Ring Set
MAXX 22 Type

1546 / Sealing Ring

6104 / Caliper Metal Cover Kit
MAXX 22 Type

640 322 650 4

i

-

' ,

1546 / Sealing Ring

M8x16 mm

111
111

0120/ Bolt

1544 | Caliper Metal Cover

6105 / Caliper Brake Lining Plate - R
MAXX 22 Type

6106 / Caliper Brake Lining Plate - L
MAXX 22 Type

.

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

WABCO Turkey [l

SERIES

6108 / Caliper Boot & Pin Repair Kit

MAXX 22T Type
640 222 928 2/ SCHMTZ : 1199858
©@38x118/63 mm ©42x@38x30 mm
@42x17 mm
¥ :
e N in Cap io ~ £ 4 ¢ =
1555 / Caliper Pin 2013/ Pin Cap 1510/ Caliper Plug o = .
M16x1,5x80 mm
1556 / Caliper Pin 1557 / Pin Bolt g g 9
P in=e 1558 / Pin Boot 6042 / Dust Cover
6109 / Caliper Boot Set 6110 / Caliper Adjusting Mechanism Set
MAXX 19 / 22T Type MAXX 22T Type
1532/ Spring
Z 6188 / Calibration Bolt
=
6042 / Dust Cover 1558 / Pin Boot : °
1533/ Spring Ring 1559 / Adjusting Mechanism 1507 / SPring Ring

6111 / Caliper Adjusting Mechanism Set

MAXX 22T Type

’\, 9 ﬁ 'R_‘

e e S
15»68 " 1530 / Washer
1567 / Spring Ring ockgr 1536/ Girclip
' ' 6188 / Calibration Bolt = O \\\ziﬁ ',«Q
s ) 1537 / Circlip 1540 / Washer 1538 / Washer
1559 / Adjusting Mechanism 1533 / Spring Ring 1532 / Spring

6112 / Adjusting Mechanism Washer & Spring Set

MAXX 22T Type
T TS
1530 / Wash
1568 / Locker 1567 / Spring Ring 1537 / Circlip  Washer
O CH)
< b
———— O o
- 1540 / Wash

1533 / Spring Ring 1532/ Spring 1536 / Circlip asher 1538 / Washer
WWW-ur"brake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE =
Brake Caliper Repair Kit WABCO .

SERIES

Turkey [

6113 / Caliper Leveller Repair Kit
MAXX 22T Type

)

ANAA A
"'I (441 Yy

I |
(i

1571/ Spring

1570 / Shaft Housing

6114 / Calibration Mechanism Set
MAXX 22T Type

— - 1571/ Spring
(I

1572 | Adjusting Mechanism

6115 / Metal Cover Kit
MAXX 22T Type

M8x16 mm

111111

0120 / Bolt

1573 / Metal Cover

6116 / Caliper Leveller
MAXX 19 / 22T Type

1575 / Ball Bearing 1576 / Bushing

1574 | Caliper Lever

www.unibrake.com.tr @/ UnibrakeAutomotive

(@) / unibrake_caliper
ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

WABCO Turkey [l

SERIES

6117 / Plastic Sensor
MAXX 22 Type

640 322 928 2 - 441 039 001 0 4811 / MAN:81.50822.6040

N o
“ ALk

6118 / Caliper Guide & Bush Repair Kit
1300 VG

MB: 000 420 0982
@35x110 mm @42x17 mm

' 1| < 3 -
l e 2013/ Pin Cap

1577 / Caliper Pin

—
1581 / Pin Boot

M16x1,5x110 mm
239x@35x20 mm

—— ' T

" . 1579 / Pin Bush
1578 / Caliper Pin 1580 / Bolt

6119 / Caliper Guide & Bush Repair Kit
1300 VG

12999 734VT

@242x17 mm
M16x1,5x110 mm

e
=

2013/ Pin Cap

‘ ‘ - 1581 / Pin Boot

1579 / Pin Bush

239x@35x20 mm
1580 / Bolt - i =

6120 / Caliper Guide & Bush Repair Kit
1300 VG Type

12999 733VT / MB : 4054200083

242x17 mm

M16x1,5x110 mm m ) :
1588 1598 = =
Caliper Bolt  spring 1585 / Caliper Seal 1584 / Caliper Seal 2013/ Pin Cap

1580 / Caliper Boot

0

1587 1586 / Caliper Plug

. " 1583 / Caliper Seal
Caliper Plastik Cap 1582 / Caliper Tappet Boot P

.

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

WABCO uriey Hl

SERIES

6121 / Caliper Boot Set 6122 / Caliper Washer Set
1300 VG Type 1300 VG Type
P
-

1583 / Caliper Seal 1584/ Caliper Seal 1592 / Caliper Ring 1583/ Caliper Circlip|

E = 7 . &
_ = '\’4&5.5.;}9

1585 / Caliper Seal 1590 / Caliper Ring 1591 / Caliper Bearing

1582 / Caliper Tappet Boot 1581/ Caliper Pin Boot

i

1594 / Shaft Right

% 1596 / Pin Bolt

1595 / Shaft Left 1582 / Dust Cover

6123 / Adjusting Mechanism Shaft - Right
1300 VG Type

M12x1,5x50 mm

OO B

1592 Caliper Ring 1593/ Circlip 1590 / Caliper Ring 1583/ Caliper Seal

) @ O«

1586 / Caliper Plug 1584 / Caliper Seal 1585/ Sealing Ring

1596 / Pin Bolt

1582 / Dust Cover 1591 / Caliper Bearing

6124 | Adjusting Mechanism Shaft - Left

1300 VG Type
M12x1,5x50 mm
1585/ Sealing Ring 1593/ Circlip 1590 Caliper ng 1583/ Caliper Seal

1586/ Caliper Plug 1584/ Caliper Seal 1592/ Caliper Ring 1591/ Caliper Bearing

6125 / Adjusting Mechanism Shaft - Right
1300 VG Type

M12x1,5x50 mm

A
T AT -
1600 / Anti Rotation Pin 1599 1589

Calibration Nut Spring

UV e i

1596 / Pin Bolt 1597 / Bolt 1598 / Spring

1601 / Fixed Ramp Right

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

@
TORKAK
<)

WABCO Turkey [l

SERIES

6126 / Caliper Shaft Set - Left

1602 / Fixed Ramp Left

SO SUTEm T (=

1300 VG Type

M12x1,5x50 mm

g

i

1600 / Anti Rotation Pin 1599 1589

” “ Calibration Nut Spring

1596 / Pin Bolt 1598 / Spring

1597 / Bolt

6127 / Caliper Brake Lining Plate
1300 VG Type

1606 / Brake Lining Plate

G

6128 / Caliper Shaft Lever
1300 VG Type

7

1597 / Bolt

]

1598 / Spring

6129 / Caliper Dust Cover
MAXX 22 MERCEDES / 22L Type

6130 / Caliper Brake Pad Retainer Kit
DOUBLE PISTONS Type

)

2 Ve
N vib “:"It- - &) \
= :
—
e
) J \
4‘ A *Q l )
y
t

l Al o

qu'\wwu

613

1607 / Caliper Piston Boot

1/ Caliper Dust Cover Set
1000 VG Type

12999 199VT / IVECO: 93161181 / OTOKAR:12E0008228AA

OVOOOO TSSO

1608 / Caliper Piston Seal

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive

(@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

WABCO
SERIES

@
TORKAK
<)

Turkey [

6132 / Caliper Repair Kit Complete - Right

1300 VG Type

6118 / Caliper Guide & Bush Repair Kit 6127 / Caliper Brake Lining Plate

6128 / Caliper Shaft Lever

6123 / Adjusting Mechanism Shaft - Right

- G

1601 / Fixed Ramp Right

1600 / Anti Rotation Pin

1599 / Calibration Nut

1589 / Spring

b A A

6133 / Caliper Repair Kit Com
1300 VG Type
6118 / Caliper Guide & Bush Repair Kit 6127 / Caliper B

plete - Left

rake Lining Plate

6128 / Caliper Shaft Lever

1602 / Fixed Ramp Left

1600 / Anti Rotation Pin

1599 / Calibration Nut

1589 / Spring

WA n{
vy

www.unibrake.com.tr @/ UnibrakeAutomotive

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

(@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

WABCO

@
Tunmm

SERIES

6108 / Caliper Boot & Pin Repair Kit

—=
=)
S8

R
T
(=

6134 / Caliper Guide & Bush Repair Kit

MAXX 22T Type

6111 / Caliper Adjusting Mechanism Set

|
\

6108 / Caliper Boot & Pin Repair Kit

6135 / Caliper Repair Kit Complete - Right
MAXX 22T Type

6114 / Calibration Mechanism Set

6076 / Caliper Roller Bearing Set

1509 / Head Seal

m e

6036 / Caliper Lining Plate - Right (With Groove)

6115 / Metal Cover Kit

111
111

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper

Turkey [




| ° ®
UNIBRAKE WABCO ("% Turkey HI

SERIES

Brake Caliper Repair Kit

6136 / Caliper Repair Kit Complete - Left
MAXX 22T Type

6108 / Caliper Boot & Pin Repair Kit 6114 / Calibration Mechanism Set

1509 / Head Seal

6037 / Caliper Lining Plate - Left (With Groove) 6115 / Metal Cover Kit

111
111

6137 / Caliper Leveller 6138 / Caliper Leveller
MAXX 22 L Type MAXX 22 MERCEDES Type

6139 / Caliper Guide & Bush Repair Kit
MAXX 22 MERCEDES / 22L Type

640.322.938.2

©38x118/63 mm s Sl
D242x17 mm -
: Ry & E_T Fodiss
| |
. =N i ’ :
1555 / Caliper Pin 2013 / Rin Cap W Fggetic Cap 1610/ Pin Bush
M16x1,5x80 mm
—— h
1556 / Caliper Pin . 1557/ Pin Bolt g g °
1558 / Pin Boot 6129 / Dust Cover
www.unibrake.com.tr )/ unibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

WABCO
SERIES

@ _
2 Turkey W

@38x118/63 mm @42x17 mm

o,

an B

1555 / Caliper Pin 2013/ Pin Cap

238x76/20,5 mm

" =Ty
A o

1556 / Caliper Pin

1557 / Pin Bolt
.

e®

M16x1,5x80 mm

6139-1 / Caliper Guide & Bush Repair Kit
MAXX 22 MERCEDES / 22L Type

640.322.951.2

D42x@38x30 mm
g S

1609 / Plastic Cap -
1610 / Pin Bush

1558 / Pin Boot

6140 / Caliper Guide & Bush Repair Kit
MAXX 22 MERCEDES / 22L Type

1558 / Pin Boot

6129 / Dust Cover

1609 / Plastic Cap|
D42x238x30 mm

242x17 mm

1610 / Pin Bush 2013/ Pin Cap

6140-1 / Caliper Guide & Bush Repair Kit
MAXX 22 MERCEDES / 22L Type

640.319.922.2

@242x17 mm

ee QO =
20_13IPin Cap 5

1558 / Pin Boot 6129 / Dust Cover
M16x1,5x80 mm

T E

1557 | Pin Bolt

D42x@38x30 mm

Seiesd p .

LR

1610 / Pin Bush

6141 / Calibration Mechanism Set

MAXX 22 MERCEDES / 22L Type

6142 / Caliper Bridge Assembly
MAXX 22 MERCEDES / 22L Type

322388

|

-,

1538 / Washer

1540 / Washer 1536 / Circlip

|

1
L

/
L

1532 / Spring

1611 / Adjusting Mechanism
i

Spring Ring Thin

6143 / Calibration Mechanism
MAXX 19 / 22 MERCEDES / 22L Type

1535 1534 / Adjusting Gear ‘

Spring Ring Thick

1537 / Circlip 1530 / Washer

6075 / Calibration Bolt

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

WABCO
SERIES

Turkey [l

@
TORKAK
[ eomes |

6144 |/ Calibration Mechanism
MAXX 19 / 22 MERCEDES / 22L Type

1535

1532 / Spring

Spring Ring Thick
@ ! —
1611
Adjusting Mechanism 1533 6075 / Calibration Bolt

Spring Ring Thin

6145 / Caliper Washer Set
MAXX 17 /17 CWS / 19/ 22 MERCEDES / 22L / 22T Type

1538 / Washer 1536,/ Circlip 1537/ Circlip
(:/ ) o Y —
1540 / Washer 1530 / Washer

6146 / Caliper Mechanism Repair Kit
MAXX 22 MERCEDES Type

640.322.941.2

' 1529 1609 / Plastic Cap
Caliper Manual Adjuster Shaft

1551 / Caliper Gear 1560 / Caliper Seal

6147 | Caliper Mechanism Repair Kit

MAXX 22L Type

1529 1609 / Plastic Cap

Caliper Manual Adjuster Shaft
1550 / Caliper Seal

1551 / Caliper Gear

6148 / Caliper Plastic Cover
MAXX 22 MERCEDES / 22L Type

441039 009 0

i ALLA

.

6149 / Caliper Dust Cover Set
MAXX 22 MERCEDES / 22L Type

6129 / Dust Cover

1558 / Pin Boot

6150 / Caliper Repair Kit
MAXX 22 MERCEDES Type

640.322.932.2

1560 / Caliper Seal

1609 / Plastic Cap

6129 / Dust Cover

6151 / Caliper Repair Kit
MAXX 22L Type

640.322.942.2

° o

6129 / Dust Cover

1609 / Plastic Cap

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

6152 / Caliper Dust Cover Set

WABCO
SERIES

@
runxau@

Turkey [l

PAN 17 Type

—

PAN 19-22 Type

&8 .00

6153 / Caliper Repair Kit

242x29 mm

1510 / Head Cap 2009 / Pin Bellow Green 2010/ Washer 2012/ Pinvcap Big
@42x@38x30 mm B42x17 mm
1500 / Tappet Boot ‘ 1A 1 1 >
1509/ Head Seal 6042 / Tappet Boot 2011/ Pin Bush oin (;2:; T’Sma"
6154 / Caliper Repair Kit Complete
DOUBLE PISTONS Type
6096 / Caliper Guide & Bush Repalr Kit 6043 / Caliper Tappet & Boot Set 6066 / Caliper Gasket Set

Amn o

—

6055 / Caliper Lever Repair Kit
8
8-

6046 / Caliper Bridge Assembly

- e a Wy

— @%% =

oo @

6097 / Caliper Gear Whell Adjusting Repair Kit

6064 / Caliper Calibration Bolt Right

6063 / Caliper Adjusting
Mechanism Housing

6155 / Caliper Pad Retainer Repiar Kit
MAXX 22 Type
i ﬁr \\‘
== *‘.1 k.= R ; ; \
— ‘—7' s = “ Z’“ e 7 y ‘ X
T | N\
N " 2 % | .- l/ - ‘ —® & / \ S
www.unibrake.com.tr
ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive

(@) / unibrake_caliper




UNIBRAKE G
Brake Caliper Repair Kit WABCO Y

SERIES

6156 / Caliper Repair Kit Complete - Right
MAXX 22 Type

Turkey [

6070 / Caliper Guide & Bush Repair Kit 6073 / Adjusting Mechanism Set

6076 / Caliper Roller Bearing Set 1550 / Caliper Seal 6105 / Caliper Brake Lining Plate - Right

i

1551 / Caliper Gear 1552
Caliper Manual Adjuster Shaft

= o

6157 / Caliper Repair Kit Complete - Left
MAXX 22 Type

6070 / Caliper Guide & Bush Repair Kit 6073 / Adjusting Mechanism Set

6076 / Caliper Roller Bearing Set 1550 / Caliper Seal 6106 / Caliper Brake Lining Plate - Left

{im

1551 / Caliper Gear 1552 6104 / Caliper Metal Cover Kit

Caliper Manual Adjuster Shaft

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

WABCO
SERIES

EAL

6139 / Caliper Guide & Bush Repair Kit

—

6158 / Caliper Guide & Bush Repair Kit
MAXX 22 MERCEDES / 22L Type

6143 / Calibration Mechanism

6139 / Caliper Guide & Bush Repair Kit

6159 / Caliper Guide & Bush Kit
MAXX 22 MERCEDES / 22L Type

6144 / Calibration Mechanism

¥
8 ‘

6160 / Caliper Metal Cover Set
MAXX 19/ 22 MERCEDES / 22L Type

M8x16 mm

111
111

0120/ Bolt

1544 | Caliper Metal Cover o [}

1561 / Dust Cover

6161 / Caliper Dust Cover Set
MAXX 19 / 22 MERCEDES / 22L Type

1561 / Dust Cover

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




| . K
UNIBRAKE . oo % Turkey HI

SERIES

6162 / Caliper Repair Kit Complete / MERCEDES AROCS FRONT RIGHT
MAXX 22L Type
6139 / Caliper Guide & Bush Repair Kit 6171 / Caliper Brake Lining Plate - Right

Brake Caliper Repair Kit

6077 / Caliper Roller Bearing Set 1529 1551 / Caliper Gear | 1550 / Caliper Seal

Caliper Manual Adjuster Shaft

6162-1 / Caliper Repair Kit Complete / MERCEDES AROCS FRONT RIGHT
MAXX 22L Type

6171 / Caliper Brake Lining Plate - Right

6137 / Caliper Leveller

1551 / Caliper Gear | 1550 / Caliper Seal
Caliper Manual Adjuster Shaft

L0

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

@
WABCO Turkey [l
SERIES S

6163 / Caliper Repair Kit Complete /| MERCEDES AROCS FRONT LEFT

MAXX 22L Type

6139 / Caliper Guide & Bush Repair Kit 6172 / Caliper Brake Lining Plate - Left

6141 / Calibration Mechanism Set

6077 / Caliper Roller Bearing Set 1529 1551 / Caliper Gear | 1550 / Caliper Seal

Caliper Manual Adjuster Shaft

] —

6163-1 / Caliper Repair Kit Complete / MERCEDES AROCS FRONT LEFT

MAXX 22L Type

6139 / Caliper Guide & Bush Repalr Kit 6172 / Caliper Brake Lining Plate - Left

__l%

6137 / Caliper Leveller

-
|

(I = == &

6077 / Caliper Roller Bearing Set 1529 1551 / Caliper Gear | 1550 / Caliper Seal

Caliper Manual Adjuster Shaft

www.unibrake.com.tr

OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




| . K
UNIBRAKE . oo % Turkey HI

SERIES

Brake Caliper Repair Kit

6164 / Caliper Repair Kit Complete / MERCEDES AROCS REAR RIGHT
MAXX 22 MERCEDES Type
6139 / Caliper Guide & Bush Repair Kit 6171 / Caliper Brake Lining Plate - Right

C Y

6077 / Caliper Roller Bearing Set 1529 1551/ claliper Gear | 1560/ Caliper Seal
6165 / Caliper Repair Kit Complete / MERCEDES AROCS REAR RIGHT

Caliper Manual Adjuster Shaft
MAXX 22 MERCEDES Type

6139 / Caliper Guide & Bush Repair Kit 6171 / Caliper Brake Lining Plate - Right

6077 / Caliper Roller Bearing Set 1529 1551 / Caliper Gear | 1560 / Caliper Seal

Caliper Manual Adjuster Shaft

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




| . K
UNIBRAKE . oo % Turkey HI

SERIES

Brake Caliper Repair Kit

6166 / Caliper Repair Kit Complete / MERCEDES AROCS REAR LEFT
MAXX 22 MERCEDES Type
6139 / Caliper Guide & Bush Repair Kit 6172 / Caliper Brake Lining Plate - Left

T e S S

6160 / Caliper Metal Cover Set

6077 / Caliper Roller Bearing Set 1529 1551/ Caliper Gear | 1560 / Caliper Seal

Caliper Manual Adjuster Shaft

LIy == -

6167 / Caliper Repair Kit Complete / MERCEDES AROCS REAR LEFT

MAXX 22 MERCEDES Type
6139 / Caliper Guide & Bush Repair Kit 6172 / Caliper Brake Lining Plate - Left

Lﬁ_ ” 2 «; »

6160 / Caliper Metal Cover Set

i1l

6077 / Caliper Roller Bearing Set 1529 1551 / Caliper Gear | 1560 / Caliper Seal

Caliper Manual Adjuster Shaft

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




| . K
UNIBRAKE . oo % Turkey HI

SERIES

Brake Caliper Repair Kit

6168 / Caliper Guide & Bush Repair Kit

MAXX 22T Type
6108 / Caliper Boot & Pin Repair Kit 6110 / Caliper Adjusting Mechanism Set

6169 / Caliper Repair Kit Complete - Right
MAXX 22T Type
6108 / Caliper Boot & Pin Repair Kit 1509 / Head Seal

:__‘ = @ . S8

6036 / Caliper Lining Plate - Right (With Groove) 6114 / Calibration Mechanism Set

6115 / Metal Cover Kit 6076 / Caliper Roller Bearing Set

111
111

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

WABCO (%7 Turkey HI
SERIES S

6170 / Caliper Repair Kit Complete - Left
MAXX 22T Type

6108 / Caliper Boot & Pin Repair Kit

—r—=.00&

1509 / Head Seal

6037 / Caliper Lining Plate - Left (With Groove)

6114 / Calibration Mechanism Set

6115 / Metal Cover Kit

111
111

6076 / Caliper Roller Bearing Set

6171 / Caliper Brake Lining Plate - Right
MAXX 22 MERCEDES / 22L Type

6172 / Caliper Brake Lining Plate - Left
MAXX 22 MERCEDES / 22L Type

6042 / Tappet Boot

6173 / Caliper Dust Cover Kit
MAXX 17 / 17 CWS Type

1505 / Pin Bellow Green

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

WABCO
SERIES

6174 | Caliper Guide & Bush Repair Kit
MAXX 17 Type

WABCO: 640.317.928.2

M16x1,5x80 mm

230x91 mm

1604 / Caliper Pin

1557 / Pin Bolt 1505 / Pin Bellow Green 6042 / Tappet Boot

D34xB30x20 mm
@30x77 mm @34x16 mm

——
—

1510 / Head Cap

1605 / Caliper Pin 1506 / Pin Bush

1507 / Pin Cap

6175 | Caliper Guide & Bush Repair Kit

MAXX 17 Type
3 —‘_—/
M16x1,5x80 mm ' 1 vl
1510 / Head Cap
1505 / Pin Bellow Green 6042 / Tappet Boot

D34xD30x20 mm
234x16 mm
1557 / Pin Bolt -_ ! | - ‘ q
b 1 3 [’
‘ ) ‘ ) ) J 9

1507 / Pin Cap 1506 / Pin Bush

6176 / Caliper Repair Kit
MAXX 17 Type

234x@30x20 mm
234x16 mm
T W J =
1507 / Pin Cap 1506 / Pin Bush 1510/ Head Cap
1505 / Pin Bellow Green 6042 / Tappet Boot
6177 | Caliper Cover Gasket Set
MAXX 17 Type
1509 / Head Seal
6175 / Caliper Guide & Bush Repair Kit 1508 / Cover Gasket

1511 / Caliper Screw

_—== O
. BT

M10x1x40 mm

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

WABCO (%7 Turkey HI
SERIES

6178 / Caliper Head Gasket Set
PAN 17/ 19/ 22 Type

1508 / Cover Gasket —

1509 / Head Seal 1510/ Head Cap
/

6179 / Caliper Dust Cover Kit
MAXX 17 | 22 Type

WABCO: 640.322.932.2

1510 / Head Cap

6042 / Tappet Boot

6180 / Caliper Brake Lining Plate - Right
MAXX 17 / 17 CWS Type

6181 / Caliper Brake Lining Plate - Left
MAXX 17 / 17 CWS Type

6182 / Caliper Leveller
MAXX 17 / 17 CWS Type

6183 / Calibration Mechanism Set
MAXX 17 Type

o
nnnnn

.

6184 / Caliper Bridge Assembly
MAXX 17 / 17 CWS Type

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




U ’ Tﬁgam S 2
BPJ:?P;Z? :::fE WABCO Turkey [l
SERIES

6185 / Calibration Mechanism Repair Kit
MAXX 17 Type

6186 / Calibration Mechanism Kit 6145 / Caliper Washer Set 1568 / Locker

OO O

O

6186 / Calibration Mechanism Kit
MAXX 17 Type

g . = iy 1567

. q 1612 Mechanism Torsion
BIEEHENbration Bolt Mechanism Torsion Spring Ring - (Thin)
Spring Ring - (Thick)

1532/ Spring

\1613 | Adjusting Mechanism

6187 | Mechanism Repair Kit
MAXX 17 Type

6145 / Caliper Washer Set

—

1568 / Locker B pe— o

1567 = == -
1532/8 ; : < > oy
Mechar:i::nzTorsion D e Torslon ) Q
Spring Ring - (Thi h g ; \\_/
Spring Ring - (Thick) pring Ring - (Thin) s e .

6188 / Calibration Mechanism Bolt
MAXX 17 | 22T Type

WWW-unibrake-Com-tr OIUnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




° ®
g-g;l Li?ﬁ'?p!fﬁ WABCO () Turkey HI

SERIES

6189 / Caliper Repair Kit Complete - Right ( GAZ )
MAXX 17 Type

6174 / Caliper Guide & Bush Repair Kit 6180 / Caliper Brake Lining Plate - Right

— &
—

13

6023 / Roller Bearing Set

1509 / Head Seal 1508 / Cover Gasket

6190 / Caliper Repair Kit Complete - Right ( GAZ )
MAXX 17 Type

6174 / Caliper Guide & Bush Repair Kit 6180 / Caliper Brake Lining Plate - Right

6182 / Caliper Leveller

6023 / Roller Bearing Set

m e
m )  —

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

1509 / Head Seal

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

WABCO (%7 Turkey HI
SERIES -

6174 / Caliper Guide & Bush Repair Kit

6191 / Caliper Repair Kit Complete - Left ( GAZ)

MAXX 17 Type

6181 / Caliper Brake Lining Plate - Left

6023 / Roller Bearing Set

M

N

1509 / Head Seal 1508 / Cover Gasket

6192 / Caliper Repair Kit Complete - Left ( GAZ)

6174 / Caliper Guide & Bush Repair Kit

MAXX 17 Type

6181 / Caliper Brake Lining Plate - Left

6182 / Caliper Leveller 6183 / Calibration Mechanism Set

1509 / Head Seal

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE 2.
Brake Caliper Repair Kit WABCO <

SERIES

Turkey [

6193 / Caliper Guide & Bush Repair Kit
MAXX 17 CWS Type

M16x1,5x80 mm

230x91 mm

1604 / Caliper Pin

1557 / Pin Bolt 1505 / Pin Boot 6042 / Tappet Boot

@30x77 mm 234x@30x20 mm

234x16 mm
> - [~

i 1614 / Plastic Cap 1615

1507 / Pin Cap 1506 / Pin Bush Cap Bolt

—

1605 / Caliper Pin

6194 / Caliper Guide & Bush Repair Kit
MAXX 17 CWS Type

WABCO: 640.317.922.2 / VOLVO: 21748964 /| RENAULT: 7421748963
M16x1,5x80 mm -
‘I -

. |I || s g 1614 / Plastic Cap 1615

: Cap Bolt
1505 / Pin Boot

1557 / Pin Bolt

1507 / Pin Cap

1506 / Pin Bush

6195 / Caliper Dust Cover & Bush Repair Kit
MAXX 17 CWS Type

234x16 mm

e j 234xB30x20 mm
1507 / Pin Cap -
S
- i . -
\ » " lb..

ge ) 1506uRINIETER = — 1614/ Plastic Cap 1615
EI g E I‘ 6042 / Tappet Boot Cap Bolt

1505 / Pin Boot

6196 / Caliper Cover Gasket Set
MAXX 17 CWS Type

6194 / Caliper Guide & Bush Repair Kit 1508 / Cover Gasket 1511 / Screw

i
111l

M10x1x40 mm

www.unibrake.com.tr @/ UnibrakeAutomotive

(@) / unibrake_caliper
ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

WABCO
SERIES

@
TORKAK
<)

Turkey [

6197 / Caliper Cover Set
MAXX 17 CWS Type

1w
1615
Cap Bolt

S

1614 / Plastic Cap

1550 / Seal

1508 / Gasket

6198 / Caliper Dust Cover Kit
MAXX 17 CWS / 19 Type

o
1615
Cap Bolt

1550 / Seal

6042 / Tappet Boot 1614 / Plastic Cap

6199 / Caliper Mechanism Repair Kit
MAXX 17 CWS / 19 Type

WABCO: 640.317.926.2 / VOLVO: 21749015 / RENAULT: 7421749014

€ it

1550 / Sedl 1552/ Caliper Pin

1551 / Caliper Gear

S ——e i

1614 / Plastic Cap 1615
Cap Bolt

B

6200 / Calibration Mechanism Set
MAXX 17 CWS Type

6201 / Calibration Mechanism Repair Kit
MAXX 17 CWS Type

1534 / Adjusting Gear

6202 / Calibration Mechanism Kit
6145 / Caliper Washer Set

D
= DO O
i, @looco

—
) §

v

"

6202 / Calibration Mechanism Repair Kit
MAXX 17 CWS Type

1532 / Spring 1567 / Spring Ring

1611

Adjusting Mechanism 1612 / Spring Ring

6204 / Mechanism Bolt

6203 / Caliper Mechanism Repair Kit
MAXX 17 CWS Type

6145/ Caliper Washer Set

Q Ve’ Vg g

1532/ Spring 1534
Adjusting Gear

1567 ' 2

1612/ Spring Ring Spring Ring

6204 / Calibration Mechanism Bolt
MAXX 17 CWS Type

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

WABCO
SERIES

@
v Yurkey HI

6193 / Caliper Guide & Bush Repair Kit

——
—
ss

6205 / Caliper Repair Kit Complete - Right ( RENAULT & VOLVO )
MAXX 17 CWS Type

6180 / Caliper Brake Lining Plate - Right

)

&

@

p

00000
- q ’ - > ([
1551 1552 1550 / Seal 6023 1508 / Gasket
Caliper Gear Caliper Pin Roller Bearing Set

6193 / Caliper Guide & Bush Repair Kit

—
oo
==
299

6206 / Caliper Repair Kit Complete - Right ( RENAULT & VOLVO)
MAXX 17 CWS Type

6180 / Caliper Brake Lining Plate - Right

-

6182

| Caliper Leveller 6200 / Calibration Mechanism Set

0D S= (Fy'y'y'on

1551
Caliper Gear

1552
Caliper Pin

o

1550 / Seal

4

B

|21

6023

Roller Bearing Set

1508 / Gasket

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

K
WABCO ) Turkey HI

SERIES

6193 / Caliper Guide & Bush Repair Kit

— %
—

S S
299

=

MAXX 17 CWS Type

6207 / Caliper Repair Kit Complete - Left ( RENAULT & VOLVO )

6181 / Caliper Brake Lining Plate - Left

o
)

1551
Caliper Gear

1552
Caliper Pin

o

1550 / Seal

6023
Roller Bearing Set

1508 / Gasket

6193 / Caliper Guide & Bush Repair Kit

—
oo
==
299

MAXX 17 CWS Type

6208 / Caliper Repair Kit Complete - Left ( RENAULT & VOLVO )

6181 / Caliper Brake Lining Plate - Left

6182 / Caliper Leveller

¥

6200 / Calibration Mechanism Set

(Fygae v (g

1551
Caliper Gear

1552 1550 / Seal

Caliper Pin

o

.-

6023
Roller Bearing Set

1511/ Screw

&

1508 / Gasket

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive

(@) / unibrake_caliper




o ®
;’al;l ii?ﬁ'?p!fi WABCO (%) Turkey HI

SERIES

6209 / Caliper Guide & Bush Repair Kit
MAXX 19 Type

238x104 mm D242xD38x30 mm
C | | e
. un W 1614 / Plastic Cap 1615
1616 / Caliper Pin 1610 / Pin Bush Cap Bolt

M16x1,5x80 mm
238x76/20,5 mm

242x17 mm

5013 / Pin Cap

g 1557 / Pin Bolt 1558 / Pin Boot 6042 / Tappet Boot
6210 / Caliper Bolt & Bush Repair Kit i 6211 / Caliper Boot & Bush Repair Kit
MAXX 19 Type MAXX 19 Type

WABCO: 640.318.922.2 / VOLVO: 21748973 /| RENAULT: 7421748972

242x@38x30 mm

D42x@38x30 mm
g g ! : ¥ lv, = ‘——" s I v y " ”T

1614 / Plastic Cap 1615
1558 / Pin Boot 1610 / Pin Bush Cap Bolt 1610 / Pin Bush
M16x1,5x80 mm

242x17 mm

242x17 mm
2013/ Pin Cap

1557 | Pin Bolt 6042 / Tappet Boot 6042 / Tappet Boot 1558 / Pin Boot 2013/Pin Cap

6212 / Calibration Mechanism Set 6213 / Caliper Bridge Assembly
MAXX 19 Type MAXX 19 Type

6214 / Caliper Brake Lining Plate Right
MAXX 19 Type

WABCO: 640.319.929.2 - R

6215 / Caliper Brake Lining Plate Left
MAXX 19 Type

WABCO: 640.319.929.2 - L

.

www.unibrake.com.tr

OI UnibrakeAutomotive (@) / unibrake_caliper
ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE 50

SERIES

Turkey [

Brake Caliper Repair Kit

AB-0089-YS

6216 / Caliper Repair Kit Complete - Right ( RENAULT )
MAXX 19 Type
6209 / Caliper Guide & Bush Repair Kit 6214 / Caliper Brake Lining Plate Right

6212 / Calibration Mechanism Set

6077 / Caliper Roller Bearing Set 1551 / Caliper Gear |1552 / Caliper Pin 1550 / Seal

Dy = S 9

1

!

I

6217 / Caliper Repair Kit Complete - Right ( RENAULT )

MAXX 19 Type
6209 / Caliper Guide & Bush Repair Kit 6214 / Caliper Brake Lining Plate Right

6116 / Caliper Leveller

6076 / Caliper Roller Bearing Set 1551 1552 1550 / Seal
Caliper Gear Caliper Pin
iy
[ |
LU i ’
WWW.unibrake.com.tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

@
TURKAIK

AB-0089-YS

WABCO Turkey [l

SERIES

6218 / Caliper Repair Kit Complete - Left ( RENAULT )
MAXX 19 Type
6209 / Caliper Guide & Bush Repair Kit 6215 / Caliper Brake Lining Plate Left

6212 / Calibration Mechanism Set

6077 / Caliper Roller Bearing Set 1551 / Caliper Gear | 1552/ Caliper Pin 1550 / Seal

My = - & ~ @

6219 / Caliper Repair Kit Complete - Left ( RENAULT )
MAXX 19 Type

6209 / Caliper Guide & Bush Repair Kit 6215 / Caliper Brake Lining Plate Left

| ,

6160 / Caliper Metal Cover Set 6116 / Caliper Leveller

6076 / Caliper Roller Bearing Set 1551 1552 1550 / Seal
Caliper Gear Caliper Pin

il

« &

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

WABCO
CARRIERS

EAL

6800 / Caliper Carrier | MERCEDES FRONT - RIGHT
WABCO CARRIER

213 mm-—

[4—1 76,25 mm——>|

6801 / Caliper Carrier / MERCEDES FRONT - LEFT
WABCO CARRIER

~ 213 mm -—

~——176,25 mm—»] |

6802 / Caliper Carrier / 12-153 MAN - RIGHT
WABCO CARRIER

6803 / Caliper Carrier / 12-153 MAN - LEFT
WABCO CARRIER

6804 / Caliper Carrier / SAF AXLE - RIGHT
WABCO CARRIER

- ‘
216 mMm—
316,50 mm

6805 / Caliper Carrier / SAF AXLE - LEFT
WABCO CARRIER

6806 / Caliper Carrier / MAN TGX-TGS / RIGHT
WABCO CARRIER

380 mm4—>I
-280 mm———

G

6807 / Caliper Carrier /| MAN TGX-TGS / LEFT
WABCO CARRIER

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE 50

SERIES

Turkey [

Brake Caliper Repair Kit

6808 / Caliper Carrier / RENAULT MIDLUM
WABCO CARRIER

{
» )

: =

- Y

’ - 245 mm——— ‘
369 mm
6809 / Caliper Carrier / SAF AXLE - RIGHT i 6810 / Caliper Carrier /| SAF AXLE - LEFT
WABCO CARRIER WABCO CARRIER

A|=<—21080mm—>

e IS

6811 / Caliper Carrier /| SCHMITZ AXLE - RIGHT i 6812 / Caliper Carrier /| SCHMITZ AXLE - LEFT
WABCO CARRIER WABCO CARRIER

“t=t——201,50 mm—— =i v

6813 / Caliper Carrier /| SAF AXLE - RIGHT \ 6814 / Caliper Carrier /| SAF AXLE - LEFT
WABCO CARRIER WABCO CARRIER

263 mm ——

r 211.60mm — =
M6y, . ‘ ‘;4,\
e 5

“\a*\"’
EA’% P
d ~— 216 mm

- - 316 mm

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

WABCO
SERIES

Turkey [l

@
TORKAR
<

6815 / Caliper Carrier /| SAF AXLE - RIGHT

WABCO CARRIER
- 341 mm -
263 mm
g 214,80 mm - \ | e
,/{\ >
= — e,
[ 4
N

6816 / Caliper Carrier /| SAF AXLE - LEFT
WABCO CARRIER

= 341 mm T
263 mm———b‘

—211 80 mm—®_§
&\\

6817 / Caliper Carrier /| SAF AXLE - RIGHT
WABCO CARRIER

6818 / Caliper Carrier / SAF AXLE - LEFT
WABCO CARRIER

g 341 mm
‘ -t 263 mm

/ ~—— 211,80 mm—--]

6819 / Caliper Carrier / SCHMITZ TRAILER - RIGHT
WABCO CARRIER

~———286 mm

A-
N

6820 / Caliper Carrier /| SCHMITZ TRAILER - LEFT
WABCO CARRIER

= 286 mm E

211,50 mmr——

6821 / Caliper Carrier / MB AROCS REAR - RIGHT
WABCO CARRIER

640.915.745.4 / MB: 000 423 2206

6822 / Caliper Carrier /| MB AROCS REAR - LEFT
WABCO CARRIER

640.915.744.4 | MB: 000 423 2306

l‘ 280 mm L
2 @

- 350 mm -

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

WABCO
SERIES

Turkey [

@
TORKAK
<)

6823 / Caliper Carrier /| MB AROCS FRONT - RIGHT
WABCO CARRIER

6824 / Caliper Carrier / MB AROCS FRONT - LEFT
WABCO CARRIER

280 mm—>|

————221 mm————

» ~‘ -
4 & -—210 mm—jﬁ
t 378 mm - f
400 mm >

6825 / Caliper Carrier / SCHMITZ TRAILER - RIGHT
WABCO CARRIER

- 263 mm

‘201,50 mMm—»

6826 / Caliper Carrier /| SCHMITZ TRAILER - LEFT
WABCO CARRIER

263 mm L

[<7211 mm—->-|

' 149 mm 75
—196 mm ——»- '
] 201,50 m

AB

6827 / Caliper Carrier /| DAF LF55 - RIGHT
WABCO CARRIER

263 mm

- 351,25 mm
372 mm

6828 / Caliper Carrier /| DAF LF55 - LEFT
WABCO CARRIER

| Q 351,25 mm
— 372 mm

6829 / Caliper Carrier /| MERCEDES REAR
WABCO CARRIER

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




C/LE DUCO

D DUCO AXIAL D DUCO RADIAL C LISA

ELSA 195/225/EX225 ELSA 195/225/EX225
ELSA 2 AXTAL ELSA 2 RADIAL AXITAL RADIAL MERITOR CARRIERS

MERITOR
BRAKE CALIPER REPAIR KITS

Kdfatos\

Gtomoriv . SiEiRlaA



UNIBRAKE
Brake Caliper Repair Kit MERITOR

SERIES

7000 / Caliper Pin Repair Kit

EAL

ELSA 1 Type
MERITOR:MCK1102 - ST1157 / MAN: 81.50802.6017 - 81.50802.6020 - 81.50802.6021 - 35.50310.9496 / DAF: 1522034 /| VANHOOL: 10770779 / ZF: 0501213164 /| CMSK.5
D40x@35/37x33 mm  B39x@35x30 mm !33?;2;”"61137
235x135 mm i 042xﬂ37x14 5 mm

M20x1,5x150 mm °
4000 / Pin Bolt - E j

3000 / Caliper Pin 3501 3500 / Pin Bush 4703/ Pin Ring 3741/ Pin Ring

@35x73 mm 044x28 mm Pin Bush
—

M20x1,5x90 mm

248x@37x14 mm
el — G, T,
4001/ Pin Bolt * w w
3001 / Caliper Pin - e

4500 / Pin Cap 4701 / Pin Ring 7212 | Pin Boot Kit

7001 / Caliper Pin Repair Kit
ELSA 1 Type

B40x@35/37x33 mm @39x@35x30 mm 242x@37
@35x135 mm 5 @39xD36/37x15 mm 14,5 mm

ii e e ﬂ48x637x14 mm o

3000 / Caliper Pin 3501 3500 / Pin Bush 4701 / Pin Ring 3741/ Pin Ring 4703/ P|n Rlng

Pin Bush
235x73 mm 944x28 mm

—
=i
4500 / Pin Cap 7212/ Pin Boot Kit

3001 / Caliper Pin
7044 | Tappet Boot Kit

7002 / Caliper Boot & Pin Repair Kit

ELSA 1 Type
@44x28 mm
@35x135 mm 239x@35x30 MM gy39,0536/37%15 mm
M20x1 ,5x150 mm
4ooo / Pin Bolt = -
3000/ Caliper Pin 3500 / Pin Bush 3741/ Pin Ring 4500 / Pin Cap

228,5x110 mm D40xD28,5x27 mm

D240x230x19 mm

3200 / Caliper Pin With Bolt 4800 4702 7044 | Tappet Boot Kit 7212/ Pin Boot Kit
Rubber Bush Pin Ring

7003 / Caiper Boot & Pin Repair Kit
ELSA 1 Type

MERITOR: MCK1103 / MAN: 81.50802.6022 / CMSK.23
239xD35x30 mm D44x28 mm
B@35x135 mm

i M20x1,5x150 mm e
4000 / Pin Bolt

3000 / Caliper Pin

3500 / Pin Bush 4500/ Pin Cap

228,5x110 mm D40x228,5x27 mm
240x230x19 mm 239xD36/37x15 mm
3200/ Caliper Pin With Bolt 4800 4702 Pin Ring 3741/Pin Ring 7212 Pin Boot Kit
Rubber Bush
www.unibrake.com.tr )/ unibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE \poimor 5 Turkey

SERIES

Brake Caliper Repair Kit

7004 / Locking Shim 7005 / Intermediate Gear
ELSA 1 Type ELSA 1 Type

MERITOR: 68321678 / MAN: 81.50822.0006 / ZF: 0501318076 / CMSK.5.4

7006 / Caliper Adjusting Gear - Right 7007 / Caliper Adjusting Gear - Left
ELSA 1 Type ELSA 1 Type

@35 mm @35 mm

7008 / Caliper Adjusting Gear Set - Left
ELSA 1 Type

3742/ Plug

£
E 3019/ Spring
T
@35 mm @35 mm 7005 / Shaft Gear
7007 / Caliper Adjusting Gear - Left
7008-1 / Caliper Adjusting Gear Set - Right
ELSA 1 Type
3742/ Plug
3019 / Spring
@35 mm @35 mm
7006 / Caliper Adjusting Gear - Right
WWW-unlbrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE \ppimor 5 Turkey B

SERIES

Brake Caliper Repair Kit

7009 / Intermediate Gear 7010 / Caliper Adjusting Gear Right
ELSA 1 Type ELSA 1 Type

37,5 mm

337,5 mm

7011 / Caliper Adjusting Gear Left
ELSA 1 Type

37,5 mm

7012 / Caliper Adjusting Gear Set Left

ELSA 1 Type

3742/ Plug

_E
£
n
[ 3019/ Spring
o
@37,5 mm @37,5 mm
7011 / Adjusting Gear
7012-1 / Caliper Adjusting Gear Set Right
ELSA 1 Type
3742/ Plug
£
£
w @
g 3019/ Spring
Q
@37,5 mm
7010 / Adjusting Gear
WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

Turkey [

7013 / Caliper Half Bearing Set
ELSA 1/ELSA 2/ ELSA 195-225-EX225
B DUCO / C-LE DUCO / D DUCO Type

3710/ Roller Bearing

7014 | Caliper Bearing Set
ELSA 1/ELSA 2/ ELSA 195-225-EX225

B DUCO / C-LE DUCO / D DUCO Type
MERITOR: SJ4112 / VOLVO: 3092329 / DAF: 1522169 / CMSK.3.3

ﬂ 3012/ Lever Bush
v o |—

3013/ Ball Bearing

7013 / Roller Bearing

7015/ Caliper Lever With Bearings - Right
ELSA 1 Type

CMSK.5.14

3012/ Lever Bush

—

3013 / Ball Bearing

3748 | Caliper Lever - Right

7016 / Caliper Lever With Bearings - Left
ELSA 1 Type

CMSK.5.15

3012/ Lever Bush

— —

3013/ Ball Bearing

3749 / Caliper Lever - Left

@35x144 mm
M18x1,5x150 mm

4002 / Pin Bolt
3003 / Caliper Pin

D244x28 mm
231x84 mm

M18x1,5x90 mm

3004 / Caliper Pin 4003/ Pin Bolt

4501/ Pin Cap

7017 | Caliper Boot & Pin Repair Kit
ELSA 2 Type

D42x231/32x45 mm
\ 242xB37x14,5 mm

7096 / Pin Boot Kit

)
£ >

4703/ Pin Ring

3821 / Pin Rubber Bush
239x@35x30 mm

ol X -3 -2

3500/ Pin Bush 7043 / Tappet Boot Kit

235X144 mm

3003 / Caliper Pin

D44x28 mm
231x84 mm

3004 / Caliper Pin o :
4501/ Pin Cap

.

7018 / Caliper Boot & Pin Repair Kit
ELSA 2 Type

7096 / Pin Boot Kit

242x@31/32x45 mm
242x@37x14,5 mm

4703 / Pin Ring

3821 / Pin Rubber Bush
239x@35x30 mm

3500/ Pin Bush 7043 / Tappet Boot Kit

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




Turkey [l

UNIBRAKE
Brake Caliper Repair Kit MERITOR
SERIES

7019 / Caliper Guide & Repair Kit
ELSA 2 Type
@39x@35x30 mm
M16x1,5x40 mm

@35x128 mm
4000 / Pin Bolt o o — —
4900 / Washer

3005/ Caliper Pin 3500 / Pin Bush 4008 / Screw
M10x1,25
335/33x67 mm D44x28 mm 20 mm
g M20x1 5%90 mm l
4001 I Pin Bolt e e 3725
4501 / Pin Cap 7096 / Pin Boot Kit 7043 / Tappet Boot Kit Screw

3006 / Caliper Pin

7020 / Caliper Guide & Repair Kit
ELSA 2 Type
B39x@35x30 mm

@35x128 mm MERITOR: MCK1086 / RENAULT: 5001 858 717 / DAF: 1522185 / ERF: 35503075532 / MAN: ZG002950002 / CMSK.46
M20x1,5x150 mm
4000 / Pin Bolt . O o
4900 / Washer

3500 / Pin Bush

3005/ Caliper Pin

M16x1,5x40 mm M10x1,25

20 mm

©35/33x67 mm @44x28 mm

M20x1 5x90 mm e e e
4oo1 /Pin Bolt J
iper Pi 3725
3006 / Caliper P

Hra— 4501/ Pin Cap 7096 / Pin Boot Kit 000 , SC,EW Screw

7021 / Caliper Guide & Repair Kit
D LISA Type

MERITOR: SJ4076 - MCK1104 / RENAULT: 5001 837 006 / VOLVO : 8550880 - 3098108 - 3097542 - 85103129 / DAF: 1522184 / DENNIS: 6553777 - 6565644 /| CMSK.13
@39x@35/36x47 mm

235x132 mm @35x79 mm 241x@35x30 mm
4 j‘l e e
3007 / Caliper Pin 3008 / Caliper Pin J 098 | P Soot KT
3502/ Pin Bush 3503/ Pin Bush 7 in Boot Kit
239x@35x30 mm
_ B47x@37x12 mm
M20x1,5x150 mm M20x1 5x90 mm H @45x17 mm
S -y Y
4000 / Pin Bolt 4001 IPln Bolt 4
3500 / Pin Bush 4707 | Pin Ring 4502 / Pin Cap

7022 | Caliper Guide & Repair Kit
D LISA Type

MERITOR: SJ4021/ VOLVO: 8550881 / DENNIS: 65537710

@45x17 mm
M20x1,5x150 mm M20x1,5x90 mm

4001/ Pin Bolt

4000 / Pin Bolt

4502 / Pin Cap

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE
Brake Caliper Repair Kit MERITOR

SERIES

Turkey [

7023 / Caliper Boot & Pin Repair Kit
ELSA 2 Type
MAN: 81.50802.6025 - 35.40311.2205 / IVECO: 42555201 / MERITOR: MCK1140 - MCK1243 / VOLVO: 85107912 - AMMCK1243 / RENAULT: 5001 860 791 / PACCAR: 1522058 / ZF: 0501215220 / CMSK.26
B42x331x30 mm
g3sxtaamm 231x84 mm B39x@/35x30,mm M16x1,5x40 mm M10x1,25x20 mm
f [r— ey ) e 5
—— - o %) e S
3003 / Caliper Pin 3004/ Caliper Pin i 4008/ S 3725/ Screw >
3500/ Pin Bush crew 3504 / Pin Bush
@44x28 mm P42x@37x14,5 mm
M18x1,5x90 mm &7 Z
M18x1,5x150 mm Y ( \) » (/ — )
4003 / Pin Bolt ' ; \;/ 4
i In Bol _ o
4002yjBiniBolk 4501/ Pin Cap 7096 / Pin Boot Kit 4703/ Pin Ring
b2

7023-1 Caliper Boot & Pin Repair Kit
ELSA 2 Type

MAN: 81.50802.6025 - 35.40311.2205 / IVECO: 42555201 / MERITOR: MCK1140 - MCK1243 / VOLVO: 85107912 - AMMCK1243 /| RENAULT: 5001 860 791 / PACCAR: 1522058 / ZF: 0501215220 / CMSK.26

D239xD35x30 mm
235x144 mm

231x84 mm

——

242x231/33x30 mm
M16x1,5x40 mm M10x1,25x20 mm

4008 / Screw e

3725/ Screw
3506 / Pin Bush

3003 / Caliper Pin

4/ Caliper Pi
O e 3500 / Pin Bush

244x28 mm

B42x337x14,5 mm
M18x1,5x150 mm M18x1.5x90 iy

S o
'3 } == __ - - -

==

4002 / Pin Bolt 4003 / Pin Bolt

4501/ Pin Cap 7096 / Pin Boot Kit 4703/ Pin Ring
7024 | Caliper Lever Return Spring Set - Right 7025 | Caliper Lever Return Spring Set - Left
ELSA 1 Type ELSA 1 Type

7026 / Adjusting Mechanism Shaft - Left 7026-1 / Adjusting Mechanism Shaft - Right
C-LE DUCO/D DUCO C-LEDUCO/D DUCO
MERITOR:MCK1113 / VOLV0:3092267 - 85102093

AN

MERITOR:MCK1113 / VOLVO: 3092267 - 85102093

3704

3704
Sealing Ring Small

Sealing Ring Small

3708 / Adjusting Mechanism - Left

3709 / Adjusting Mechanism - Right

3703 / Sealing Ring Big 3703 / Sealing Ring Big
L " Locks clokwise / turns freely anti - clokwise " " Locks anti - clokwise / turns freely clokwise "
www.unibrake.com.tr )/ unibrakeAutomotive (@) / unibrake_caliper
ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

Turkey [

7027 | Adjusting Mechanism Shaft - Right
C-LE DUCO /D DUCO

MERITOR: $J4103 - MCK1112 / VOLVO: 85102096 - 3092266 / CMSK.3.17

3704 / Sealing Ring Small
3709 / Adjusting Mechanism - Right

" Locks anti - clokwise / turns freely clokwise "

7028 | Adjusting Mechanism Shaft - Left
C-LE DUCO/D DUCO

MERITOR: $J4102 - MCK1111/ VOLVO: 85102095 - 3092265 / CMSK.3.16

3704 / Sealing Ring Small

3708 / Adjusting Mechanism - Left

" Locks clokwise / turns freely anti - clokwise "

7029 / Caliper Gasket Set
C-LE DUCO

MERITOR: MCK1041 / VOLVO: 3095669

&'O

3705/ Plug

3704
Sealing Ring
Small

3703 / Sealing Ring Big

3702 / Gasket

7030 / Caliper Gasket Set
D buco

MERITOR: $J4105 / VOLVO: 3092269 / CMSK.3.7

o &

3705/ Plu
9 3703 / Sealing Ring Big

3704
Sealing Ring
Small

3706 / Gasket

7031 / Caliper Gasket Set
D buco

MERITOR: $J4109 / VOLVO: 3092270 - DAF: 1522168

3704
Sealing Ring
Small

3823/ Plug 3703 / Sealing Ring Big

3707 | Gasket

7032 / Caliper Tappet & Boot Set
B DUCO/C-LE DUCO /D DUCO

MAN: STRMCK1238 / DAF: 868378 / MERITOR: MCK1238 / VOLVO: 3092264
AMMCK1238 / RENAULT: 5021 202 828

7051 / Tappet Boot Kit

-
-

3800/ Circlip

3600 / Caliper Tappet

3700 / Adjusting Mechanism Right

7033 / Caliper Adjusting Mechanism Set - Right
B DUCO/C-LE DUCO /D DUCO

MERITOR: MCK1237 - MCK1239 / VOLVO: 3092263 - 3095642 /| CMSK.4.2

7051 / Tappet Boot Kit

4708 / Plasting Bushing

4706 / Seal Big

-
-

3800
Circlip

www.unibrake.com.tr

OI UnibrakeAutomotive

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

(@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR

Turkey [
SERIES

7034 / Caliper Adjusting Mechanism Set - Left
B DUCO / C-LE DUCO /D DUCO Type

MERITOR: MCK1236 / VOLV0:3092262 / CMSK.3.2

4708 / Plastic Bushing

OO

7051 / Tappet Boot Kit

O

3701 / Adjusting Mechanism Left

3800
. Circlip
4706 / Seal Big 3600 / Caliper Tappet
. /
7035 / Calibration Mechanism Set - Right 7036 / Calibration Mechanism Set - Left
B DUCO / C-LE DUCO /D DUCO Type B DUCO/C-LE DUCO /D DUCO Type
4708 / Plastic Bushing 4011/ Caliper Tappet 4708 / Plastic Bushing 4011/ Caliper Tappet
3800 3800
Circlip Circlip
3700 3701
Adjusting Mechanism - ) Adjusting Mechanism ) ——
4706 / Seal Big 3600 / Caliper Tappet 4706 / Seal Big 3600 / Caliper Tappet
. e
- - - - ™
7037 / Caliper Guide & Bush Repair Kit
B DUCO/C-LE DUCO /D DUCO Type
MERITOR: MCK1116 / MAN: STRMCK1116 / DAF: 1489197 / RENAULT: 5021 202 776 / VOLVO: 85102094 - AMMCK1116 / CMSK.3.1
@35x102 mm @35x60 mm D240xD37x11 mm
' ) & &
b
- S — ’ .
3009 / Caliper Pin 3010/ Caliper Pin 4705/ Pin Ring 7096 / Pin Boot Kit
@39x@35x30
X x-n PN0:20 i ©39,5x@35x77 mm
M20x2x125 mm M20x2x83 mm
4004 / Pin Bolt 4005/ Pin Bolt e e - = % .
3500/ Pin Bush 4503/ Pin Cap 3505/ Pin Bush
/
7037-1 / Caliper Guide & Bush Repair Kit )
B DUCO /C-LE DUCO /D DUCO Type
MERITOR: MCK1116 / MAN: STRMCK1116 / DAF: 1489197 / RENAULT: 5021 202 776 / VOLVO: 85102094 - AMMCK1116 / CMSK.3.1
@35x102 mm @35x60 mm

D40xJ37x11 mm

3009/ Caliper Pin

—

3010 / Caliper Pin

4705/ Pin Ring

7096 / Pin Boot Kit
239x@35/36x30 mm
M20x2x125 mm

240x20 mm
M20x2x83 mm

@39,5x@35x77 mm

4004 / Pin Bolt 4005 / Pin Bolt

4503 / Pin Cap

3505/ Pin Bush
3011/ Pin Bush

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR Turkey [l

SERIES

7038 / Caliper Guide & Repair Kit
D DUCO Type

MERITOR:- MCK1118 / VOLVO: 85102092
D240x237x11 mm

e 89

e Rring 7096 / Pin Boot Kit

235x102 mm
M20x2x125 mm

— ) Se—

'23 S
T—W 4004 / Pin Bolt

3009 / Caliper Pin

D39xD35x30 mm

©40x20 mm
GEL &

3500/ Pin Bush 4503/ Pin Cap

239,5x@35x77 mm

3505/ Pin Bush

7038-1 / Caliper Guide & Repair Kit
D DUCO Type

MERITOR:- MCK1118 / VOLVO: 85102092
D240xD37x11 mm

@35x102 mm
j M20x2x125 mm
S—- - . R 'gprine 7096 / Pin Boot Kit
f - = D39x@35/36x30 mm ©39,5x@35x77 mm
) — o— b 240x20 mm ‘ LLEDS

4004 / Pin Bolt

3009 / Caliper Pin

4563 / Pin C;'ip 3505/ Pin Bush
3011/ Pin Bush

7039 / Calibration Mechanism Set
ELSA 2 Type

7040 / Caliper Boot & Pin Repair Kit
D DUCO Type

239xD35x30 mm
@35x102 mm

3500 / Pin Bush 7051 / Tappet Boot Kit

239,5x@35x77 mm

3009 / Caliper Pin

3505 / Pin Bush

.

7096 / Pin Boot Kit

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive

(@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

@
MERITOR U
SERIES

7040-1 / Caliper Boot & Pin Repair Kit
D DUCO Type
235x102 mm

~
239x@35/36x30 mm
- e

Turkey [

B

@35x102 mm

301—1 / Pin Bush 7051 / Tappet Boot Kit
[ -— - @39,5x@35x77 mm
e —
7 3008 _CallceilD - e e
3505 / Pin Bush
7096 / Pin Boot Kit
7041 / Caliper Guide & Repair Kit
B DUCO/C-LE DUCO /D DUCO
MERITOR: MCK1065 / MCK1066 / CMSK.3.14
235x102 mm @40x20 mm
i P i
L= >
| . \ |
S0g8)fCalipegiin 7096 / Pin Boot Kit 4503/ Pin Cap
7042 | Caliper Guide & Repair Kit
B DUCO /C-LE DUCO /D DUCO
MERITOR: MCK1299 / MAN: STRMCK1299 / VOLVO: 3092268 - 3095628 - 3096769 - 85107718 - AMMCK1299 / PCCR: Y07100312 / DF: 1522170

M20x2x125 mm
—— —
, :
3009/ Caliper Pin

7096 / Pin Boot Kit

4004 / Pin Bolt

240x20 m

4503 / PinEap
7043 |/ Caliper Dust Cover Kit
ELSA 2/ 195/ 225/ EX225 Type

MERITOR: 68324854PK10

7044 | Caliper Dust Cover Kit
ELSA 1 Type

MERITOR: 8T1156 / RNLT: 5001 849 886 / MAN: 81.50802.6016 - 35.50310.9502 /
VNHL: N508026022 / ZF: 0501211883 / CMSK.5.5

4012 / Dust Cover

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

4013 / Dust Cover

OI UnibrakeAutomotive

(@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

Turkey [

@
MERITOR
SERIES

7045 / Caliper Repair Kit Complete Rear - Left
D3 Type

7067 / Caliper Repair Set Rear - Left ( 26 Teeth ) 7071 / Caliper Pin Repair Kit

239 =2
-4 g

@(DQ} gh Se o= oo

7074 / Caliper Brake Lining Plate | 7228 / Caliper Lever ( 26 Teeth ) 7227

Caliper Adjusting Mechanism Spring

3775/ Washer 3777 | Washer 3776 / Spring Housing | 3773/ Seal 3774 Circlip 3831/ Circlip
coo|loocoo | QO OO O
" OLD NUMBER /7232 " 7045-1 / Caliper Repair Kit Complete Rear - Right
D3 Type

7068 / Caliper Repair Set Rear - Right ( 26 Teeth ) 7071 / Caliper Pin Repair Kit
_——
Pemeams oo

7227
Caliper Adjusting Mechanism Spring

3775/ Washer 3777 | Washer | 3776 / Spring Housing 3773 / Seal 3774 ] Circlip 3831 / Circlip

OO0 L2 )

OO0 | o O -
Www.unlbrake.com.tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

@
MERITOR Turkey HI
SERIES

7046 / Caliper Full Repair Kit Front - Right
D3 Type

7070 / Caliper Repair Set Front - Right ( 26 Teeth ) 7071 / Caliper Pin Repair Kit

E = ==xaF "

O 00 (88 5 =

7074 / Caliper Brake Lining Plate 7228 | Caliper Lever ( 26 Teeth') 7227
Caliper Adjusting Mechanism Spring

3775/ Washer | 3777 | Washer 3776 / Spring Housing 3773/ Seal | 3774/ Circlip 3831/ Circlip

OO0 | 0000 | Q1 O | OO O

" OLD NUMBER /7120 " 7046-1 / Caliper Full Repair Kit Front - Left
D3 Type
7069 / Caliper Repair Set Front - Left ( 26 Teeth ) 7071 / Caliper Pin Repair Kit
e 3
:_
25 s
é?()% ?oew-
7074 / Caliper Brake Lining Plate 7228 | Caliper Lever ( 26 Teeth) 7227

Caliper Adjusting Mechanism Spring

3775/ Washer | 3777 | Washer 3776 / Spring Housing 3773/ Seal | 3774 Circlip 3831/ Circlip

/ ) by

OO0 | 0000 | Q1 O OO
L | |

www.unlbrake.com.tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE R
Brake Caliper Repair Kit MERITOR
SERIES

Turkey [HI

7047 | Caliper Leveller

D DUCO Type

7048 | Caliper Leveller
ELSA 195-225-EX225 Type

3736 / Lever Bush

3712/ Caliper Lever

3013 / Ball Bearing

3012/ Lever Bush

3013/ Ball Bearing

3732/ Caliper Lever

7049 / Caliper Shaft Gear Set

7050 / Caliper Anti Rotation Plate
D DUCO Type
MERITOR: MCK1067 / VOLVO: 3095626 / CMSK.3.10

D DUCO Type

MERITOR: 68322900 / CMSK.3.11

3716 / Caliper Shaft Gear

3715/ Spring

B

7051 / Caliper Dust Cover Kit
B DUCO/C-LE DUCO /D DUCO Type

MN: 35.40311.2182 - 81.50802.6024 / DF: 1487339 / MRT: MCK1139 - MCK1288 / VLV: 85107913 / ZF: 0501215022 / RVI: 5006 028 414 - 5021 179 952 - 68324854PK10

4011 / Dust Cover

.

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

@
MERITOR Turkey [
SERIES ’

7052 / Caliper Adjusting Mechanism Set

- =)

4

% 5

7053 / Caliper Mechanism Cap

7056 / Adjusting Gear

ELSA 2 Type

7055 / Adjusting Mechanism

7054 | Gasket

M8x45 mm

1

3727/ Bolt

7053 / Caliper Adjusting Mechanism Cap
ELSA 2 Type

68324625 / CMSK.7.5

7054 / Caliper Adjusting Mechanism Gasket
ELSA 2 Type

7055 / Caliper Adjusting Mechanism
ELSA 2/ ELSA 195-225-EX225 Type

%

7056 / Caliper Adjusting Mechanism
ELSA 2/ ELSA 195-225-EX225 Type

2 49,5 mm

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR (%"
SERIES B

7057 | Manuel Adjusting Gear - Right
ELSA 2 Type

. “CMSK.7.11.4
\

TORKAKK

Turkey [

7058 | Manuel Adjusting Gear - Left
ELSA 2 Type

CMSK.7.11.3

ELSA 1 Type
- ¥

(7059 / Adjusting Mechanism Clutch System - Left )

7060 / Adjusting Mechanism Clutch System - Right
ELSA 1 Type

7061 / Caliper Adjusting Mechanism
ELSA 1 Type

3747 | Washer

OO O

3746 | Washer

OO0 00O

Sha3ﬂ7 éﬁa, i 3743 / Washer
.

7062 / Caliper Lever With Bearings
ELSA 2 Type

3012/ Lever Bush

— [ —

3013/ Ball Bearing

7063 / Caliper Adjusting Gear - Right
C/DLISA

MERITOR: $J4074 / vOLVO: 3098111 / DNNS: 6565652 / RNLT: 5001 845 387 / CMSK.15.1

7064 / Caliper Adjusting Gear - Left
C /D LISA Type

MERITOR: $J4073 / vOLVO: 3098110 / DNNS: 65656410 / RvI: 5001 845 386 / CMSK.15

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

Turkey [

7065 / Caliper Adjusting Mechanism - Left
C /D LISA Type

MERITOR: $J4113 / VOLVO: 3092763 / NISSAN: 69029730 / DENNIS: CASSJ4113 - DEP100073
LEYLAND: XBU1066 / RVI: 5001 856 319 / CMSK.10

. L A
ALy,

7066 / Caliper Adjusting Mechanism - Right
C /D LISA Type

MERITOR: SJ4114 / VOLVO: 3092764 / DENNIS: CASJ4114 - DEP100074 / LEYLAND: LBSJ4114 /
RENAULT: 5001 856 320 / NISSAN: 69030020 CMSK.10.2

7Y _?ﬂ:\
()

7067 | Caliper Repair Set Rear - Left
D3 Type

26 Teeth

‘ }

3763 / Bushing 3764/

7083 / Bearing Housing 7082 / Shim

7079 / Adjusting Gear Big Left

M8x40 mm

3770 / Bolt

3766 / Dust Cover

3765 / Plastic Cap Big

7225 | Caliper Adjusting Kit - Left

Plastic Cap Small

M10x1,5x50 mm

7084 / Roller Bearing

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR Turkey [l

SERIES

7068 / Caliper Repair Set Rear - Right

D3 Type
26 Teeth
M8x40 mm
M8x16 mm —
0120/ Bolt _
3770 / Bolt
7077 / Spline Shaft Right 7080 / Adjusting Gear Big Right 3766 / Dust Cover

3765 / Plastic Cap Big

3763 / Bushing 3768 / Spring Big - Left 3764 | Plastic Cap Small . ~ \

o = M101,5x50 mem

7224 | Caliper Adjusting Kit - Right

7082 / Shim 7084 / Ruller Bearing

7069 / Caliper Repair Set Front - Left
D3 Type

M8x40 mm
26 Teeth

3770/ Bolt

7079 / Adjusting Gear Big Left 3766 / Dust Cover
3765 / Plastic Cap Big
3763 / Bushing 3767 | Spring Big - Right 3764 / Plastic Cap Small
3
O g M10x1,5x50 mm
> 7225/ Caliper Adjusting Kit - Left

\___ 7083/ Bearing Housing 7082/ Shim
WWW.unlbrake.com.tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

EAL

MERITOR
SERIES

7070 / Caliper Repair Set Front - Right
D3 Type

M8x40 mm
26 Teeth

3770/ Bolt

7075 / Spline Shaft Right

7080 / Adjusting Gear Big Right 3766/ Dust Cover
3765 / Plastic Cap Big

3763 / Bushing 3768 / Spring Big - Left 3764 / Plastic Cap Small . ~

e,

7083 / Bearing Housing 7082 / Shim 7084 / Roller Bearing

M10x1,5x50 mm

7224 | Caliper Adjusting Kit - Right

7071 / Caliper Pin Repair Kit
D3 Type

MERITOR: SJ4011 - MCK1213 / MAN: 81.50802.6009 - 81.50802.6008 / MB: 000 420 0276 / DENNIS: 65507911 CMSK.1
936x332x40 my ©36x032/33x30 mm

232x117 mm ©@32x74 mm , ’ ' 237x11 mm
5 ‘ h ——
| ‘ ‘ E S i

@

\ i .
3511/ Caliper Pin 3512/ Caliper Pin 4710/ Pin Bush 4709/ P|n Bush 4504/ Pin Cap
M18x1,5x120 mm M18x1,5x90 mm
4 )
b W — &) &2
4802 / Pin Bolt 4003 / Pin Bolt
4711 / Dust Rubber 4712  Dust Cover
.
- = - - N
7072 | Caliper Pin Repair Kit D3 Type
MERITOR: SJ4001 / RENAULT: 5001 822 994 - 5001 822 998
232x117 mm @32x74 mm @37x11 mm
\ @ \g‘
i | — 3  g— —
3511/ Caliper Pin 3512 / Caliper Pin 4504 / Pin Cap fé’@ ) I )
e Y/
D 9 D> &

M18x1,5x120 mm M18x1 5x90 mm

’ ’ 4712 / Dust Cover

4711 | Dust Rubber

4802 / Pin Bolt 4003 / Pin Bolt

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

MERITOR (%"
SERIES

TORKAKK

Turkey [

7073 | Spline Shaft Cover Set
D3 Type

MERITOR: SJ1212 / MB: 000 423 0082 / MN: 81.50802.6007 / DF: 1522063 /
RNLT: 5001 831 176 / ZF: 0501208810 - 0501209883 / DNNS: 6535631 - 65507910 /
KSSBHRR: 8285388441 / RB: 650459

M8x16 mm

)}

0120 / Bolt
M8x40 mm

3765/ Plastic Cap

1]

7074 | Caliper Brake Lining Plate
D3 Type

MERITOR: 68321272 - 68320912 / MERCEDES: 000 423 0062 / MAN: 81.50822.0003
RNLT: 5001 822 997 / ZF: 0501314109 / KSSBHRR: 8285388449
RB: 746871 / ORION: F0102502DG

3766 / Dust Cover 3770/ Bolt
7075 / Spline Shaft Set Front - Right 7076 / Spline Shaft Set Front - Left
D3 Type D3 Type
CMSK.29 CMSK.28
26 Teeth -

7077 | Spline Shaft Set Rear - Right
D3 Type

26 Teeth

D3 Type

26 Teeth

7079 / Caliper Adjusting Gear Big - Left
D3 Type

CMSK.24.

7080 / Caliper Adjusting Gear Big - Right
D3 Type

CMSK.25.4

.

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR Turkey [l

SERIES

7081 / Adjusting Gear Small 7082 /| Wav Washer
D3 Type D3 Type

MERITOR: 68320133 / CMSK.24.6

i 7083 / Ball Bearing ] 7084 / Thrust Bearing
D3 Type D3 Type

CMSK.24.2 CMSK.24.7

7085 / Torsion Spring Big & Small - Right
D3 Type D3 Type

3772/ Spring Small - Right

3771/ Spring Small - Left
3767 / Spring Big - Right 3768 / Spring Big - Left

7087 | Caliper Boot & Pin Repair Kit
DX 195 Type

MERITOR: MCK1171 / ASTRA: 98133542AS / CATERPILLER: 2799440 / DAF: 1489989 / FREUEHAUF: CF104387 / RENAULT: 5021 170 885/ CMSK.8 / SCN: AMMCK1171

@32x97 mm M16x1,5x80 mm

4716 / Tappet Big Boot 4720 / Dust Rubber Small P47 [ Pin Boot

- 0802 / Pin Bolt
inside

62 mm
4714/ Caliper Pin cCIEE
236x@32x55 mm
@32x97 mm M16x1,5x55 mm @42x28 mm M12x1,75 M12x1,75 M8x1,25 M10x1,5
-- 30 mm 20 mm 20 mm 20 mm
U @@ e orr el
: L. R |
inside 4715/ Pin Bolt | OB a O
o 4721/ Cover Bolt 4722 4723 4724 4725 4726
37 mm 4718/ Pin Bush 4719/PinC Bolt  Plug Wash
L 4713/ Caliper Pin in Cap Cover Bolt  Cover Bolt 0 ug Washer|
www.unibrake.com.tr )/ unibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




i @
JMIBRAKE \pritor (7] Turkey M

SERIES

Brake Caliper Repair Kit

7088 / Caliper Boot & Pin Bolt Repair Kit

DX 195 Type
MRTR: MCK1192 / ASTRA: 98133544AS / CTRPLLR: 2799674 / DF: 1489991 / FRUEHAUF: CF104388 / RNLT: 5021 170 886 / SCANIA: 1034001 / VLV: AMMCK1192 CMSK.2.1
@42x28 mm =
M16x1,5x80 mm ' !ﬁ
. 0802 / Pin Bolt F
4719/ Pin Cap 4720 / Dust Rubber Small

M16x1,5x55 mm

4715/ Pin Bolt

—

———— .-\--"‘-.__.__r—
4716 / Tappet Big Boot

2%

4717 | Pin Boot

7089 / Spline Shaft Set Front - Right 7090 / Spline Shaft Set Front - Left
D3 Type D3 Type
CMSK.24 CMSK.25

.. 48 Teeth

3 48 Teeth

7091 / Caliper Adjusting Mechanism Cap Small 7092 / Manuel Adjusting Gear
ELSA 195-225-EX225 Type ELSA 195-225-EX225 Type

CMSK.7.11.1

7093 / Caliper Boot & Seal Set 7094 / Caliper Tappet & Boot Set
C LISA /D LISA Type ELSA 2/ ELSA 195-225-EX225 Type
S$J4061 / CMSK.54.1 MERITOR: MCK1309 / VOLVO: 85109891 / RENAULT: 5001 866 398 / CMSK.7.7

&

7043 | Tappet Boot Kit S ;‘J

7096 / Pin Boot Kit

4014 / Cover Gasket

)/ S 4 3735
A —= O - ¢ Circlip
4016 4015 "
| 4017/Dust Cover  4018/Seal 4019 /Seal 4020/sealCover 5 ) 5oy | 3734/ Caliper Tappet
WWW-unlbrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

"~ Turkey [

- \i’
- \. 8 * e - . \O -

-

7091 / Caliper Mechanism Cap

-

7056 / Adjusting Gear

7095 / Caliper Adjusting Mechanism Set
ELSA 195-225-EX225 Type

7055 / Adjusting Mechanism

7140 / Gasket

3729 / Bolt

7096 / Caliper Pin Boot Set
ELSA 195-225-EX225 / ELSA 2/ B DUCO / C-LE DUCO / D DUCO

3014/ Pin Boot

7097 / Caliper Eccentric Shaft Set
DX 195/ DX 225 Type

CMSK.2.GR

3788 / Seal

3787 | Crank

3822/ Bearing

7098 / Caliper Bridge Assembly
DX 195 Type

CMSK.19.1

163 mm

7099 / Caliper Bearing Saddle Set
ELSA 2/ ELSA 195-225-EX225 Type

3016 / Bearing Cap

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

SERIES

K
MERITOR U Turkey HI

7100 / Caliper Lever With Bearing Set
D DUCO Type

MERITOR: $J4108 / VOLVO:3092260 - 85109977 - 21109755 / DAF: 1522167 / CMSK.98.1
7013 / Roller Bearing Set

>

i fl J

3703 / Sealing Ring Big

7047 / Caliper Lever

7101 / Caliper Roller Bearing
DX 195/ DX 225 Type

7223 | Caliper Repair Set Front - Left

7102 / Caliper Full Repair Kit Front - Left

D3 Type

7071 / Caliper Pin Repair Kit

=
e

= — e e

| _A:j' —-— x '
S =< oo

="

7229 | Caliper Lever - 48 Teeth

7227 | Adjusting Mechanism Spring

o

3777 | Washer

OO000O

3775/ Washer

COCOLD

3776 / Spring Housing 3773/ Seal 3774/ Circlip 3831/ Circlip

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

EAL

7222 | Caliper Repair Set Front - Right

7103 / Caliper Full Repair Kit Front - Right
D3 Type

7071 / Caliper Pin Repair Kit

=T 3° 8

ﬂ

&=
O 00O o

— — "7l
e - oo

7074 / Caliper Brake Lining Plate

7229 | Caliper Lever - 48 Teeth

— @

7227 | Adjusting Mechanism Spring

3775 /| Washer

OO0

3777 | Washer

OO0O00O

3776 / Spring Housing

o

3773/ Seal

o

3774 Circlip

G

3831/ Circlip

N

7104 | Caliper Bearing Set
C LISA /D LISA Type

MERITOR: $J4031 / VOLVO: 8550893 / NISSAN: 69029760 / DENNIS: 6553778 - 6553779 / CMSK.14

3752 / Dust Excluder 3819 / Shaft Roller Bearing 3750 / Plain Bush

7105 / Caliper Brake Lining Plate
D LISA Type

MRTR: SJ4117 - 68321441 / vLV: 3092765 / DNNS: 65537714 / NSSN: 69029810 CMSK.11.5

7106 / Caliper Lever With Bearing Set - Left D
DUCO Type

MERITOR: SJ4096 - MCK1398 / VOLVO: 85109975 - 3092258 - 21109753 /| CMSK.3.4

-.\ﬂmlhm m

LIRS
-« j_ J

7013 / Roller Bearing

T

7108 / Caliper Lever

3703 / Sealing Ring Big

7106-1 / Caliper Lever With Bearing Set - Right
D DUCO Type

MERITOR: $J4097 - MCK1399 / VOLVO: 3092259 - 85109976 - 21109754 / CMSK.3.4

7013 / Roller Bearing

, = - y
7107 / Caliper Lever
" OLD NUMBER /7191 "

3703 / Sealing Ring Big

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR Turkey [l

SERIES

7107 | Caliper Lever With Bearings - Right 7108 / Caliper Lever With Bearings - Left
D DUCO Type D DUCO Type

3012/ Lever Bush

R

3013 / Ball Bearing

3012/ Lever Bush

—

3013 / Ball Bearing

7109 / Caliper Pin Repair Kit E
ELSA 195-225-EX225 Type

MERITOR: MCK1298 / VOLVO: 85109890 / RENAULT: 5001 866 989 / PACCAR: 9500931

M14x1,5x40 mm @39x035x30 mm M16x1,5x40 mm 242x931x30 mm
@35x117 mm @31x78 mm — <= = 4

. o’ 3 &> »f Y& D

¥ ‘ '_1 ! [}

: i ’
3950 / Caliper Pin 3952 / Caliper Pin i . - @ 4
4009 / Bolt 3500 / Pin Bush 4010/ Bolt 3504 / Pin Bush
D44x20 mm

B40x@37x11 mm

i 4801/ Pin Bolt ( {

4802/ Pin Bolt
4700/ Pin Cap 4705/ Pin Ring 7096 / Pin Boot Kit

7109-1 / Caliper Pin Repair Kit
ELSA 195-225-EX225 Type

MERITOR: MCK1298 / VOLVO: 85109890 / RENAULT: 5001 866 989 / PACCAR: 9500931

M14x1,5x40 mm @39x@35x30 mm M16x1 5x40 mm D242x331/33x30 mm
@35x117 mm @31x78 mm = -

r-_.;zﬁq Pae . N & .
\ = j

" =]

3952 ICaIlper Pin - £=—4
3950 / Caliper Pin
4009/ Bolt 3500 / Pin Bush 4010/ Bolt 3506 PIT BLLh
244x20 mm

M18x1,5x80 mm 240x@37x11 mm

OO S

’ 4801 / Pin Bolt e
4802/ Pin Bolt
inSe 4700 / Pin Cap 4705/ Pin Ring 7096 / Pin Boot Kit

M18x1,5x120 mm

7110 / Caliper Pin Repair Kit
ELSA 195-225-EX225 Type

MERITOR: MCK1317 / VOLVO: 85109889

M16x1,5x40 mm
@35x117 mm @31x117 mm B39xG35x30 mm .
e a g
3950 / Caliper Pin 3951/ Caliper Pin - @ &
3500 / Pin Bush 4010 / Bolt

M18x1 5x120 mm

242x@31x30 mm
D40xD37x11 mm @44x20 mm
4802 I Pin Bolt 3504 / Pin Bush 7096 / Pin Boot Kit 4705/ Pin Ring 4700/ Pin Cap
2
WWW-unlbrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE
Brake Caliper Repair Kit MERITOR
SERIES

7110-1 / Caliper Pin Repair Kit
ELSA 195-225-EX225 Type

MERITOR: MCK1317 / VOLVO: 85109889

Turkey [

M16x1,5x40 mm

235x117 mm @31x117 mm @39x@35x30 mm 7
3950 / Caliper Pin 3951 / Caliper Pin e e -
3500 / Pin Bush
M18x1 5x120 mm @42x931/33x30 mm (LR =L 4010/ Bolt
° g e e 2a0xpsTxil mm B44x20 mm
4705 Pin Rin i
4802 I Pin Bolt 3506 / Pin Bush 7096/ Pin Boot Kit 9 4700/ Pin Cap

7111 | Caliper Pin Repair Kit
ELSA 195-225-EX225 Type

MERITOR: MCK1254 / MN: STRMCK1254 - ZG070160007 / VLV: AMMCK1254 /| PCCR: 871054

M14x1,5x40 mm @39x035x30 mm B42xD31x30 mm
235x117 mm @31x78 mm _ . & -
E ] T
mm— 1 &= i 1
— Y @
3950/ Caliper Pin 3952/ Caliper Pin
4009 / Bolt 3500 / Pin Bush 3504 / Pin Bush
©44x20 mm @40x@37x11 mm
M18x1,5x120 mm M18x1,5x80 mm == > O Q e e
4802/ Pin Bolt 4801/ Pin Bolt : ¢ =
i 4705/ Pin Ring 7096 / Pin Boot Kit

4700 / Pin Cap

7111-1/ Caliper Pin Repair Kit
ELSA 195-225-EX225 Type

MERITOR: MCK1254 / MN: STRMCK1254 - ZG070160007 / VLV: AMMCK1254 /| PCCR: 871054
D242x@31/33x30 mm

M14x1,5x40

035)(117 mm B31x78 mm X X : mm 4 239x@35x30 mm
o ] T
- 1 t (% | i )

3950 / Caliper P|n 3952 / Caliper Pin
4009/ Bolt 3500/ Pin Bush 3506 / Pin Bush
a0 MM 240x@37x11 mm
M18x1,5x120 mm M18x1,5x80 mm W Q G e e
4802/ Pin Boll 4801/ Pin Bolt : 4
8021 Pin Bolt inee 4700/ Pin Cap 4705/ Pin Ring 7096 / Pin Boot Kit
.
7112 | Caliper Bolt Repair Kit 7113 / Caliper Bolt Repair Kit

ELSA 195-225-EX225 Type

MERITOR: MCK1310 / VOLVO: 85109892 / RNLT: 5001 866 400

ELSA 195-225-EX225 Type

MERITOR: MCK1253 / MN: STRMCK1253 / DF: 884368 / VOLVO: AMMCK1253
M16x1,5x40 mm

M18x1,5x120 mm \ ) :
M14x1,5x40 mm 7S % ‘:g I"‘f
7096 Pin Boot Kit i 4802/ Pin Bolt S
| - 4010/ Bolt
D@44x20 mm
S B44x20 mm M14x1,5x40 mm

4009 / Pin Bolt

4700/ Pin Cap 4009 / Bolt 7096 / Pin Boot Kit

4700 / Pin Cap

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

7114 | Caliper Shaft Set - Left
C / D LISA Type

MERITOR
SERIES

TORKAKK

)

Turkey [

MERITOR: MCK1021 / MCK1151 / VOLVO: 85104827 / NSSN: 69029750 /
DNNS: 6553776 / CMSK.11V

MERITOR: MCK1022 - MCK1152 / VOLVO: 85104828 / NSSN: 69030040 /

7115/ Caliper Shaft Set - Right

C /D LISA Type

DNNS: 6553784 / CAMCK1152 / CMSK.12V

-—

7116 / Calibration Mechanism Cover 7117 | Caliper Plate Repair Kit - Right
ELSA 2 Type DX 195 Type
68323564

3783 / Caliper Plate

M10x1,5x20 mm

3783/ Caliper Plate

| | 3786 / Pin Bolt Left

M10x1,5x20 mm

1

) 3781/ Pin Bolt Right
7118 / Caliper Plate Repair Kit - Left 7119 / Caliper Mechanism Central Fork & Pinion
DX 195 Type DX 195 / DX 225 Type
'CMSK.9.2 7 CMSK.19.3

: 3814

4724 | Bolt
3813/ Caliper Mechanism Central Fork Caliper Mechanism Pinion
. 4
- ™
7121 | Caliper Cover Plate Set
DX 195 / DX 225 Type
M8x1,25x20 mm
B
47231 Cover Bolt Plug Washer
3829 / Caliper Cover Plate 3778 | Gasket
( With Needle Bearing )
-
WWW.unlbrake.com.tr OI UnibrakeAutomotive (@) / unibrake_caliper
ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

MERITOR (%"
SERIES -

TORKAKK

Turkey [

7122 / Caliper Shaft Housing Set - Right
DX 195 Type

MERITOR: MCK1293 / CATERPILLAR: 2799439 / DAF: 0876053

7098 / Caliper Bridge Assembly 7117 / Caliper Bush Plate Repair Kit 7127
Right Caliper Piston & Pignon Set
- Right

il

7119 / Mechanism
Central Fork & Pinion Set

4

7123 | Caliper Shaft Housing Set - Left
DX 195 Type

MERITOR: MCK1292 / DAF: 0876052

7098 / Caliper Bridge Assembly

7118 / Caliper Bush Plate Repair Kit 7128
Left

Caliper Piston & Pignon Set
Left

.y

7119 | Mechanism
Central Fork & Pinion Set

G’
3

7124 | Caliper Adjusting Minor Repair Kit - Right
DX 195 Type

DSB5R / FRUEHAUF: CF104619 / CMSK.2.E

3792 / Adjusting Mechanism - Right

- =

3793 / Seal Green %4’//
3796 / Spring
Calibration Bolt
L 3797 | Clamp 3794 /| Washer

7125 | Caliper Adjuster Minor Repair Kit - Left

DX 195 Type

DSBS5L / FRUEHAUF: CF104620 / CMSK.2.F

3798 / Adjusting Mechanism - Left

-

3793 / Seal Green

3795

Calibration Bolt
3797 / Clamp

£ )\
=)
P =
3796 / Spring

CID

3794 | Washer

7126 / Caliper Eccentric Shaft With Ball
DX 195/ DX 225 Type

MERITOR: MCK1294 / CMSK.2R
7101 / Roller Bearing

3787 / Crank

7121/ Caliper Cover Plate Set

_TT a0

7127 | Caliper Piston & Pignon Set - Right

DX 195 Type

CMSK.19.2

3779/ Caliper Piston Right

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive

(@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

@
TORKAK
<)

Turkey [

7128 | Caliper Piston & Pignon Set - Left
DX 195 Type

CMSK.20.2

3785/ Caliper Piston Left

7129 / Small Gear Mechanism Set - Left
ELSA1/B DUCO/C-LE DUCO /D DUCO Type

VOLVO: 3092281 / 68322562 / CMSK.5.2

L8
@ — -

3

7130 / Small Gear Mechanism Set - Right
ELSA 1/B DUCO/C-LE DUCO /D DUCO Type

VOLVO: 3092280 / 68322563 / CMSK.5.3

3

7131 | Caliper Visual Indicator
B DUCO /C-LE DUCO /B DUCO Type

MERITOR: SJ4111/VOLV0:3092283 / CMSK.3.13

@16 x 80 mm

W\N\/\/ YArkTA \/I

—_

7132 / Caliper Lever With Bearings
ELSA 195-225-EX225 Type

3012/ Lever Bush

~——|

3013/ Ball Bearing

3740/ Caliper Lever

7133 / Caliper Clutch System - Right

D3 Type
CMSK.24.3
3775 | Washer
3776 / Spring Housing
3777 | Washer

3767 | Spring - Right

7134 | Caliper Clutch System - Left
D3 Type

CMSK.25.3

OO

3775 | Washer
3776 / Spring Housing

& 000

3777 | Washer
3768 / Spring - Left

G

7135 / Caliper Repair Kit
ELSA 2/ ELSA 195-225-EX225 Type

CMSK.7.4

L P 3825/ Seal
3826 / Washer

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




‘ - B Tugam
Broke Ca,.p? F,‘:,:fE MERITOR Tuirkey I

SERIES

7136 / Caliper Gasket 7137 | Caliper Gasket
ELSA 1 Type ELSA 1 Type
7138 | Caliper Gasket 7139 | Stabilizer Bar

ELSA 1 Type DX 195 / DX 225 Type

MERITOR: MCK1154 / CMSK.2.H

7140 / Caliper Gasket 7141 | Caliper Visual Indicator With Screw Set
ELSA 195-225-EX225 Type ELSA 2 Type
MERITOR: MCK1240 / RNLT: 5021 177 423 / MN: N2509990107 - 33.50307.5665
CMSK.8.13
@14 x 80 mm M16x1,5x40 mm

W\wvmwwﬂm e L

7243 | Caliper Visual Indicator

4008 / Screw
7142 | Caliper Guide & Bush Repair Kit
C LISA Type
MERITOR: $J4052 / DAF: 1522192 / RENAULT: 5001 845 385 / NISSAN: 69029720 / CMSK.54 @34x@30/31
@34x@30x26 mm 26 mm
23tttz mm ‘53“"75 mm ©42x@32x12 mm & >
¢ »
3753 / Caliper Pin ==
3754 | Caliper Pin .
. 3759 / Pin Bush 3762/ Pin Ring 3760 / Pin Bush

D42x43 mm

M18x1,5x135 mm M18x1,5x95 mm g ) @37x11 mm

3755 / Pin Bolt 3756 / Pin Bolt i\-:/ k—) u

3757 / Pin Cap 3758 / Pin Cap 7306 / Pin Boot

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

)
MERITOR Turkey [l
SERIES

7143 | Brake Pad Retainer Repair Kit
ELSA 1 Type

MERITOR: MCK1262 / MN: 81.50822.0007 / RNLT: 503128759

7144 | Brake Pad Retainer Repair Kit
C-LE DUCO /D DUCO /B DUCO Type

MERITOR: MCK1264 / VOLVO: 3092276 - 3092277 / CMSK.3.12

7145 | Caliper Visual Indicator
ELSA 195-225-EX225 Type

MERITOR: MCK1311/ VOLVO: 85109893 / RVI: 7485 109 893

3017 / Caliper Visual Indicator !

| s S
ARV

3018/ Spring

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

Turkey [l

@
runxz@w@

37,5 mm

375mn1

7012-1 / Caliper Adjusting Gear Set - Right

-t ] =

ELSA1

@ 37,5 mm

7146 | Old Model Caliper Full Repair Set - Right

Type

7002 / Caliper Boot & Pin Repair Kit

7004 / Locking Shim

7163 / Caliper Lever Return Spring Set

Right

=

7136 / Caliper Gasket

.

7060 / Adjusting Mechanism
Clutch System - Right

7014 / Caliper Bearing Set

M T
——

A

N—

375mm

375

7012 / Caliper Adjusting Gear Set - Left

002

ELSA 1

;
@ 37,5 mm

7147 | Old Model Caliper Full Repair Set - Left

Type
7002 / Caliper Boot & Pin Repair Kit

—- S e
e®@o58+

7004 / Locking Shim

7164 | Caliper Lever Return Spring Set

Left

7136 / Caliper Gasket

7059 / Adjusting

Clutch System - Left

7014 / Caliper Bearing Set

>

e

Mechanism

.‘:é

N—

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

Turkey [l

@
Tunxzm

7008-1 / Caliper Adjusting Gear Set - Right

7148 | New Model Caliper Full Repair Set Right
ELSA 1 Type

7000 / Caliper Pin Repair Kit

—H e <
SS 68
e

oo
[ —
[ —

7004 / Locking Shim 7163

Lever Return Spring Set Right

I S
=

7044 | Dust Cover Set 7138 / Caliper Gasket

s0O0000

7060 / Adjusting Mechanism Clutch
System - Right

7014 / Caliper Bearing Set

M

2

v
_— ==

7008 / Caliper Adjusting Gear Set - Left

7149 | New Model Caliper Full Repair Set - Left
ELSA 1 Type

7000 / Caliper Pin Repair Kit

H
T
[ —

7004 / Locking Shim 7164

Lever Return Spring Set - Left

-l — [ -

7044 | Dust Cover Set 7138 / Caliper Gasket

oI
O0O0000O

7059 / Adjusting Mechanism Clutch
System - Left

7014 / Caliper Bearing Set

T

2/

v

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE MERITOR

SERIES

Turkey [

Brake Caliper Repair Kit

7150 / Old Model Caliper Full Repair Set - Right
ELSA 2 Type

RENAULT 420 . . Lo
7052 / Caliper Adjusting Mechanism Set 7023 / Caliper Boot & Pin Repair Kit

. TR == o8

@ L e L
LSS se.c®

7014 / Caliper Bearing Set 7043 / Caliper Dust Cover Kit 7243 | Caliper Visual Indicator

W ™ PP ° ° IWAAAAVVWWYY
¢ afl _.-1 = By

7057 / Manuel Adjusting Gear - Right| 7099 / Caliper Bearing Saddle Set | 7167 / Caliper Rubber Plug With Rings 7175/ Caliper Seal

® 7

7150-1 / Old Model Caliper Full Repair Set - Right
ELSA 2 Type

RENAULT 420
7052 / Caliper Adjusting Mechanism Set 7023-1 / Caliper Boot & Pin Repair Kit

a B g

B W | — . e =

; i C:'—'— I -
"l ee se.cC 8

7014 / Caliper Bearing Set 7043 / Caliper Dust Cover Kit 7243 | Caliper Visual Indicator

T m AV
¢ = °° Py

7057 / Manuel Adjusting Gear - Right| 7099 / Caliper Bearing Saddle Set | 7167 / Caliper Rubber Plug With Rings 7175 / Caliper Seal

¥ lefer

L&

\®
& 4
WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

@
TORKAK
<)

Turkey [

7151 | New Model Full Repair Set - Left
ELSA 2 Type

RENAULT 420 MAN TGA

7052 / Caliper Adjusting Mechanism Set

o

-
-

P

¥

L

7023 / Caliper Boot & Pin Repair Kit

E— e |
TEe=—mm LISTEER ‘

66 ee g;}

el

7014 / Caliper Bearing Set

e W !l'

7043 / Caliper Dust Cover Kit

7243 | Caliper Visual Indicator

WYY
I e

7058 / Manuel Adjusting Gear - Left

=

7099 / Caliper Bearing Saddle Set

7167 | Caliper Rubber Plug With Rings

¥ lefer

7175/ Caliper Seal

7151-1 /| New Model Full Repair Set - Left
ELSA 2 Type

RENAULT 420 MAN TGA

7052 / Caliper Adjusting Mechanism Set

f 3’. . R
:\ at ® tA w.‘ ATk,

HILL

7023-1/ Caliper Boot & Pin Repair Kit

11 88
= NS ‘

EB & = Qi;;

@11l

7014 / Caliper Bearing Set

T

R =

7043 / Caliper Dust Cover Kit

7243 | Caliper Visual Indicator

WAV
]

7058 / Manuel Adjusting Gear - Left

&

2§;i§\'

7099 / Caliper Bearing Saddle Set

7167 / Caliper Rubber Plug With Rings 7175/ Caliper Seal

¥ lefer

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




MERITOR Yurkey HI

SERIES

Brake Caliper Repair Kit

UNIBRAKE

7152 | New Model Caliper Full Repair Set - Right
ELSA 2 Type

7171 | Caliper Adjusting Mechanism Set 7020 / Caliper Guide & Repair Kit

et 1 gee

p
Y L — e s

7014 / Caliper Bearing Set 7043 / Caliper Dust Cover Kit 7243 | Caliper Visual Indicator

T & °_ °_ VAWV
oY cme— —

7057 /| Manuel Adjusting Gear - Right | 7099 / Caliper Bearing Saddle Set | 7167 / Caliper Rubber Plug With Rings 7175/ Caliper Seal

= e& SO Ce

o
LA
i

7153 | New Model Caliper Full Repair Set - Left
ELSA 2 Type

7171/ Caliper Adjusting Mechanism Set 7020 / Caliper Guide & Repair Kit

mes B —— 1 spe
e ] ==

p
Y L — 0 e

7014 / Caliper Bearing Set 7043 / Caliper Dust Cover Kit 7243 | Caliper Visual Indicator

T & VAWV
° ° ]

” ::‘ =

7058 / Manuel Adjusting Gear - Left | 7099 / Caliper Bearing Saddle Set | 7167 / Caliper Rubber Plug With Rings 7175/ Caliper Seal

=\ e@ ——

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




U ! 2
B,,EEEED? H'?DEE MERITOR . Turkey [
SERIES

7154/ Caliper Full Repair Set
ELSA 195-225-EX225 Type

RENAULT 440
7095 / Caliper Adjusting Mechanism Set 7111/ Caliper Pin Repair Kit
- '“5. b
ﬁ :?
L -
\.
7014 / Caliper Bearing Set 7043 / Caliper Dust Cover Kit 7145 | Caliper Visual Indicator
|
M m ' JWNM‘M WYY
- _ j
7092 / Manuel Adjusting Gear 7099 / Caliper Bearing Saddle Set | 7167 / Caliper Rubber Plug With Rings 7175 | Caliper Seal

L G

O e

7154-1 | Caliper Full Repair Set
ELSA 195-225-EX225 Type

RENAULT 440
7095 / Caliper Adjusting Mechanism Set 7111-1 / Caliper Pin Repair Kit

=i
3 w ____ 00 oo
LLALLLLL | e O ==

7014 / Caliper Bearing Set 7043 / Caliper Dust Cover Kit 7145 | Caliper Visual Indicator

TH m & ° ° AL
B

7092 / Manuel Adjusting Gear 7099 / Caliper Bearing Saddle Set | 7167 / Caliper Rubber Plug With Rings 7175 / Caliper Seal

-

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE K
Brake Caliper Repair Kit MERITOR [H[

SERIES

7155 | Caliper Full Repair Set - Right
D LISA Type

7021 / Caliper Guide & Repair Kit 7105 / Caliper Brake Lining Plate

L. '
I e o

7063 / Adjusting Gear 7104 / Caliper Bearing Set 7066 / Adjusting Mechanism 7115/ Caliper Shaft Set - Right
Right Right
T
(14D
4017 / Dust Cover 4018 / Seal 4019 / Seal 4020/ Seal Cover | 4016 Plug 4015
Seal

S O | O © |8

7156 / Caliper Full Repair Set - Left
D LISA Type

7021/ Caliper Guide & Repair Kit 7105 / Caliper Brake Lining Plate
— — 22 =S
)
e s o
=
e 99 ﬂ*i ]

7064 / Adjusting Gear 7104 / Caliper Bearing Set 7065 / Adjusting Mechanism 7114 |/ Caliper Shaft Set - Left
Left Left

(

4017 / Dust Cover 4018 / Seal 4019 / Seal 4020 / Seal Cover | 4016 Plug | 4015
Seal

S O O © |8

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repa

ir Kit

MERITOR
SERIES

7087 / Caliper Boot & Pin Repair Kit

=r=ffeoces

| B B B ] I | ([} i\

7157 | Caliper Full Repair Set - Right

DX 195 Type

7097 / Caliper Eccentric Shaft Set

7098 / Caliper Bridge Assembly

7117 | Caliper Plate Repair Kit
Right

@ e
% P s S ; ‘

_hl

7124 | Caliper Adjusting Minor Repair Kit
Right

e

L e |

7127 | Piston & Pignon Set
Right

7119

Mechanism Central Fork & Pinion Set

v

7101

Caliper Roller Bearing 80 mm

7190 / Caliper Shaft Lever

3829 / Caliper Cover Plate
( With Needle Bearing )

7185 7184
Caliper Seal | Caliper Eccentric
Shaft Dust Cover

3830
Caliper Eccentric
Shaft Bevel Washer

@

7087 / Caliper Boot & Pin Repair Kit

— OO OO
E=tr=Fffeocese

E R R B N ([} i |

7158 | Caliper Full Repair Set - Left

DX 195 Type

7097 / Caliper Eccentric Shaft Set

7098 / Caliper Bridge Assembly

O
O

7119

Mechanism Central Fork & Pinion Set

¥

7101

Caliper Roller Bearing

7190 / Caliper Shaft Lever
80 mm

3829 / Caliper Cover Plate
( With Needle Bearing )

7128 | Piston & Pignon Set
Left
7185 7184
Caliper Seal Caliper Eccentric

Shaft Dust Cover

-

3830
Caliper Eccentric
Shaft Bevel Washer

O

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive

(@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR

TORKAKK

Turkey [

SERIES

7038 / Caliper Guide & Repair Kit

7159 /| Caliper Full Repair Set - Right
D DUCO Type

s "

7033 / Caliper Adjusting Mechanism Set - Right

3707 / Gasket 7027 / Adjusting Mechanism 7130 / Small Gear
Shaft - Right Mechanism Set - Right
~— -
8~
3703 3823 7131 7170 / Caliper Bearing Set
Sealing Ring Plug Caliper Visual Indicator

@16 x B0 mm

WA

it i

— _—_ e

7038-1 / Caliper Guide & Repair Kit

7159-1 | Caliper Full Repair Set - Right
D DUCO Type

e -

7033 / Caliper Adjusting Mechanism Set - Right

3707 / Gasket 7027 | Adjusting Mechanism 7130 / Small Gear 7049 / Caliper Shaft Gear Set
Shaft - Right Mechanism Set - Right
3703 3823 7131
Sealing Ring Plug Caliper Visual Indicator
@16 x B0 mm |
I 1
-!# — =a =

www.unibrake.com.tr

OI UnibrakeAutomotive

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

(@) / unibrake_caliper




UNIBRAKE

TORKAKK

Brake Caliper Repair Kit

MERITOR
SERIES

Turkey [

7038 / Caliper Guide & Repair Kit

7160 / Caliper Full Repair Set - Left
D DUCO Type

7034 / Caliper Adjusting Mechanism Set - Left

7028 / Adjusting Mechanism

3707 / Gasket 7129 / Small Gear
Shaft - Left Mechanism Set - Left
. -
® -~
3703 3823 7131 7170 / Caliper Bearing Set
Sealing Ring Plug Caliper Visual Indicator

D16 B0 mm

oy | G
— = ¢ =y

v

—

— .
= —

7160-1 / Caliper Full Repair Set - Left
D DUCO Type

7038-1 / Caliper Guide & Repair Kit

7034 / Caliper Adjusting Mechanism Set - Left

7028 / Adjusting Mechanism

3707 / Gasket 7129 / Small Gear
Shaft - Left Mechanism Set - Left
- -
® —<
3703 3823 7131 7170 / Caliper Bearing Set
Sealing Ring Plug Caliper Visual Indicator

@16x 80 mm

WA
e

S

——— e,

-
= by

T
¢ B o=

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

TORKAKK

Turkey [

7037 / Caliper Guide & Bush Repair Kit

) e S @
g et ee

7161 / Caliper Full Repair Set - Right
D DUCO Type / VOLVO

7033 / Caliper Adjusting Mechanism Set - Right

3706 / Gasket 7027 | Adjusting Mechanism 7130 / Small Gear 7049 / Caliper Shaft Gear Set
Shaft - Right Mechanism Set - Right
L A 3 3 (O (0]
= -
3703 3705 7131 7014 / Caliper Bearing Set
Sealing Ring Plug Caliper Visual Indicator

@16 x 80 mm |
I 1

9 &' | MWW T _s/m" v

’E :h-—~ % j Y =

7037-1/ Caliper Guide & Bush Repair Kit

am @ ee

7161-1 / Caliper Full Repair Set - Right
D DUCO Type/ VOLVO

7033 / Caliper Adjusting Mechanism Set - Right

3706 / Gasket 7027 | Adjusting Mechanism 7130 / Small Gear 7049 / Caliper Shaft Gear Set
Shaft - Right Mechanism Set - Right
% 33 00) o
P -
® —<S
3703 3705 7131 7014/ Caliper Bearing Set
Sealing Ring Plug Caliper Visual Indicator
@16 x 80 mm |
I 1
9 &'o | W Tm /m”‘ v
— s == ‘

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive

(@) / unibrake_caliper




UNIBRAKE MERITOR .

SERIES

Turkey [

Brake Caliper Repair Kit

7162 / Caliper Full Repair Set - Left

D DUCO Type/ VOLVO
7037 / Caliper Guide & Bush Repair Kit 7034 / Caliper Adjusting Mechanism Set - Left

= — e U
__N L KX JF § ( ¥ S

3706 / Gasket 7028 / Adjusting Mechanism 7129 /| Small Gear 7049 / Caliper Shaft Gear Set
Shaft - Left Mechanism Set - Left
R 3 G ‘ (O (@
"G g
3703 3705 7131 7014 / Caliper Bearing Set

Sealing Ring Plug Caliper Visual Indicator
@16 x 80 mm |
I 1

9 &'o | W T /m" v

7162-1 / Caliper Full Repair Set - Left

D DUCO Type / VOLVO
7037-1/ Caliper Guide & Bush Repair Kit 7034 / Caliper Adjusting Mechanism Set - Left

3706 / Gasket 7028 / Adjusting Mechanism 7129 / Small Gear 7049 / Caliper Shaft Gear Set
Shaft - Left Mechanism Set - Left

< 3 g ‘ (0)) @

®—<

3703 3705 7131 7014 / Caliper Bearing Set
Sealing Ring Plug Caliper Visual Indicator
@16 x 80 mm |
S eo| i | TP T
———h AT *
WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

@
TURKAIK

Turkey [

7163 | Caliper Lever Return Spring Set - Right

ELSA 1 Type
CMSK.5.12
K 3 _
I-I/
3832 3833
Lever Pin Lever Spring Retainer
y
7024
Lever Return Spring / Right 3834

Mechanism Adjuster Bracket D,

7164 |/ Caliper Lever Return Spring Set - Left
ELSA 1 Type

CMSK.5.11

3832 3833
Lever Pin Lever Spring Retainer

P

7025 -
Lever Return Spring / Left 3834
Mechanism Adjuster Bracket

7165 / Caliper Rubber & Screw Set
ELSA 2 Type

MERITOR: MCK1244 / RENAULT: 5001 858 718 - 5001 860 792 / CMSK.7.15
D244x28 mm

3705 / Plastic Plug

7043 / Tappet Boot Kit

4501/ Pin Cap

M16x1,5x40 mm

L
i

4008 / Screw

7175/ Seal 7096 / Pin Boot Kit

7166 / Caliper Rubber & Screw Set
ELSA 2/ ELSA 195-225 Type

MERITOR: MCK1088 / MAN:35.50307.5636 - N2965026008 / CMSK.46.1

7096 / Pin Boot Kit

'O

3705 / Plastic Plug

7043 / Tappet Boot Kit

7175/ Seal

7167 | Caliper Rubber Plug With Rings
ELSA 2/ ELSA 195-225-EX225
B DUCO/C-LE DUCO /D DUCO Type

PO O e
3704

3705/ Plastic Plug Pii8I§i7ng Sealing Ring
Small

7168 | Caliper Adjusting Mechanism Cap Big

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

®
MERITOR Turkey [l
SERIES

7169 | Manuel Adjusting Gear 7170 / Caliper Bearing Set
ELSA 195-225-EX225 Type D DUCO / ELSA 2 Type
CMSK.7.11.2 MERITOR: SJ4098 / VOLVO: 3092261 / CMSK.98.3

3736 / Lever Bush

i >
> "‘j’l . w .
e l

3710/ Roller Bearing 3013/ Ball Bearing

7171 | Caliper Adjusting Mechanism Set
ELSA 2 Type

i e i,
—— S

Complete Set

7116 / Calibration Mechanism Cover 7172/ Caliper Adjusting Mechanism

7039 / Gasket
M8x45 mm
7173 | Caliper Adjusting Gear
3727/ Bolt
7172 | Caliper Adjusting Mechanism i 7173 | Caliper Adjusting Gear Single
ELSA 2 Type ELSA 2 Type

2 47 mm

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




g 8
UNIBRAKE | o 1or ) Turkey HI

SERIES

Brake Caliper Repair Kit

7174 | Caliper Lever With Bearings 7175 | Caliper Seal
ELSA 195-225-EX225 Type ELSA 195-225-EX225 / ELSA 2 Type

3738/ Bushing

s s

3013/ Ball Bearing

7176 | Caliper Seal \ 7177 | Brake Pad Retainer Repair Kit
ELSA 2 Type ELSA 195-225-EX225 /| ELSA 2 Type
MERITOR: 68323746PK10 MERITOR: MCK1174 / VOLVO: 85107958 / RENAULT: 5001 858 719 - 5001 866 486

MAN: 81.50822.0014 - 06.01771.8107 - 35.50307.5700 / DAF: 868303
IVECO: 503131342/ ZF: 0501321591 / CMSK.44.12

7178 | Caliper Boot & Seal Set
C LISA /D LISA Type

MERITOR: SJ4078 - SJ4032 / VOLVO0:3098113 - 3097526 - 8550895 / DENNIS: 6565643 - 6553773 / DEP100080 / CMSK.7

8 O -

4016 / Plug 4019 / Seal 4020 / Seal Cover 7096 / Pin Boot Kit
£ N 'v" . o e
4014 / Cover Gasket o
4015 7212/ Pin Boot Kit

Seal 4018/ Seal 4017 / Dust Cover

7179 | Caliper Boot & Seal Set

C LISA Type
4015/ Seal 4016 / Plug
4017 / Dust Cover
- - . ,
4020 / Seal Cover 4018 / Seal 4018 / Seal 3761 / Pin Boot
WWW-ur"brake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

TORKAKK
e

7180 / Caliper Pin Boot Set
D LISA/BDUCO/C-LE DUCO /D DUCO/C LISA Type

MERITOR: $J4077 / DENNIS: 6565644 / VOLV0:3098109 / DAF: 1524607

7096 / Pin Boot Kit

7212/ Pin Boot Kit

.

7181 | Caliper Brake Lining Plate
C LISA Type

7182 |/ Caliper Shaft Adjustment Mechanism
C LISA / DLISA Type

MERITOR: 68915080 - 68915081 / DENNIS: 6565645 - 6565646

- @

7183 | Caliper Boot Repair Kit
DX 195 Type

\/! \_/! - s
4717 | Pin Boot O o
@ @ 4720 / Dust Rubber Small

4716 / Tappet Big Boot

7184 | Caliper Eccentric Shaft Dust Cover
DX 195/ DX 225 Type

-

7185 / Caliper Seal
DX 195/ DX 225 Type

7186 | Caliper Shaft Housing Set - Right

DX 195 Type
7119

DSL6R / CMSK.19
Mechanism Central Fork & Pinion Set

i

7127 | Caliper Piston & Pignon Set

7098 / Caliper Bridge Assembly

7187 | Caliper Shaft Housing Set - Left

DX 195 Type

DSL6L / CMSK.20
7119

Mechanism Central Fork & Pinion Set

[
(]

7128 / Caliper Piston & Pignon Set

7098 / Caliper Bridge Assembly

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




Brake Callper' F!epam K|t

MERITOR
SERIES

@
TURKAIK

Turkey [l

7188 | Caliper Mechanism Repair Kit - Right
DX 195 Type

MERITOR: MCK1291 / CATERPILLAR: 2799438 / DAF: 0876051
7124 | Caliper Adjusting Minor Repair Kit - Right 7119

Mechanism Central

Fork & Pinion Set

o
N

7189 / Caliper Mechanism Repair Kit - Left
DX 195 Type

MERITOR: MCK1290 / DF: 0876050
7125/ Caliper Adjusting Minor Repair Kit - Left 7119

Mechanism Central
- - P L

Fork & Pinion Set

9
N

7190 / Caliper Shaft Lever / 80 mm
DX 195/ DX 225 Type

MERITOR: MCK1160 / MN: N2509990221 - STRMCK1160 / DF: 1675768 / VLVO:AMMCK1160 / RNLT: 5021 139 150 - 5021 170 882

7192 | Caliper Bearing Set
DX 195/ DX 225 Type

MRTR: MCK1344 /| ASTRA: 98133545AS / CTRPLLR: 3429202 / BRDMNRNBS: 193107 / CMSK.2.D

3822 / Roller Bearing

3791/ Bushing |

7101 / Roller Bearing

7193 / Caliper Bushing Kit
DX 195/ DX 225 Type

3791/ Bushing

7194 | Caliper Washer Set
DX 195/ DX 225 Type

OO0 00

7195 | Brake Pad Retainer Repair Kit
DX 195/ DX 225 Type

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

= - A
- i
OO0 || (
3830 / Washer
www.unibrake.com.tr @/ UnibrakeAutomotive

(@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR

BEePs aaNZ
Turkey [l
7196 / Caliper Boot & Pin Repair Kit
DX 225 Type
MERITOR: MCK1172 / BREDAMENARINIBUS: 193108
©235x98 mm M8x1,25 M10x1,5
M18x2,5x90 mm 20 mm ?0 mm
O &6 o | |
P iR
inside 3801 / Pin Bolt = = 4723 4724
68 mm 3805 / Dust Cover Big 3803 / Dust Cover Bolt Bolt
3798/ Caliper Pin Small 3778/ Gasket 2
239x@35x50 mm M12x1,75 M12x1,75
235x98 mm M18x2,5x55 mm 242x31 mm - - 30 mm 20 mm
h < " , = = E R B R BB
inside 3802/ Pin Bolt - O
L in Bo 3804 / Seal ) 4725 4726
35mm ea 3806/ Pin Cap 3807 47211 Cover Bolt 43702: Plug Washer
3799 / Caliper Pin Pin Bush
7197 | Caliper Boot & Pin Bolt Repair Kit 7198 | Caliper Boots Repair Kit
DX 225 Type / MRTR: MCK1193 / BRDMNRNBS: 193102 DX 225 Type
@42x31 mm
N— NS—— 5406 JiPin Cap 3803/ Dust Cover Small
3803 / Dust Cover Small
M18x2,5x55 mm o o
3802/ Pin Bolt
M18x2,5x90 mm
_ = 3805/ Dust Cover Big
3801/ Pin Bolt 3805/ Dust Cover Big
7199 / Caliper Shaft Housing Set - Right
DX 225 Type
7211/ Caliper Bridge Assembly o9
Mechanism Central Fork &
Pinion Set
169 mm

T

i —
icpm—

5
=

7203 / Caliper Bush Plate Repair Kit - Right

7205 / Caliper Piston & Pignon
Set - Right

i

= 8

7200 / Caliper Shaft Housing Set - Left
DX 225 Type
7119
7211/ Caliper Bridge Assembly Mechanism Central Fork &
Pinion Set
169 mm

o m——
S com—

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

7204 / Caliper Bush Plate Repair Kit - Left

=0

7206 / Caliper Piston & Pignon
Set - Left

i

OI UnibrakeAutomotive

(@) / unibrake_caliper




® K
IBRAKE MERITOR (%) Turkey HI

SERIES &

Brake Caliper Repair Kit

7201 / Caliper Shaft Housing Set - Right
DX 225 Type

7211/ Caliper Bridge Assembly 7119 / Mechanism Central Fork & Pinion Set 7205 / Caliper Piston & Pignon Set - Right

> il

169 mm

7202 | Caliper Shaft Housing Set - Left

DX 225 Type
7211/ Caliper Bridge Assembly 7119 / Mechanism Central Fork & Pinion Set 7206 / Caliper Piston & Pignon Set - Left
169 mm .
7203 / Caliper Bush Plate Repair Kit - Right 7204 | Caliper Bush Plate Repair Kit - Left
DX 225 Type DX 225 Type

M10x1,5x20 mm

3781 / Pin Bolt - Right 3786 / Caliper Bolt - Left
é - 0 ‘ L= J 4 - 0 ( LN )
) 3808 / Caliper Plate o S 3808 / Caliper Plate o
7205 / Caliper Piston & Pignon Set - Right 7206 / Caliper Piston & Pignon Set - Left
DX 225 Type DX 225 Type

3811/ Caliper Piston Right 3828 / Caliper Piston Left

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

Turkey [

@
TORKAK
<)

7207 | Caliper Adjuster Minor Repair Kit - Right
DX 225 Type

< o @i
- -3 L’

3816 / Adjusting Mechanism - Right

SSLSS

3793 3795 3796/Spring 3794/ wash
L 3797 Clamp Seal Green Calibration Bolt asher

\Ex

7208 / Caliper Adjuster Minor Repair Kit - Left
DX 225 Type

3796 / Spring

3797 / Clamp 3793 3795 3794 / Washer

Seal Green _Calibration Bolt

7209 / Caliper Adjuster Repair Kit - Right
DX 225 Type

7119
Caliper Mechanism
Central Fork & Pinion

@

S2dsS |

7207 / Caliper Adjuster Minor Repair Kit - Right

\._E_...

7210 / Caliper Adjuster Repair Kit - Left
DX 225 Type

7119
Caliper Mechanism
Central Fork & Pinion

=9

S2SdsS |

7208 / Caliper Adjuster Minor Repair Kit - Left

\._i‘

7211 | Caliper Bridge Assembly
DX 225 Type

169 mm

7212 | Caliper Pin Boot Kit
ELSA 1/D LISA Type

SJ4053

3015/ Pin Boot

7213 | Calibration Mechanism Set
B DUCO Type

MERITOR: MCK1050 / VOLVO: 3095646 / CMSK.52.16

7214 | Caliper Lever With Bearings - Right
C-LE DUCO Type

3012/ Lever Bush

— —

3013/ Ball Bearing

3721/ Caliper Lever - Right

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR (%"
SERIES B

TORKAKK

Turkey [

7215 | Caliper Lever With Bearing Set - Right
C-LE DUCO Type

MERITOR: MCK1128 / VOLVO: 85102098 - 85109979 / CMSK.56.3

7013 / Roller Bearing

T

7214/ Caliper Lever 3703 / Sealing Ring Big

7216 / Caliper Lever With Bearings - Left
C-LE DUCO Type

3012/ Lever Bushing

3013 / Ball Bearing

3722/ Caliper Lever - Left

.

7217 | Caliper Lever With Bearing Set - Left
C-LE DUCO Type

MERITOR: MCK1127 / VOLVO: 85102097 - 85109978 / CMSK.56.2

®p

7013/ Roller Bearing

T o

7216 / Caliper Lever 3703 / Sealing Ring Big

7218 | Caliper Lever With Bearings
B DUCO Type

3012/ Lever Bushing

— =

3013/ Ball Bearing

3723 / Caliper Lever

7219 / Caliper Lever With Bearing Set
B DUCO Type

MERITOR: MCK1048 / CMSK.52.3

7013/ Roller Bearing

T

7218/ Caliper Lever

3703 / Sealing Ring Big

7220 / Intermediat Gear & Spring Set
C-LE DUCO Type

MERITOR: MCK1129 / VOLVO: 85102099 / CMSK.56.10

U0 (S

3720/ Spring
3718 / Spring

T— v

) =

3719/ Caliper Shaft Gear

se

7221 | Tappet Anti Rotation Plate
C-LE DUCO Type

MERITOR: 68322485/ CMSK.6.11

v —
-

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR Turkey [l

SERIES

7222 | Caliper Repair Set Front - Right
D3 Type

M8x40 mm
48 Teeth
M8x16 mm —
0120/ Bolt _
3770/ Bolt
7089/ Spline Shaft - Right 7080 / Adjusting Gear Big - Right 3766/ Dust Cover
3765 / Plastic Cap Big
A S
3763 / Bushing 3768 / Spring Big - Left 3764 / Plastic Cap Small
&
o e M10x1,5x50 mm
g 7224 | Caliper Repair Kit - Right
7082 / Shim 7084 / Roller Bearing

7223 | Caliper Repair Set Front - Left
D3 Type

M8x40
48 Teeth e

3770/ Bolt

7079 / Adjusting Gear Big - Left 3766 / Dust Cover
3765 / Plastic Cap Big

3764 | Platic Cap Small . .

7225 | Caliper Repair Kit - Left

.

3763 / Bushing

3

M10x1,5x50 mm

\___ 7083/ Bearing Housing 7082 / Shim 7084 / Roller Bearing

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

Turkey [

®
TORKAK
<)

7224 | Caliper Adjusting Gear Kit - Right
D3 Type

3837 / Rubber Cap

3772/ Spring Small Right

3835
Manual Adjuster Gear

3836 / Washer

M10x1,5x50 mm
3838 / Adjuster Bolt

7225 | Caliper Adjusting Gear Kit - Left

D3 Type
M10x1,5x50 mm

3835 3837 / Rubber Cap
3838 / Adjuster Bolt

Manual Adjuster Gear

-

3836 / Washer

3771 ISprlng Small Left

7226 |/ Caliper Seal Kit
D3 Type

O OO0
OO0 OO0

3773/ Caliper Seal

QDT COCOCH
CAE 2 DK 26 J |

7227 | Caliper Adjusting Mechanism Spring
D3 Type

MERITOR: 68321507 - 68321508 - 31932070 / MAN: 81.50812.0011 /
VOLVO: 2111686 - 82854415090

3774 | Circlip
7228 | Caliper Lever - 26 Teeth \ 7229 | Caliper Lever - 48 Teeth
D3 Type D3 Type

MERITOR: 68321502 / MAN: 81.50812.0009 / VOLVO: 10552713

Ry

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




Brake Caliper R;:)aih Kit

MERITOR
SERIES

rikev [l

68 mm

35mm

7196 / Caliper Boot & Pin Repair Kit

o — OO OO

7230/ Caliper Full Repair Set - Right
DX 225 Type

7097 / Caliper Eccentric Shaft Set

a O

7211 / Caliper Bridge Assembly

169 mm

7203 / Caliper Bush Plate Repair Kit

7207 / Caliper Adjuster Minor Repair Kit | 7205/ Caliper Piston &

7119

-

Right Right Pignon Set - Right Caliper Mechanism Central Fork & Pinion
fammm P -
Som— o eSS -
- B W (O I 9 '
- T .- OO
7101 7190 / Caliper Shaft Lever 3829 / caliper Cover Plate 7185 7184 3830
Caliper Roller Bearing 80 mm ( With Needle Bearing ) Caliper Seal Caliper Eccentric Caliper Eccentric
Shaft Dust Cover

Shaft Bevel Washer

68 mm

35mm

7196 / Caliper Boot & Pin Repair Kit

o m— OO OO

7231/ Caliper Full Repair Set - Left
DX 225 Type

7097 / Caliper Eccentric Shaft Set

-

=L

&
N—rt

a O

7211/ Caliper Bridge Assembly

169 mm

&

Shaft Dust Cover

7204 / Caliper Bush Plate Repair Kit | 7208 / Caliper Adjuster Minor Repair Kit | 7206 / Caliper Piston & 7119
Left Left Pignon Set - Left Caliper Mechanism Central Fork & Pinion
Y -— o A e
fammam N — Q a3
-n BT (DO I ao
- T e O D
7101 7190 / Caliper Shaft Lever 3829 / caliper Cover Plate 7185 7184 3830
Caliper Roller Bearing 80 mm ( With Needle Bearing ) Caliper Seal Caliper Eccentric Caliper Eccentric

Shaft Bevel Washer

www.unibrake.com.tr

OI UnibrakeAutomotive

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

(@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

@
TORKAK
<)

Turkey [

235x144 mm
M1 8x1,5x150 mm

4002 I Pin Bolt
3003 / Caliper Pin

231x84 mm
M18x1,5x90 mm

3004/ Caliper Pin 4°°3 /Pin Bolt

D244x28 mm

— = 8

4501 / Pin Cap

7233 | Caliper Pin Repair Kit
ELSA 2 Type

MERITOR: MCK1289 / MAN : 81.50802.6026

@42x231/32x45 mm
. 242x@37x14,5 mm

&
4

4703/ Pin Ring

7096 / Pin Boot Kit

3821 / Pin Rubber Bush
M16x1,5x40 mm

4008 / Screw

239xD35x30 mm

3500 / Pin Bush

7234 | Caliper Roller Bearing Set
ELSA 195-225-EX225 Type

\’;. ’ﬁ [— 3738/I.JleveriBushing ]

7013 / Roller Bearing Set 3013/ Ball Bearing

7235 | Brake Pad Retainer Repair Kit
D3 Type

MB: 356 421 0046 / 68320550 - 68323027 / DNNS: 6550793 KSSBHRR : 8285388450
MAN : 81.50822.0001 - 81.50822.0010

7236 | Mechanism Clutch System - Right
ELSA 1 Type

7237 | Mechanism Clutch System - Left
ELSA 1 Type

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

7238 | Caliper Gasket 7239 |/ Calibration Gear Bushing
DX 225 Type ELSA 1 Type
WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

Turkey [

@
TORKAK
<)

7240 / Calibration Gear Bushing
ELSA 1 Type

237,5 mm

-

o

@n

7241 | Calibration Mechanism Right

ELSA 1 Type
MCK1212
7061 / Caliper Adjusting Mechanism 7236 /| Mechanism Clutch System 3832 3833
Right Lever Pin Lever Spring
Retainer
= % i
= OO L2 2
7242 | Calibration Mechanism Left
ELSA 1 Type
MCK1211
7061 / Caliper Adjusting Mechanism 7237 | Mechanism Clutch System 3832 3833
Left Lever Pin Lever Spring
Retainer
= B
g O O C L 2
l 800000 |

7243 | Caliper Visual Indicator
ELSA 2 Type

@14 x 80 mm

A
]

7244 | Brake Pad Retainer Repair Kit
B DUCO Type

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




© @
UNIBRAKE | o 1or ) Turkey HI

SERIES

7245 | Mechanism Clutch System - Right 7246 | Mechanism Clutch System - Left
ELSA 1 Type ELSA 1 Type

Brake Caliper Repair Kit

7247 | Caliper Leveller - Right 7248 | Caliper Leveller - Left
ELSA 1 Type ELSA 1 Type

3736/ Lever Bush

3736 / Lever Bush

— — ]

3839 / Caliper Lever 3013 / Ball Bearing 3013 / Ball Bearing
3840/ Caliper Lever

7249 | Caliper Repair Kit 7250 / Caliper Leveller
ELSA 2/ ELSA 195-225-EX225 ELSA 195-225-EX225 Type
B DUCO / C-LE DUCO / D DUCO Type

MERITOR: MCK1352 / MST1504 / 68324331 / 68130055

A2 T Pz

3841 / Lever Bush

— i —

3842/ Caliper Lever 3013/ Ball Bearing

7251 | Caliper Guides & Seals Repair Kit
D DUCO Type

DAF: 1522166 / MERITOR: MCK1135 - SJ4107 / VOLVO: 3092256 - 3096788 - 85103891
D240x237x11 mm

. i - J . 470aIPIn\EING 7096 / Pin Boot

f T = ©39x@35/36x30 mm @39x@35x38 mm
| — — 240x20 mm

s _— . 4004/ Pin Bolt g .

3009 / Caliper Pin

3011/ Pin Bush 4503/ Pin Cap 3843 / Pin Bush

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

TORKAKK

Turkey [

7252 | Caliper Lever With Bearings
ELSA 2 Type

3736 / Lever Bush

— —

3013/ Ball Bearing

3733/ Caliper Lever

" OLD NUMBER /7115-1 ",

7253 | Caliper Circlip Set
D3 Type

C IQEEV LT D
COC O>C >C >C >

3774 Circlip

7254 | Caliper Seal Kit
D3 Type

COCOOO
COOOO

3773

Caliper Seal

7255 | Caliper Circlip Kit
D3 Type

\-'a_-._/?‘ ' é(\\gb/’) 2 \v g

X\-«a_-/"f i \%_.'/"’ : \\&a_—/ﬁ \\\‘a—/v \‘\na_// ;
3831
Circlip

228x96/64 mm M14x1,5x70 mm

ey

o™ St 3845/ Pin Bolt
3844 / Caliper Pin

3846 / Pin Bush

7256 | Caliper Guide & Bush Repair Kit
DX 175 Type

MERITOR: MCK1170
B32x228x24,80 mm

N - > > >

-

‘1 =
N == —
P

3847 / Dust Cover 3848 | Gasket 3849 4726

Bolt Washer
228x96/44 ©37x25 mm M10x1,5x25 mm MEXI25 Mext2s  M10x15
X uelee M14x1,5x50 mm - N 16 mm 20 mm
~—— = ah g N
: - B = =
[ ———— | ‘k : ;'J L = x4
—— 3851/ Pin Bolt )
3850 / Caliper Pin 3852/ Dust Cover 3853 / Pin Cap 3854/ Bolt 3855/Bolt 3856 /Bolt 3857/ Bolt
7257 | Caliper Guide & Bush Repair Kit 7258 | Caliper Repair Kit
DX 175 Type DX 175 Type
@37x25 mm
228x96/64 mmw M14x1,5x70 mm B -~ @37x25 mm
= &= . e
A ' 7 & >
- —— 3845 / Pin Bolt e 7 Q Q CL i 0 @
3844 / Caliper Pin R0 3853 / Pin Cap LEP § -
@32x@28x24,80 mm 3852/ Dust Cover 3853/Pin Cap 3847 / Dust Cover
- — M8x1,25
©28x96/44 mm M10x5xggmm M8x1,25  M10x1,5  “5g oy
e M14x1,5x50 mm i i - 16 mm 20 mm
- < ol
" f ".ae - - -
(e g omgliomny LI ’ <
e 3851/ Pin Bolt
3850 / Caliper Pin in Bo 3854 / Bolt 3856 3857 3855 3849 4726
3846 / Pin Bush Bolt Bolt Bolt Bolt Washer

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

7259 | Caliper Repair Kit
DX 175 Type

MERITOR: MCK1191

S2esy

3847 / Dust Cover

3852 / Dust Cover

@37x25 mm

M14x1,5x70 mm M14x1,5x50 mm

7260 / Caliper Repair Kit
DX 175 Type

[
e

3858 / Dust Cover

e w 3847 / Dust Cover 3852 / Dust Cover
N ——
3845/ Pin Bolt 3851/ Pin Bolt < /J L‘
3853 / Pin Cap
7261 | Caliper Dust Cover 7262 | Caliper Seal
DX 175 Type DX 175 Type

QO
OO

3859 / Seal

7263 | Caliper Bridge Assembly
DX 175 Type

7264 | Caliper Mechanism Central Fork & Pinion
DX 175 Type

3861

3860 Caliper Mechanism Pinion
Caliper Mechanism Central Fork

7265 |/ Caliper Pistons & Pinion Kit - Right
DX 175 Type

i
-

| =y

3864 / Pinion Gear

3862
L Caliper Piston Right

7266 / Caliper Pistons & Pinion Kit - Left
DX 175 Type

3863 3864 / Pinion Gear
Caliper Piston Left

iy

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

Turkey [

@
MERITOR
SERIES

7267 | Caliper Plate Repair Kit - Right 7268 | Caliper Plate Repair Kit - Left
DX 175 Type DX 175 Type

e 4 B P . : .
3865/ Caliper Plate l ‘ 3865 / Caliper Plate l ‘
| 3855/ Bolt | l 3855 / Bolt

3866 / Calibration Bolt - Right 3867 / Calibration Bolt - Left

7269 / Caliper Repair Kir - Right

DX 175 Type
7264
7263 / Caliper Bridge Assembly 7265 / Caliper Pistons & Pinion Kit 7267 / Caliper Plate Repair Kit | Caliper Mechanism Central

Right Right Fork & Pinion

= &

7270 |/ Caliper Repair Kir - Left

DX 175 Type
7264
7268 | Caliper Plate Repair Kit _ Caliper Mechanism Central
7263 / Caliper Bridge Assembly | 7266 / Caliper Pistons & Pinion Kit i A | W on
Left

(= [

. e —

€

7271 | Caliper Repair Kit - Right

DX 175 Type 7264
Caliper Mechanism Central
7263 / Caliper Bridge Assembly 7265 / Caliper Pistons & Pinion Kit - Right Fork & Pinion

.

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

Turkey [

@
TORKAK
<)

7263 / Caliper Bridge Assembly

7272 | Caliper Repair Kit - Left
DX 175 Type

7266 / Caliper Pistons & Pinion Kit - Left

7264
Caliper Mechanism Central
Fork & Pinion

g |
't-

DX 175 Type

@

—-— o

3868 / Caliper Adjusting Mechanism Right

3870/ Washer 3793 / Seal Green

-

A
|
y

()

3871/ Ring 3796 / Spring

3795/ Bolt

7273 | Caliper Adjusting Mechanism Set - Right i

B

7274 | Caliper Adjusting Mechanism Set - Left
DX 175 Type

.H =

? -
\ o

=== i

3869 / Caliper Adjusting Mechanism Left

3870 / Washer

-

-, —
S 2
3793/ Seal Green 3871/ Ring 3795/ Boit > 00/ Spring

7275 | Caliper Adjusting Mechanism Set - Right
DX 175 Type

7264
Caliper Mechanism
Central Fork &
Pinion

7273 | Caliper Adjusting Mechanism Set - Right

7276 | Caliper Adjusting Mechanism Set - Right
DX 175 Type

7264
Caliper Mechanism

7274 | Caliper Adjusting Mechanism Set - Left Central Fork &

Pinion

7277 | Caliper Adjusting Shaft Repair Kit
DX 175 Type

7280

3868 / Caliper Eccentric Shaft Caliper Needle Bearing Kit

7278 | Caliper Bearing Kit
DX 175 Type

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

o
MERITOR - Turkey HI

SERIES

7279 | Caliper Bearing Set
DX 175 Type

7280
Caliper Needle Bearing Kit

«ED

9 3870 / Shaft Housing Bearing Sleeve

b

7278 | Caliper Bearing

7280 / Caliper Bearing Kit
DX 175 Type

3869
Caliper Needle Bearing

3871
Caliper Cover Plate
(With Needle Bearing)

3868 / Caliper Eccentric Shaft

7281 | Caliper Adjusting Shaft Repair Kit

DX 175 Type
M8x1,25
16 mm
3856 472
Bolt 3858 / Dust Cover 3859 / Seal 338:: Washser
& = - > «*
¥ 3
Y /"_ -
i ] 4
N — '
3848 / Gasket

7278 / Caliper Bearing 3869

Caliper Needle Bearing
-

DX 175 Type

M8x1,25x16 mm
- e

-

3859 / Seal

3856 / Bolt

3848 / Gasket

3871
Caliper Cover Plate (With Needle Bearing)

7282 | Caliper Adjusting Shaft Repair Kit

7283 | Caliper Shaft Housing Bearing Sleeve Kit
DX 175 Type

3870 / Shaft Housing Bearing Sleeve

7284 | Caliper Stabilizer Bar
DX 175 Type

7285 | Caliper Actuator & Plate - Right
DX 175 Type

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

) Turkey EAL

@
Tunmm

7286 | Caliper Actuator & Plate - Left

DX 175 Type

7287 | Caliper Repair Kit Compete - Right

DX 175 Type
7256 / Caliper Guide & Bush Repair Kit

- - -—

l l = l ll
0 & @ ar

7273 | Caliper Adjusting Mechanism Set - Right

7269 / Caliper Repair Kir - Right 3868

aaa.
— @

Caliper Eccentric Shaft

3858
Dust Cover

=

3859/ Seal

o

3869 / Caliper
Needle Bearing

3871 / Caliper Cover Plate
(With Needle Bearing)

2 ¥

7278 | Caliper Bearing

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

7288 | Caliper Repair Kit Compete - Left

DX 175 Type
7256 / Caliper Guide & Bush Repair Kit

7274 | Caliper Adjusting Mechanism Set - Left

\
.I'.ll 58 S8 o 8 81’—?}
) SO0 i}

3868
Caliper Eccentric Shaft

3858
Dust Cover

O O =

3871 / Caliper Cover Plate
(With Needle Bearing)

x i

3859/ Seal | 3869/ Caliper

Needle Bearing

7278 | Caliper Bearing

7289 |/ Caliper Repair Kit Complete - Right

C LISA Type
7142/ Caliper Guide & Bush Repair Kit

S8
S &

I

7181 / Caliper Brake Lining Plate

) — 4016 / Plug 4015 / Seal
W“ ..
- ¢ Y v ¢ Y w(‘ "y
\ < == == =
7182/ Caliper Lever 4014 / Cover Gasket 4017 / Dust Cover 4018 / Seal 4019 / Seal 4020
Seal Cover

O

7104 / Caliper Bearing Set 7115/ Ca

SO

7066 / Caliper Adjusting
Mechanism - Right

liper Shaft Set - Right 7063 / Caliper Adjusting

Gear - Right

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive

(@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

<4

TORKAKK

Turkey [

7142 | Caliper Guide & Bush Repair Kit

=== 8§

7290 / Caliper Repair Kit Complete - Left
C LISA Type

7181 / Caliper Brake Lining Plate

} — 4016 / Plug 4015/ Seal
K_,, Y . . t\(’ \ 4
7182/ Caliper Lever 4014 / Cover Gasket 4017 / Dust Cover 4018 / Seal 4019 / Seal 4020
Seal Cover

O

7065 / Caliper Adjusting
Mechanism - Left

7104 / Caliper Bearing Set

7114 | Caliper Shaft Set - Left 7064 / Caliper

Adjusting Gear - Left

7291 |/ Caliper Repair Kit
D3 Type

- P

3774/ Circlip

3773/ Caliper Seal

3764 / Plastic Cap 3763 / Bushing

7292 | Caliper Shaft Level / 90 mm
DX 195/ DX 225 Type

DAF: 1675766 / FRUEHAUF: CF103650 / MAN: N2509990223 /
ERF: STRMCK1161 / ASTRA: 98133540AS / RENAULT: 5021 139 151 - 5021 170 883 /
MCK1161

7293 | Caliper Pin Bolt
ELSA 1 Type

M14x1,5x90 mm
M16x1,5x55 mm
4715/ Bolt

3872/ Bolt

7294 | Caliper Repair Kit
ELSA 195-225-EX225 Type
KiT225221

e s5x30 mm 42x@31x30 mm

3500 / Pin Bush <
3504 / Pin Bush

P240xD37x11 mm

==

4705/ Pin Ring

©44x20 mm

4700 / Pin Cap

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

7294-1 | Caliper Repair Kit

all

ELSA 195-225-EX225 Type

KiIT225221
@39x@35x30 mm 242x@31/33x30 mm
3500 / Pin Bush =
3506 / Pin Bush
D44x20 mm

B40xB37x11 mm

A =1=]

4700 / Pin Cap

7295 | Caliper Spring Plate Set

D3 Type

4705/ Pin Ring 3873/ Spring Plate
i 7296 / Caliper Repair Kit i 7297 / Caliper Visual Indicator
ELSA 195-225-EX225 Type ELSA 2 Type
KIT225201 KIT225207
M14x1,5x40 mm

@14 %80 mm

Do

MNNWNW‘NW

) MVAWWVYANY
3705/ Plug - 4009/ Bolt iper Vi ’ _
9 ° e e UAAMYAYY AMWVWWVYY
= —

7298 / Caliper Pad Fitting Kit
ELSA 1 Type

3874
Adjusting Mechanism Cap

&
~

00 )9

68322300PK10 / MAN: 35.50310.9531 - 81.50810.0003 / RENAULT: 503128760 / ZF: 0501318077

3875 / Adjusting Mechanism Cap Ring

3704 / Sealing Ring Small

o

>
-

00 29

7299 / Caliper Pad Fitting Kit
ELSA 1/ D3 Type

MBA108 / RENAULT: 5001 845 969 / WVA 29030 - WVA 29083 - WVA 29113

L ¥ Tl e P—  §
= _— . - = ——
-
www.unibrake.com.tr

OI UnibrakeAutomotive
ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

(@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

@ _
“v ) Turkey [

)

7300 / Mechanism Clutch System - Right
ELSA 1 Type

MCK1210 / Renault: 503129554

] -

4501 / Pin Cap

4008 / Screw

4|
B

7061 / Caliper Adjusting Mechanism 7245 | Mechanism Clutch System 3832 3833
Right Lever Pin Lever Spring
Retainer
= i
ol ofe 3
=
7301 / Mechanism Clutch System - Left
ELSA 1 Type
MCK1209 / Renault: 503129553
7061 / Caliper Adjusting Mechanism 7246 | Mechanism Clutch System 3832 3833
Left Lever Pin Lever Spring
Retainer
Z @
= r
= “
7302 / Caliper Repair Kit i 7303 / Caliper Pad Fitting Kit
ELSA 2 Type ELSA 2 Type
MCK1087 / MAN: 35.50307.5607 MBA105 / WVA 29131
M10x1,25x20 mm = \'\l,
7096 /Pin Boot Kit 3725/ Screw ‘
M16x1,5x40 s =
.x il . @44x28 mm . - > ‘
e

7304 / Caliper Leveller
ELSA 195-225-EX225 Tyl

3013/ Ball Bearing

7305 / Caliper Pad Fitting Kit
ELSA 195-225-EX225 Type

MBA112/ VLV: 85109894 / ELSA 225 FOR WVA 29174 - WVA 29218 - WVA 29273

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

TORKAKK

)

MERITOR
SERIES

Turkey [

7306 / Dust Cover Set
C LISA Type

3761/ Pin Boot

7307 / Caliper Ring Kit
B DUCO Type

3876 / Ring

235x102 mm @35x60 mm

3009 / Caliper Pin

3010/ Caliper Pin

M20x2x125 mm M20x2x83 mm

4004 / Pin Bolt 4005/ Pin Bolt

@39xP35/36x30 mm

3011/ Pin Bush

7308 / Caliper Guide & Repair Kit
B DUCO/C-LE DUCO /D DUCO Type

MERITOR: MCK1134 - $J4094 / DAF: 1489198 / VOLVO: 3092255 - 3095627 - 85103892 / AMMCK1134

B40xB37x11 mm

4705 / Pin Ring

©40x20 mm

4503 / Pin Cap

o O O%e

7096 / Pin Boot Kit
239x@35x38 mm

- < |
y
= ! !

3843/ Pin Bush

7037-1/ Caliper Guide & Bush Repair Kit

= — 8%

7309 / Caliper Repair Kit Complete - Right

C-LE DUCO Type
7033 / Caliper Adjusting Mechanism Set - Right

7220

B'Oo

S

I
'ﬁi_

i

p—
-

-

3702 / Gasket 7027 |/ Adjusting Mechanism 7130/ Small Gear
Shaft - Right Mechanism Set - Right Intermediat Gear & Spring Set
% i 3 (A ) (AN
- = o =
‘ & 3 S w -
3703 3705 7131 7014 / Caliper Bearing Set 7221 | Tappet Anti Rotation Plate
Sealing Ring Plug Caliper Visual Indicator

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive

(@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

Turkey [

@
Tunmm

7037-1 / Caliper Guide & Bush Repair Kit

) e OO &

7310 / Caliper Repair Kit Complete - Left
C-LE DUCO Type

7034 / Caliper Adjusting Mechanism Set - Left

T T

,-. | - ,4,

@@

@16 x80 mm

W

i

'O

S

S ——

T
o

3702 / Gasket 7028 / Adjusting Mechanism 7129 /| Small Gear 7220
Shaft - Left Mechanism Set - Left Intermediat Gear & Spring Set
3 3 ({ W)\) (N
- e e
& 9 i’:( )ﬁ
® =< e
3703 3705 7131 7014 / Caliper Bearing Set 7221 | Tappet Anti Rotation Plate
Sealing Ring Plug Caliper Visual Indicator

L -l

7311/ Caliper Pad Fitting Kit
D DUCO Type

MBA104 / D DUCO FOR WVA 29125 - WVA 29277

7312 | Caliper Pad Fitting Kit
D LISA Type

$J4022 / RENAULT: 5001 836 607

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

. © - e
TN AP 1 ————=——r— -
p——— = = ——
L = A B
$ ||\
— <
== - = N
7313 / Caliper Pad Fitting Kit 7314 | Caliper Actuator & Plate - Right
D LISA Type DX 195 Type
MBA101
J ST e
‘*" tr 4 e e s e
- N\
g
WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
SERIES

7315/ Caliper Actuator & Plate - Left 7316 / Caliper Actuator & Plate - Right
DX 195 Type DX 225 Type

7317 | Caliper Actuator & Plate - Left i 7318 I Caliper Pad Fitting Kit
DX 225 Type C-LE DUCO Type

MBA103 / VOLVO: 85109445 / C DUCO FOR WVA 29137

- D BB

- . S
R\ -

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
CARRIERS

@
TORKAK
<)

Turkey [

7800 / Caliper Carrier / VOLVO C DUCO
MERITOR CARRIER

MERITOR: 68323539

- 349 mm -
263,50 mm

245 mm

369 mm
- 409 mm -

7801 / Caliper Carrier / MB 403 BUS
MERITOR CARRIER

BDA443 / D3 REAR

- 406 mm W 4
280 mm

| ?; 272 mm : ‘
- 339 mm -
- -351 mm — L

7802 / Caliper Carrier / RENAULT 420
MERITOR CARRIER

MERITOR: 68323673 - 68323675 - 68323676 / MAN: 35.50307.5526

~ 350,50mm -
~1 306 mm - |
250,50 mm-—— =14

7803 / Caliper Carrier / VOLVO - RENAULT 440
MERITOR CARRIER

MERITOR: 68325303

~a 350,50 mm -

~ 305 mm -
RENAULT 440
250 mm TYPE
=
e
VOLVO
245,50 mm~ TYPE

370,50 mm
| 409,75 mm =

e _—

7804 / Caliper Carrier /| ROR AXLE
MERITOR CARRIER

MERITOR: MCK1185

- 338 mm —
— 247 mm - -
207 mm

305,75 mm

G

7805 / Caliper Carrier / VOLVO D DUCO
MERITOR CARRIER

MERITOR: 68322778 - 68322849 / VOLVO: 3092253 / DAF: 1489072

B 350 mm -
~ 306 mm —

250,50 mm

7806 / Caliper Carrier / ROR AXLE
MERITOR CARRIER

MERITOR: 68324660

- 310 mm Loct
~- 264 mm =

-t 310 mm -

7807 / Caliper Carrier / ROR AXLE
MERITOR CARRIER

MERITOR: MCK1252 / DAF: 883186
- 310 mm L
~ 264 mm -

-3 211,50 mm =

7806 / Carrier

310 mm -
M18x1,5x120 mm M18x1,5x80 mm

4801/ Pin Bolt

4802/ Pin Bolt

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE MERITOR
CARRIERS

Brake Caliper Repair Kit

“v ) Turkey [

7808 / Caliper Carrier / VOLVO - RENAULT 440
MERITOR CARRIER

MERITOR: MCK1322 - MCK1297 / RENAULT: 5001 866 384 / VOLVO: 85109886 - 68325303
RENAULT 440
TYPE

ol
VOLVO
TYPE

B 350,50 mm =
305 mm -

250 mm

7803 / Carrier

245,50 mm

370,50 mm
- 409,75 mm
M18x1,5x120 mm M18x1,5x80 mm

== Wi =

4802/ Pin Bolt 4801/ Pin Bolt
vy

~ 380 mm -

- 408 mm =

7809 / Caliper Carrier / MAN 463 - 464
MERITOR CARRIER

MERITOR: 68321617

-t 306 M= Pu
250,60 mm — >}

N

7810 / Caliper Carrier / MAN 463 - 464
MERITOR CARRIER

MERITOR: BDA445 /| MAN: 81.50802.6015 / RENAULT: 5001 019 718 / ZF: 0501 211 882

-l 380 mm -
~ 306 mm - |
250,60 mm

7809 / Carrier
¥ 220 mm

- 408 mm =
@44x28 mm
M20x1,5x150 mm M20x1,5x90 mm
= - | 408 mm B
4000 / Pin Bolt 4001/ Pin Bolt 4500/PinCap )

7811 / Caliper Carrier / ROR AXLE
MERITOR CARRIER

e 380 mm =

-1 305 mm =

- 250 mm -

7812 | Caliper Carrier / VOLVO FH16
MERITOR CARRIER

MERITOR: 68325306

-t 349.75 mm
g 264 mm -
[
«f 217.50mm- —=Pp | |
;/"s ;

244.75 mm

—~ 368.50 mm

MERITOR CARRIER
MERITOR: MCK1319 - 68327462 / VOLVO: 85109887 / RENAULT: 5001 866 988
= 349,75 mm =
[t 264 mm -
af = 217.50 mm —TF.

7813 | Caliper Carrier / VOLVO FH16

368.50 mm

M18x1,5x80 mm

M18x1,5x120 mm
4801/ Pin Bolt

4802/ Pin Bolt

7814 | Caliper Carrier / RENAULT 380 - 400
MERITOR CARRIER

7815 [ Caliper Carrier /| RENAULT MIDLINER 210

MERITOR CARRIER

e 306 mm B
251 mm

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

: O 7/~ 244,50 mm— T
| } *
{ i i s
~a 368,50 mm = ’%% 192 mm— =
- 349,50 mm > - 354 mm =
WWW.unlbrake.com.tr OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

MERITOR
CARRIERS

e
Turkey [

7816 / Caliper Carrier | RENAULT PREMIUM
MERITOR CARRIER

208 mm =
250,50 mm-—

- 192 mm-——
- 354 mm -

7817 | Caliper Carrier / ROR AXLE
MERITOR CARRIER

MERITOR: 68325994

— 208 mm — -

= 250,50 mm s N

~= 192 mm =
—- 354 mm L

7818 I Caliper Carrier / ROR AXLE
MERITOR CARRIER

MERITOR: MCK1384
M14x1,5x40 mm

~- 208 mm -

7817 | Carrier.

e 92 mm

- 354 mm- - 4009 / Cover Bolt

7096 / Pin Boot Kit

M18x1,5x120 mm M18x1,5x80 mm

=]

4801/ Pin Bolt

4802/ Pin Bolt

B

7819 / Caliper Carrier
MERITOR CARRIER

MERITOR: 68325992

7820 / Caliper Carrier
MERITOR CARRIER

MERITOR: MCK1383

7819 / Carrier

M14x1,5x40 mm

4009 / Cover Bolt

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




MARK III

HALDEX CARRIERS

C
e @
£

SAF /MODUL T

MARK IV MODUL X

SAF CARRIERS

HALDEX
BRAKE CALIPER REPAIR KIT

You can follow our new products from our website.




UNIBRAKE

Brake Caliper Repair Kit

HALDEX
SERIES

Turkey [

@
TORKAK
<)

MODUL X Type

—
—

8200 / Caliper Pin

M14x2x42 mm

8201/ Pin Bolt

& — _ ——
. A z \ = s
L= S 7

S — S

8204 / Steel Cover

8206 / Plastic Gasket

HLDX: 91012/ SF: 3 434 3854 02 / RNLT: 5021 174 174

% “’\% s %& szosﬁwug

8000 / Caliper Pin Repair Kit

@42x23 mm

D =

8203 / Pin Cap

8202 / Dust Cover

——
=
S

MODUL X Type

HLDX: 91013

8205 / Plastic Plug

8202 / Dust Cover

@242x23 mm

8203 / Pin Cap

8204 / Steel Cover

8001 / Caliper Boot & Cap Set

1 © 4 | —— |
€ =
3 —_—

- 8206 / Plastic Gasket

8002 / Caliper Boot & Cap Set
MODUL X Type

HALDEX: 91014

8204 / Steel Cover

8003 / Caliper Boot &Spring Set
MARK / MODUL X Type

@42x23 mm
~— . - ‘ ‘ e Boot Protection Spring - @ 67 mm
— -
: T =w (@)
8203/ Pin Ca| 8205 / Plastic Plug ’, - o
° 8202/ Dust Cover P = 8208 Jgactier
b S , g. : -:_’-?\
I — = ‘@ —— P gt
- < S 8206 / Plastic Gasket s
% ’ € 7
8208 / Spring 8207 / Dust Cover - @67 mm

8004 / Caliper Tappet Plate
MARK / MODUL X Type

OO QQ

8005 / Roller Bearing Set
MODUL T Type

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

HALDEX
SERIES

Turkey [

8006 / Caliper Pin Repair Kit
MARK Type

@35x70 mm HALDEX: 89541

ot i @57x40 mm M14x2x54 mm F
s A 2
. - 8205/ Plastic Plug ~ 8271/SCrew 875 /Head Plug  O-ring

8211/ Pin Bolt .
8210/ Caliper Pin e
) ) W 2 [rrS——
= i p— e -, e o W o ) o
s > @3 9 —
~ » 8206 / Plastic Gasket
8213 / Washer 8204 / Steel Cover 8202 / Dust Cover

8007 / Caliper Boot Set
MARK Type

B@57x40 mm

8010 / Pin Cap Kit

\ _ J\gxﬁz

8213 / Washer

[lh‘[[,

| M

8210/ Caliper Pin

8206 / Plastic Gasket

8205 / Plastic Plug
— { e m—— e
ST RORT TN
_ _ _J/ __p o
8202 / Dust Cover o a5 o B o ——
8213 / Washer 8206 / Plastic Gasket
8008 / Caliper Pin Repair Kit
MARK Type
M14x2x54 mm
@35x70 mm __.-/’) i / __—=-/I “ﬁ-__ 4 . .

G = J=
G -€ -

8211/ Pin Bolt

8205 / Plastic Plug

8202 / Dust Cover

8009 / Caliper Boot & Plug Set
MARK / MODUL X Type
HALDEX: 89794
Boot Protection Spring - @ 67 mm
P ._—‘-i
(- | '

OO

8209 / Circlip

8205 / Plastic Plug

.V v

8208 / Spring 8207 / Dust Cover - @67 mm

8010 / Caliper Cap Kit
MARK Type

HALDEX: 89927

@57x40 mm

8212/ Caliper Cap

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive

(@) / unibrake_caliper




© @
JNIBRAKE ) ey ) Turkey HI

SERIES

Brake Caliper Repair Kit

8011 / Caliper Adjuster Shaft Set 8012 / Caliper Calibration Bolt
MARK / MODUL X Type MARK Type

HALDEX: 90693 / SAF: 3 434 3855 02 / RENAULT: 5021 174 163

o eofde

8214 / Seal

ee of»

8205 / Plastic Plug 8215/ Screw

8013 / Caliper Tappet & Calibration Bolt 8014 / Caliper Roller Bearing Set
MODUL X Type MODUL X Type

8269 / Roller Bearing - Right
8270 / Roller Bearing - Left

8015 / Caliper Indermediate Gear 8016 / Caliper Manual Adjusting Gear
MARK / MODUL X Type MODUL X Type

8017 / Caliper Adjuster Mechanism 8018 / Caliper Manual Adjusting Gear
MODUL X Type MARK / MODUL X Type
- 7 l

. B

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

HALDEX
SERIES

%) Turkey H

8019 / Caliper Roller Bearing Set
MARK / MODUL X Type

8274 | Roller Bearing

8020 / Caliper Roller Bearing
MARK / MODUL X Type

8021 / Caliper Adjusting Sleeve
MODUL X Type

8022 / Caliper Repair Kit Full
MARK Type

8023 / Caliper Roller Bearing Set
MODUL X Type

8024 / Caliper Adjusting Gear
MARK Type

8025 / Shaft Housing
MARK / MODUL X Type

8026 / Caliper Lever
MARK / MODUL X Type

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

@
HALDEX Turkey HI
SERIES e

8027 / Caliper Lever
MODUL X Type

8028 / Caliper Adjusting Mechanism
MARK / MODUL X Type

P

8029 / Cover For Adjusting Mechanism
MODUL X Type

8030 / Caliper Adjsuting Mechanism Cover
MARK Type

8220 / Cover

NNNN

MBx45 mm
8221/ Bolt

8031 / Shaft Housing
MODUL X Type

8032 / Caliper Mechanism Clamp
MARK Type

8033 / Caliper Mechanism Clamp
MODUL X Type

ar

I

7

i

—

.

8034 / Caliper Repair Kit Full
MODUL X Type

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

HALDEX

Turkey HI

SERIES S

8035 / Adjusting Mechanism
MARK Type

8036 / Cover For Adjusting Mechanism
MODUL X Type

8029 / Adjusting Mechanism Cover

TNt

M8x30 mm 4561 / Bolt

i 8037 / Brake Pad Retainer Repair Kit
MARK / MODUL X Type

HLDX: 90673

1

8282/ Bolt

8281 / Brake Pad Retainer

8038 / Caliper Synchronisation Plate
MODUL X Type

.

i 8039 / Anti Rotation Set 8040 / Spring Set
MARK Type MARK / MODUL X Type
U U Boot Protection Spring - @ 78.5 mm
8226 / Spring
( 8041 / Caliper Lever Pin 8042 / Caliper Lever Pin
MODUL X Type MARK Type

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

HALDEX
SERIES

@
TURKAIK

Kaite
TS EN

AB-0089-YS

Turkey [

8043 / Caliper Adjusting Bolt Kit

MARK Type
8228 / Calibration Bolt Right 8229 / Calibration Bolt Left

8044 / Caliper Calibration Mechanism Set

MODUL T Type
8060 8052 8249 8258 8053
Caliper Adjusting Screw Roller Bearing Set Dust Cover Mechanism Locking Roller Bearing Set
Plastic
’ % |
‘
8047 8050 8048 8045
Caliper Bridge Assembly Caliper Lever Caliper Adjusting Mechanism |Caliper Pinion Shaft

Housing

8045 / Caliper Pinion Shaft
MODUL T Type

8250 / Adjusting Gear

8046 / Caliper Adjusting Gear Set
MODUL T Type

www.unibrake.com.tr

OI UnibrakeAutomotive

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

(@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

HALDEX
SERIES

%) Turkey HI

8047 /| Caliper Bridge Assembly
MODUL T Type

8048 / Caliper Adjusting Mechanism Housing
MODUL T Type

8049 / Caliper Mechanism Bearing House
MODUL T Type

8259 / Mechanism Bearing House

8050 / Caliper Lever
MODUL T Type

P

8051 / Caliper Roller Bearing Set
MODUL T Type

EIC>

8255 / Ball Beairng 8257 / Ball Bearing

ST, @@

- ‘.5
- - -

¥ @ ®

8254 / Ball Bearing 8256 / Ball Bearing

8052 / Roller Bearing Set
MODUL T Type

8264 / Roller Bearing - Left 8266 / Roller Bearing - Right

8053 / Roller Bearing Set
MODUL T Type

- 8005 / Roller Bearing

oV

8265 / Ball Bearing

.

8054 / Brake Pad Retainer
MODUL T Type

8276 / Brake Pad Retainer Sheet Metal

—

= Iy

=i
G 8267 / Brake Pad Retainer Sheet Metal Spring

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

@
HALDEX Turkey [l
SERIES

8055 / Caliper Adjusting Gear Set
MODUL T Type

55— At 1’{.
- “' < ‘/ /.

8251
Adjusting Gear

O O O OO

8252 / Seal

8055-1 / Caliper Adjuster Gear Set
MODUL T Type

8252 / Seal
8251 / Adjusting Gear

8056 / Caliper Mechanism Locking Plastic Kit
MODUL T Type

ii
§Y

8258 / Mechanism Locking Plastic

8057 / Dust Cover Set
MODUL T Type

°
O . ;

8249 / Dust Cover

8058 / Sealing Ring
MODUL T Type

8253 / Sealing Ring

8059 / Caliper Plug Set

MODUL T Type
- - - -
s e
- -
P’A—-—( .: :_ L - _>
- - e - -
- 8 e
- & v ——
- : .‘
P .: :-a .4:;‘
- .‘ : - -
- > - A—— _— - e
-— — 8243 / Plug —

8060 / Caliper Adjusting Screw
MODUL T Type

8061 / Caliper Repair Kit Full
MARK Type

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




HALDEX Yurkey HI

SERIES

8062 / Callper Guide & Bush Repair Kit
MODUL T Type

HLDX: 95397 - 95054 / SF:3 434 3861 00 / KRONE: 550017811

Brake Caliper Repair Kit

UNIBRAKE

M16x1 ,5x80 mm
@35x119 mm 239,5x@36x14,5 mm @45x22,5 mm @42x25 mm
8239 / Caliper Pin a e a .
0802 / Pin Bolt 8246 / Bushing 8245 / Bushing 8247 / Pin Cap 8248 / Pin Cap

239x@35x30 mm

235,5x87 mm
Ir -
o

= .. - -
8240 / Caliper Pin 8243 / Plastic Plug 8275/ Washer

=~

8244 / Bushing 8241 / Pin Bellow Red
8063 / Washer Repair Set \ 8064 / Caliper Washer Set
MARK / MODUL X Type MARK Type
< ) . : =m * = Y\ = A
8218 | Washer 8217 | Circlip ( 2 ( 2 ( ) ( ) ( )

e W

(@.,ﬁ —~ N N

8216 / Shim 8015 / Adjusting Gear 8219/ Spring 8237 / Washer

8065 / Caliper Washer Set 8066 / Caliper Adjusting Mechanism Cover
MARK Type MARK Type
o e s azt/s‘ 8214 Seal
e \‘:;' T — . ¢ e — —
_
8238 / Washer 8222 / Cover Cast Iron
8067 / Caliper Roller Bearing Set i 8068 / Mechanism Seal Kit
MARK Type MODUL T Type
HLDX: 95399 - 95056 / SF: 3 434 3863 00 / KRONE: 550017813
- .‘
;—/‘z.gh
8243 / Seal
8249 / Dust Cover
8277 | Roller Bearing
Www.unibrake.com.tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

HALDEX
SERIES

TORKAKK

8069 / Reset Shaft
MODUL T Type

Kit

HLDX: 95055 - 95398 / SF: 3 434 3862 00 / KRONE: 550017812

N

8251 / Adjusting Gear 8252/ Seal

-
3
e

8243 / Seal

8070 / Caliper Repair Kit Full

MODUL X Type

8079 / Caliper Pin Repair Kit

S o7 oFF o” —ammnE
55 2 L S
— ﬁ

8034 / Caliper Repair Kit Full

8037 / Brake Pad Retainer Repair Kit

]

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit HALDEX
SERIES

@
Turkey [

8000 / Caliper Pin Repair Kit
- - - e e e
. - ' e e °

I

E— p— H‘_&
@ (& P
\}»-1 k ;i‘ L_"‘” Zﬁ' .

8037 / Brake Pad Retainer Repair Kit

8071 / Caliper Repair Kit Full
MARK / MODUL X Type

8061 / Caliper Repair Kit Full

il

MARK Type

8006 / Caliper Pin Repair Kit

o88® -
- - - -

:

9999 =

— o« . @ J <)
- - e,
) \ / &/ \_ ) . S "'»’ (s

8072 / Caliper Repair Kit Full

8037 / Brake Pad Retainer Repair Kit

i

8061 / Caliper Repair Kit Full

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE o] e
Brake Caliper Repair Kit HALDEX Tﬁgfﬁ@y [H[

SERIES

8073 / Caliper Repair Kit Full
MODUL T Type

8054 / Brake Pad Retainer 8250 / Adjusting Gear 8253 / Sealing Ring | 8055-1/ Adjuster Gear Set

& o

8044 / Caliper Calibration Mechanism Set

== 1V EE

i @ ©

8074 | Shaft Housing Set 8075 / Caliper Tappet Plate With Calibration Bolts
MARK / MODUL X Type MARK / MODUL X Type

8025 / Shaft Housing
—
———,
._ = OO QQ M
" 4 e
8004 / Caliper Tappet Plate 8076 / Calibration Bolt

8015/ Gear 8217/ Circlip 8218/ Washer 8216 / Shim sizr::g
8076 / Caliper Calibration Bolt 8077 | Caliper Lever With Pin
MARK / MODUL X Type MARK Type
8042/ Lever Pin
8026 / Caliper Lever
WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

HALDEX
SERIES

@
Tunxzm

Turkey [l

8078 / Caliper Pin Repair Kit
MARK Type

HALDEX: 87406 / RNLT: 5021 174 076 - 5021 174 162

M14x2x61 mm
“ 8205 / Plastic Plug

8223 / Bolt

@35x70 mm

et e
|

8224 / Caliper Pin

8271/ Screw

Py

oo
o

8272/ Head Plug 5272/ PIug

) == g e 1 1
- -~ - —— '\\. - 3
./I z} \ — _/' S /’ — —_—_________-: .
S e ——8& 1 | 1
— / — —” =2 \4,__59 3
8206 / Plastic Gasket
8213 / Washer 8225 / Steel Cover astic maske 8202 / Dust Cover
8079 / Caliper Pin Repair Kit
MODUL X Type
@35x64 mm 93299

M14x2x42 mm

@42x23 mm

:
; | I A e, oA A e @ &
- 8205 8203/ Pin Cap
8201 / Pin Bolt Plastic Plug

8260 / Caliper Pin

8206 / Plastic Gasket

= - 3

5

\\W \ b @

8204 / Steel Cover

8202 / Dust Cover

8080 / Shaft Housing Set
MODUL X Type

8216 / Shim 8219/ Spring

8031/ Shaft Housing

O

8217 / Circlip

8015 / Adjuster Gear

8081 / Caliper Lever Set
MODUL X Type

—_—

8041/ Lever Pin

8027 / Caliper Lever

.

8082 / Caliper Tappet Plate
MODUL X Type

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive

(@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

8083 / Caliper Adjusting Gear

TORKAKK

HALDEX
SERIES

MODUL X Type

8084 / Caliper Lever Set
MODUL X Type

(——————

8085/ Lever Pin

8026 / Caliper Lever

8085 / Caliper Lever Pin
MODUL X Type

8086 / Caliper Mechanism Clamp
MODUL X Type

8087 / Caliper Repair Kit Full

MODUL X Type

% Se
e

=
=,

8088 / Caliper Dust Cover & Spring Set
MARK Type
HLDX: 84705
Boot Protection Spring - @ 78.5 mm
2 . I i -. oy
- W T
iy = ;
[/
> \
3 = - . o Q
— — popoell s o 8205 / Plastic Plug 8209/ Circlip
- o I 8227 / Dust Cover
8226 / Spring
WWW-ur"brake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper
ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

HALDEX
SERIES

@)
"~ Turkey HI

8089 / Shaft Housing Set

MARK Type

8237 /| Washer

8090 / Shaft Housing

A e

-

8238 / Washer

8219 / Spring

8090 / Shaft Housing

MARK Type

8091 / Caliper Repair Kit Full

MARK Type

8078 / Caliper Pin Repair Kit

8022 / Caliper Repair Kit Full

< . Q - B P —

(@ = (&3 = &= S

. A o —c -_—
WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




® @
SERIES -

8092 / Caliper Adjusting Mechanism Cover
MARK Type

BV s ]
& @& e

8234/ Nut -

8235/ Cover 8233/ Bolt
8093 / Caliper Lever
MARK Type
8094 / Caliper Repair Kit Full
MODUL X Type
8000 / Caliper Pin Repair Kit 8087 / Caliper Repair Kit Full

ma—
—

N ©
! § e g =

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

HALDEX  U%7 Turkey HI
SERIES

8095 / Caliper Roller Bearing Set
MARK Type

8096 / Caliper Adjusting Mechanism Gear - Left
MARK Type

8097 / Caliper Adjusting Mechanism Gear - Right |
MARK Type

8098 / Caliper Cover Set
MARK Type

8099 / Caliper Brake Lining Plate
MODUL X Type

8100 / Modul X Series Calibration Mechanism
MODUL X Type

.

8101 / Caliper Mechanism Clamp
MODUL X Type

8102 / Caliper Leveller Pin
MODUL X Type

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

HALDEX Turkey [l

SERIES

@
TORKAK
<)

Boot Protection
Spring - @ 67 mm

8103 / Caliper Repair Kit
MODUL X Type

f’.f

8278 / Dust Cover

8208 / Spring

8104 / Caliper Repair Kit
MARK Type

HLDX: 87680

@57x40 mm

—— | ( | =
_— *e® o ==
B 8205 / Plastic Plug
e

8010/ Pin Cap Kit &)l KQ

8225 / Steel Cover

8271/ Screw 8273/ O-ring

J J A 7

8272 / Head Plug 8213 / Washer

8202 / Dust Cover

8105 / Caliper Repair Kit Complete
MARK Type

8078 / Caliper Pin Repair Kit

8022 / Caliper Repair Kit Full

= na—
iy o

ool
r
1 Lee

9
9

{;
i
)
i

9
9

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

HALDEX Turkey [l

SERIES

8106 / Caliper Guide & Bush Repair Kit
MODUL T Type

HLDX: 96202

M16x1,5x80 mm

242x25 mm
235x119 mm —

e

8239 / Caliper Pin

@45x22,5 mm

.y

0802 / Pin Bolt 8247 | Pin Cap 8248 / Pin Cap

@35,5x87 mm . '
i T ——
8240 / Caliper Pin 8275/ Washer
8241/ Pin Bellow Red
8107 / Caliper Guide & Bush Repair Kit
MARK Type
HLDX: 94661 / SF: 3 434 3858 00 - 3 434 3854 00
__ @57x40mm M14x2x54 mm

ee v ©

— c ' - > 8205/ Plastic Plug a0
in Cap Kit ]
P S w&-

8211/ Pin Bolt

; . - « ' ﬁ M14x2x61 mm
888 =T =—
B = e

8202 / Dust Cover =9 =

8223/ Bolt
8225 Steel Cover 8279/ Pin Plastic Bush

8108 / Caliper Repair Kit

MARK Type
HLDX: 89723
@57x40 mm
- - - 8273/ O-ring
8010 / Pin Cap Kit S27g ooy g2i2yiisadiEiug
—~ -
=P =
3 ®® @ - =
R =P =
8202 / Dust Cover 8205 / Plastic Plug 8213 / Washer ~
8225/ Steel Cover 8279 / Pin Plastic Bush
8109 / Caliper Plug Kit 8110 / Caliper Plug Kit
MARK Type MARK Type
HLDX: 87408 HLDX: 89925

8271/ Screw, 8205 / Plastic Plug ' .

8205 / Plastic Plug 8214/ Seal
. 8273/ O-ring

8272/ Head Plug

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




U I B R ’ Tﬁgzm ~ -
Br,a': Sy FE:,ZEE HALDEX ) Turkey HI

SERIES

8111 / Caliper Boot & Plug Set
MARK Type

HALDEX: 94663

£ i

- i
8209 / Washer 3 ]
v v
8271/ Screw

8214/ Seal 8205 / Plastic Plug

8273/ O-ring - .
278, 50mm®—— ——Pg 78,50mm

8272 / Head Plug
8227 / Dust Cover

8112 / Caliper Repair Kit
MARK / MODUL X Type

HLDX: 94662

8209 / Washer .
8207 / Dust Cover - @67 mm 8205 / Plastic Plug 8280/ Bushing

8113 / Caliper Repair Kit
MARK / MODUL X Type

HLDX: 94664

8207 / Dust Cover - @67 mm OO QW

8004 / Caliper Tappet Plate 8076 / Calibration Bolt

8114/ Caliper Repair Kit

MARK / MODUL X Type
HLDX: 92731
Boot Protection Spring - @ 67 mm
=
w1
r.. --—-_.
———r, ——
/ 7S
'ﬂ‘ -
- t
O O Q Q . 8076 / Calibration Bolt
8004 / Caliper Tappet Plate 8208 / Spring

www.unibrake.com.tr

)/ unibrakeAutomotive (@) / unibrake_caliper
ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




Brake Caliper Repair Kit HALDEX
SERIES

8115/ Caliper Brake Lining Plate

UNIBRAKE Turkey I

MARK / MODUL X Type
HLDX: 94665
Boot Protection Spring - @ 67 mm
e <
L gy >3
- - % o
kF ) - - 8209 / Washer
- » '-‘
[ 73 |; "
-
8208 / Spring

8116 / Caliper Ipat Retainer
MARK / MODUL X Type

HLDX: 91216

8205 / Plastic Plug

8282 / Bolt &—

8281 / Brake Pad Retainer

8283 / Brake Pad Spring Set

8117 | Caliper Ipat Retainer Set
MARK / MODUL X Type

HLDX: 94659

. - ®e :
A duweatC =

e 8281 / Brake Pad Retainer 8205 / Plastic Plug
——

8282/ Bolt

8283 / Brake Pad Spring Set

8118 / Caliper Guide & Bush Repair Kit

MODUL X Type
@35x64 mm HLDX: 93299 yp
%\ %B\M1 4x2x4°2>;n:1\ 242x23 mm
— ~ 2 @ 2=

-
H H 8201 / Pin Bolt 8205/ Plastic Plug 8203 / Pin Cap

8260 / Caliper Pin i

8202 / Dust Cover

i ) 3 )
e — &
e |
8206 / Plastic Gasket

8204 / Steel Cover

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE HALDEX

SERIES

Turkey [

Brake Caliper Repair Kit

AB-0089-YS

8119 / Caliper Guide & Bush Repair Kit
MODUL X Type

HLDX: 94660

242x23 mm

2 e b -
=49 3 P - ™ —
8204 / Steel Cover 8203/ Pin Cap 8211/ Pin Bolt
. M14x2x42 mm
. L L .
Q » R o ™ .
. - = ] -

8202 / Dust Cover 8201/ Pin Bolt 8205 / Plastic Plug

8279 / Pin Plastic Bush

8120 / Caliper Pin Cap
MODUL X Type

HLDX: 91019

@42x23 mm

e S
5 - (v -
-

8203 / Pin Cap

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

HALDEX
SERIES

@
Turkey [l

8700 / Caliper Carrier / MODUL X VOLVO SERIES
HALDEX CARRIER

~—————————— 350 mm-
s 258,50 mm
210,50 mm-——

~ O

— %
\ % ¥
Ed
245 mm——

- 36950 mMm———

8701 / Caliper Carrier / MODUL T SAF SERIES
HALDEX CARRIER

HLDX: 94861

259 mm
211,20 mm-—

8702 / Caliper Carrier / MODUL T SAF SERIES
HALDEX CARRIER

—— 378 mmm———————————
- 259 mm

i<7211 mm

Mg
AT~

8703 / Caliper Carrier /| MARK SERIES
HALDEX CARRIER

174 mm
1 /
\s“"\y
e o ©
. \ .
\ 4 A N 4
|
| 399,50 mm

- 377,50 mm

8704 / Caliper Carrier / MODUL X B SERIES
HALDEX CARRIER

~————359. 50 MM
~——259,50 mm——Mp ’
N}

i)
2>
+
W
ot

. W

E

212 mm -

369,50 mm

8705 / Caliper Carrier / MODUL X SAF SERIES
HALDEX CARRIER

341,00 m
258,50 mm

—~t———210,50mm———= 1/

L4
A ) 7
\ =176 mm - A

- 360,50 e —

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




You can follow our new products from our website.




IBRAKE

Brake Caliper Repair Kit

7-CAM
SERIES

8500 / Adjusting Mechanism- Left
Z-CAM Type

MB: 1892003407231 / MN: 1494055 - 8603391 - N2509996057 / DF: 1694352
IVC: 3346429R91 - 3348783R91 / MRT: 68192565 - A164061 - ST4014 - ST4023 RNLT:
5001 868 118 - 5006 018 438 / PCCR: PPMST4014 / ZF: 0501210719
DNNS: 61385913 - 65399613 / RB: 665135 / LYLND: XBU0910 /
ZCAM: 272909 - 3097099 - 3098276 - 8550978 /| BMC: 9P911107 / FRD: 9C462A105AA

8501 / Adjusting Mechanism - Right
Z-CAM Type

MB: 1892003407221 / MN: 1472809 - 8603390 - N2509996054 / DF:1694353 /
IVC: 3348784R91 / MRT: 68192566 - A164062 - ST4013 - ST4024
RNLT:5001 868 117 - 5006 018 437 / PCCR:PPMST4013 / DNNS: 61385911 - 65399612
LYLND: XBU0911 / ZCAM:272908 - 3097100 - 3098277 - 8550977 / BMC: 9P910414
FRD: 9C462A105BA

8502 / Pinion Gear - Right (NEW MODEL )
Z-CAM Type

MB: 89200340794 - 1892003407941 / MN: 1350890 - 8605967 - N2509990131 DF: 1694794 / IVC:

3346447R1 - 3346449R1 / MRT: 68191511 - A164055 / RNLT: 5001 868 126 / PCCR: TP02006096

DNNS: 6138606 - 6539963 - 6539975 LYLND: XBU0685 / ZCAM: 1696925 / FRD: 9C462K161AA /
AWD: A4027691

-

8503 / Pinion Gear - Left (NEW MODEL )
Z-CAM Type

MB: 89200340793 - 1892003407931 / MN: 1350884 - 8605966 - N2509990129 / DF: 1694793
IVC: 3346448R1 / MRT: 68191510 - A164052 / RNLT: 5001 868 125 - 5006 018 474
PCCR: TP02006095 / DNNS: 61385929 - 65399625 / LYLND: XBU0684 / ZCAM: 1696924
FRD: 9C462K161BA /| AWD: A4027705

8504 / Mechanism Cross Shaft
Z-CAM Type

MB: 1892003407351 / MN: 1422829 - 8603403 - N2509996050 / DF: 1694368
IVC: 3346443R91 / MRT: 68191219 - ST4018 - SP8540 /
RNLT: 5001 868 121 - 5006 018 458 / DNNS: 6138597 - 65399621
ZCAM: 272910 - 1696453 - 3098271 / FRD: 9C462458AA /| AWD: A4027696

8505 / Brake Adjusting Pinion - Right ( NEwW MODEL )
Z-CAM Type

MRT: 68020146 / RNLT: 5006 046 766 / ZCAM: 1607502

8506 / Brake Adjusting Pinion - Left (NEW MODEL )
Z-CAM Type

MRT: 68020145 / RNLT: 5006 046 765 / ZCAM: 1606775

8507 / Brake Adjusting Pinion - Right ( OLD MODEL )
Z-CAM Type

MN: 1428758 - N2509996051 / MRT: ST1039 / ZCAM: 1081820 - 3090998

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




E[EEJD thghlnlﬂ IIEEE" IF:::|= IF:::II Ib";; IEEEEF) T(Jgggéxm 2 = =
Brake Caliper Repair Kit Z-CAM Tﬁéﬁ"ﬁ{i@y [H[
SERIES

8508 / Brake Adjusting Pinion - Left (OLD MODEL )
Z-CAM Type

MN: 1428741 / MRT: ST1038 / ZCAM: 1081819 - 3090997

8509 / Adjusting Pinion Set - Right
Z-CAM Type

272907
8525 | Adjusting Pinion - Right 8511 / Adjusting Pin Set 8521 / Reverse Lock - Right

8 o -
- e

8510 / Adjusting Pinion Set - Left
Z-CAM Type

272906
8526 / Adjusting Pinion - Left 8511 / Adjusting Pin Set 8522 / Reverse Lock - Left

2y oS
= " )

8511 / Adjusting Pin Set 8512 / Adjusting Pin Set
Z-CAM Type Z-CAM Type

MN: 1449350 / MRT: ST1033 / PCCR: TP02006268 / ZCAM: 276096 MN: 1341829 - 8701361 - N2509996037 / DF: 1694364 / IVC: 42540290 - 3346439R91
MRT: ST1035 - ST4022 / RNLT: 7403 090 964 / PCCR: TP02006093 / ZF: 0501210721
DNNS: 61385915 - 65399615 / ZCAM: 276100 - 3090964 - 3098275 / AWD: A4027698

O o

- = ¢
- = <

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

7-CAM
SERIES

EAL

8513 / Adjusting Pin Set
Z-CAM Type

MN: 2068777 - 8604735 - 85.500.013.424 /| MRT: ST1034 / ZCAM: 276099

8514 | Adjusting Pin
Z-CAM Type

MRT: 68192487 - 68200150 - 137075 / ZCAM: 1696445 - 1698346 - 3097299
FRD: 9C462069AA

8515 / Adjusting Pin
Z-CAM Type

MB: 1892003407251 / MN: 8603393 - N2970060001 / DF: 1694355/ IVC: 1635281
MRT: 64225252 - 137074 / RNLT: 5001 868 120 - 5006 018 440 / PCCR: AAU6457
DNNS: 6138599 - 60889335 - 61049727 / RB: 665152 / ZCAM: 1696446
FRD: 9C462B003AA

8516 / Brake Adjusting Dust Cover
Z-CAM Type

MN: 1321228 - 8603384 - N2900000084 - N2900000152 / DF: 1694347 / IVC: 3346423R1 /
MRT: 68191065 - 166062 / RNLT: 5001 868 127 - 5006 018 435 / DNNS: 6138593 - 6539967 /
RB: 665145/ ZCAM: 1696449 / BMC: 9P901178 / FRD: 9C462213AA / AWD: A4027680

8517 | Adjusting Dust Cover Gasket Set
Z-CAM Type

272905

8518 / Dust Cover Gasket
Z-CAM Type

MN: 1321234 - 8603385 - N2966010119 / DF: 1694348 / MRT: 68191066 - 166063 /
RNLT:5001 868 122 - 5006 018 436 / DNNS: 6138594 - 6539968 - 65356315 / LYLND: XBU0889
ZCAM: 1696450 / FRD: 9C462B032AA

8519 / Brake Adjusting Dust Seal
Z-CAM Type

MB: 89200340815 / MN: 8701359 - 1427340 - N2509990143 / DF: 1694354 / IVC: 42540274 - 3346430R91
MRT: 68192410 / PCCR: TP08023002 / ZF: 0501316391 / DNNS: 61385910 - 65399614 - 65399620
RB: 665151/ ZCAM: 1696448 - 3090954 / FRD: 9C462B009AA / AWD: A4027686 /

RVI:5001 868 119 - 5006 018 439

8520 / Return Spring
Z-CAM Type

MB: 1892003407951 / MN: 1398023 - 8607130 - N2900000088 / DF: 1694362 / IVC: 3346437R1
MRT: 68192115 - 167090 / RNLT: 5001 868 113 - 5006 018 480 / DNNS: 61385919 - 65399619
RB: 665153 / ZCAM: 1696444 - 3097092 / BMC: 9P901265 / FRD: 9C462296AA

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

7-CAM
SERIES

Turkey [

8521 / Reverse Lock - Right
Z-CAM Type

MB: 1892003407911 / MN: 1386099 - 8604737 - N2509996047 / DF: 1694366
IVC: 3346441R91 / MRT: 68191541 - ST1037 - ST4020 / RNLT: 7400 276 098
DNNS: 6138604 - 6539973 / ZCAM: 276098 - 3098273 /| BMC: 9P910412
FRD: 9C462K400BA / AWD: A4027699

=\
f’\/\/‘\.-"\‘! (g\

8522 | Reverse Lock - Left
Z-CAM Type

MN: 1336762 - 8604736 - N2509996035 / DF: 1694365 / IVC: 3346440R91
MRT: 68191540 - ST1036 - ST4021 / RNLT: 7400 276 097 / PCCR: TP02006094
DNNS: 61385928 - 65399617 /| ZCAM: 276097 - 3098274 /| BMC: 9P910411
FRD: 9C462K400AA / AWD: A4027706

_
AW t@‘

8523 | Mechanism Cover
Z-CAM Type

272904
4 "
r 35> .
Nt 5 1

8524 | Brake Adjusting Pin
Z-CAM Type

MN: 1336791 - N2509990127 / IVC: 3346433R1 / MRT: 68191930 / DNNS: 61385917
BMC: 9P901234 / FRD: 9C462C200AA / RVI: 5006 018 450

8525/ Pinion Gear - Right ( OLD MODEL )
Z-CAM Type

.

8526 / Pinion Gear - Left (OLD MODEL )
Z-CAM Type

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRRAKE 7-CAM Ta%m

SERIES

Turkey [

Brake Caliper Repair Kit

8527 | Caliper Repair Kit Complete

8500 8501 8515 8521
Adjusting Mechanism- Left Adjusting Mechanism - Right Adjusting Pin Reverse Lock - Right

HU’\’\,“ '8 )
e

8525 / Adjusting Pinion - Right

8519 / Brake Adjusting Dust Seal 8511 / Adjusting Pin Set

SLD ==

8528 / Caliper Repair Kit Complete

8500 8501 8515 8522
Adjusting Mechanism- Left Adjusting Mechanism - Right Adjusting Pin Reverse Lock - Left

R — A A "‘\
| W\

8526 / Adjusting Pinion - Left

8519 / Brake Adjusting Dust Seal 8511 / Adjusting Pin Set

SO i

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




IVECO BRAKE REPAIR KITS

You can follow our new products from our website.

n




IBRAKE

Brake Caliper Repair Kit

IVECO
SERIES

v ) Turkey [l

8600 / Wedge For Brake
IVECO Type

OEM NO: RBSK1255.M - RBSK2051.M - RBSK1573.M / ASTRA: 93161621
IVECO: 93116121 - 42536194 / A2247L1000

8601 / Wedge For Brake
IVECO Type

OEM NO: 12.999.410VT / DAF: 1505883 / KOGEL: 8009190 / IVECO: 93161768
NATO: 2530123431916

8602 / Wedge For Brake
IVECO Type

OEM NO: RBSK0250B.M - A2247U47 /| VANHOOL: 634321231 / VOLVO: 1695493
ASTRA: 7980407 - 42480062 / AYATS: 32001375 / MOWAG: 0735050 / IVECO: 42480062
BREDAMENARINIBUS: 0192756 / MAN: A4022499 / ZF: 0501 298 159

8603 / Wedge For Brake
IVECO Type

8604 / Return Spring
IVECO Type

OEM NO: RBSK2128.M / ASTRA: 93161627 / IVECO: 93162113

C___ A >
C__ A >

8405 / Return Spring

o>
o>

8605 / Return Spring

8605 / Return Spring
IVECO Type

OEM NO: 2258D1122 / IVECO: 93161260

Cllh_ W

8606 / Brake Repair Kit
IVECO Type

OEM NO: RBSK0502B.M / ASTRA 42491950 - AYATS 32001160 - FODEN FBU6782 BREDAMENARINIBUS 192753 - RENAULT 5021 203 245

— -

8609 / Dust Cover

8404 / Return Spring

ae T TL

8610 / Dust Cover 8613 / Adjusting Latc

e

8608 / Adjusting Nut

8612 / Brake Holder

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

IVECO
SERIES

EAL

8607 / Adjusting Screw
IVECO Type

A2297L.3158 IVECO 42480059 - FODEN Y07088205 - MOWAG 0734610
NISSAN 069028770 VANHOOL 634321222 - VOLVO 1696537

8608 / Adjusting Nut
IVECO Type

RBSK0549B.M IVECO 42491974 - VANHOOL - 634321204
BREDAMENARINIBUS 0192752

8609 / Dust Cover
IVECO Type

1205C1667 IVECO 42488737 - VANHOOL - 634321228 - VOLVO 1696219
MOWAG 0734609

8610 / Dust Cover
IVECO Type

1205B1666 IVECO 42488736 - 3351848R1 - VANHOOL - 634321223 - VOLVO 1696218
FODEN Y03018404 - FORD 82DB2B009AA - NISSAN 069028780 - MOWAG 0734612

8611 / Dust Cover
IVECO Type

RBSK0251B.M IVECO 7980408 - BREDAMENARINIBUS 192757 - ZF 0501 298 164

8610 / Dust Cover

8612 / Brake Holder
IVECO Type

8613 / Adjusting Latc
IVECO Type

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




IVECO
SERIES

UNIBRAKE Turkey I

Brake Caliper Repair Kit

8614 / Brake Repair Kit

IVECO Type
93161622 / 93162114
C A O Cil___ >
8405 / Return Spring 8605 / Return Spring
8615/ Adjusting Screw 8616 / Adjusting Nut 8619 / Adjusting Latc 8618 / Brake Holder 8617 / Dust Cover
8615 / Adjusting Screw 8616 / Adjusting Nut
IVECO Type IVECO Type
42531676 / A22297E5907
8617 /| Dust Cover 8618 / Brake Holder
IVECO Type IVECO Type
IVECO 42531677 - MAN 8600569 - NISSAN 069026590 STEYR 69200340701
VOLVO 1698588 OEM NO 1205X2000 ﬁ
B
|

8619 / Adjusting Latc
IVECO Type

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

IVECO
SERIES

Turkey [l

- -
8407 Washer 8622/ Brake Holder Lover

== ii

8624 / Dust Cover 8627 / Adjusting Latc

8626 / Adjusting Screw

8620 / Brake Repair Kit
IVECO Type

- Q] ==
= <

, o ==

8406 / Spring

-=d -

8621 / Brake Holder Upper

S e
8625 / Brake Holder

8621 / Brake Holder Upper
IVECO Type

8622 / Brake Holder Lover
IVECO Type

8623 / Brake Holder Lower
IVECO Type

12.999.135VT - 12.999.411VT IVECO 8124815 - DENNIS 65325114 - MAN N1011013158
SOLARIS 0701590020 - ZF 0501 129 805 - NEOPLAN 070159002 - 10113158

a a
8627 / Adjusting Latc

8622 / Brake Holder Lover 8621 / Brake Holder Upper

8624 / Dust Cover
IVECO Type

12.999.404VT IVECO 93161257 - KOGEL 336677 - DENNIS 65481218
NATO 2530123431914 ZF 0501 129 817 - LEYLAND FBU7502

-

8625 / Brake Holder
IVECO Type

12.999.402VT IVECO 93161267 - DAF 1518475 - DENNIS 65481215 FREIGHTLINER
TBBD65481215 - SOLARIS 0870040000 LEYLAND FBU9123 - NATO 2530123667596
ZF 0501 129 817

il =
Vo./

.

8626 / Adjusting Screw
IVECO Type

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

IVECO
SERIES

@
TURKAIK

Kaite
TS EN

AB-0089-YS

Turkey [l

8627 / Adjusting Latc
IVECO Type

a

8628 / Brake Holder Set

IVECO Type

93161623

8619 / Adjusting Latc gg1g / Brake Holder 8616 / Adjusting Nut

8629 / Brake Holder Set
IVECO Type

RBSK0549B.M BREDAMENARINIBUS 0192752 IVECO 42491974
VANHOOL 634321204

8613 / Adjusting Latc

8612 / Brake Holder

8608 / Adjusting Nut

8630 / Dust Cover Set
IVECO Type

8609 / Dust Cover

8610 / Dust Cover

8631 / Caliper Repair Kit
KNORR BENDIX

KNORR: 381.391/ IVECO: 93161189 / ADB: 3700 - 4300

250xD45x40 mm

- M16x1,5x125 mm

——

8803 / Caliper Pin

245x150 mm

=l

8801 / Caliper Pin

@23,5x92 mm -

8800 / Pin Bush
238xP24x55 mm

8805 / Pin Bush

8804 / Pin Bolt

M22x1,5x175 mm

——

8802 / Pin Bolt

8632 / Brake Pad Retainer Kit
KNORR BENDIX

381.419/ 93161560

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




| ° ®
UNIBRAKE IVECO ) Turkey I

SERIES

Brake Caliper Repair Kit

8633 / Brake Pad Retainer Kit
KNORR BENDIX

1133692 / 93161843

8634 / Brake Repair Kit
IVECO Type

RBSK2318.M / IVECO 42536197 - 42559513

8408 / Return Spring

8654 / Adjusting Latc

8aa

> st 17/D
8618 / Brake Holder 8653 / Adjusting Screw 8655/ Adjusting Nut 8617/ Dust Cover
N -
8635 / Dust Cover 8636 / Hold Down Clip
IVECO Type IVECO Type
1205E2683 - 6C462B024AB | IVECO 4257841 13 304 029 / IVECO 8121441 - DAF 1505893 - DENNIS 6548125 - TAM 5577951

LEYLAND FBU9121 - MB 000 654 8125 - D6548125 - ZF 0501 131 497
NATO 5340121918830 - 5340123088456 - VOLVO 20000217501

=4

- < 4

8637 / Adjusting Nut 8638 / Adjusting Latc

IVECO Type IVECO Type

1227K1337 / IVECO 93163852 - 99435121 - ERF 1448479 - MAN N2906850084 A1779M195 / IVECO 42488739 - MOWAG - 0734619 VANHOOL 634321230
VOLVO 1695050

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

EAL

IVECO
SERIES

8639 / Hold Down Clip
IVECO Type

2257M1001 - 2257D108 IVECO 42488484 - FORD 82DB2B026AA - NISSAN 069028800 VANHOOL 634321233 - VOLVO 6770266 - FODEN Y03018809

S

8640 / Brake Anchor Plunger Kit - Right
IVECO Type

RBSK1482.M / IVECO 3352053R91 - 93161864 - ERF 2020382

8409 8410
Brake Anchor Plunger Brake Anchor Plunger
Angle 5° - Right Angle 15° - Right

8641 / Brake Anchor Plunger Kit - Left
IVECO Type

RBSK1481.M/ IVECO 3352052R91 - 93161863 - ERF 2020376 - MAN N2913016004

8411 8412
Brake Anchor Plunger Brake Anchor Plunger
Angle 5° - Left Angle 15° - L

8642 | Brake Holder Set - Right
IVECO Type

RBSK1606.M - RBSK1599.M / IVECO 42537365 - 42537363

—_—

8635 / Dust Cover

44

8644 / Adjusting Latc

8645 / Brake Holder - Right

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




| ° ®
UNIBRAKE IVECO ) Turkey HI

SERIES

8643 / Brake Holder Set - Left
IVECO Type

RBSK1607.M - RBSK1600.M / IVECO 42537366 - 42537364

! ° ° 8644 / Adjusting Latc

Brake Caliper Repair Kit

8646 / Brake Holder - Left 8635 / Dust Cover
8644 | Adjusting Latc i 8645 | Brake Holder - Right
IVECO Type IVECO Type

8646 / Brake Holder - Left 8647 | Hold Down Clip
IVECO Type IVECO Type

RBSK1409 / IVECO 93161626

8648 |/ Brake Holder Set - Right
IVECO Type

RBSK0248B.M / ASTRA 7980405 - BREDAMENARINIBUS 0192754 - ERF A4023357

43

8638 / Adjusting Latc

8667 / Brake Dust Cover

8650 / Brake Holder - Right

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




i @
UNIBRAKE Turkey HI

SERIES

Brake Caliper Repair Kit

8649 / Brake Holder Set - Left
IVECO Type

RBSK0249B.M / ASTRA 7980406 - BREDAMENARINIBUS 0192755 - VANHOOL 10610921

J —_— 8667 / Brake Dust Cover

8651 / Brake Holder - Left

44

8638 / Adjusting Latc

8650 / Brake Holder - Right 8651 / Brake Holder - Left
IVECO Type IVECO Type

8652 / Brake Repair Kit
IVECO Type

RBSK2318-1/ IVECO 42562830 - 2996557

5885 1000 ;.

8617 / Dust Cover 8655 / Adjusting Nut
| i I | E I ' | I I I I ' 8654 / Adjusting Latc
8653 / Adjusting Screw o -x.SIEI-B_/--Brak;ﬂilm;r. S
8653 / Adjusting Screw 8654 | Adjusting Latc
IVECO Type IVECO Type

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

@
TORKAR
<

IVECO
SERIES

Turkey [l

8655 / Adjusting Nut
IVECO Type

8656 / Adjusting Nut
IVECO Type

8657 / Adjusting Nut
IVECO Type

8658 / Adjusting Screw
IVECO Type

8659 / Adjusting Screw
IVECO Type

8660 / Wedge For Brake
IVECO Type

8661 / Brake Holder Upper
IVECO Type

8662 / Brake Holder Lover
IVECO Type

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE |\ v [ Turkey M

SERIES

Brake Caliper Repair Kit

8663 / Brake Holder
IVECO Type

=
L

8664 / Adjusting Latc Set

IVECO Type
8662 / Brake Holder Lover 8407 | Washer 8627 / Adjusting Latc 8406 / Spring

e TP S e=

” o 7 8661 / Brake Holder Upper
8626 / Adjusting Screw 8663 / Brake Holder 8624 / Dust Cover PP

8665 / Adjusting Latc Set 8666 / Brake Holder Set
IVECO Type IVECO Type

8627 / Adjusting Latc i k
S = i } ) 5 8654/ Adjusting Latc 8655 / Adjusting Nut 8618 / Brake Holder

- 5B

8661 / Brake Upper 8662 / Brake Holder Lover

8667 / Brake Dust Cover
IVECO Type

.

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE IVECO Turkey HI

Brake Caliper Repair Kit ;
SERIES B

8668 / Brake Repair Kit
IVECO Type

12.999.573VT / IVC: 93161872 / KGL: 339456 / DF: 1518483

m———am,  §V

8669 Brake Auto Adjust Kit 8670 / Brake Excluder Kit
IVECO Type IVECO Type
SP9662 SP8588

8671 / Brake Excluder

8413 / Brake Auto Adjust
i 8671 / Brake Excluder i 8672 | Brake Locating Screw
IVECO Type IVECO Type

68191580 68191208PKS

8414/ Screw

8673 / Brake Circlip 8674 | Brake Piston Kit
IVECO Type IVECO Type

8416 / Brake Piston

.

8415/ Circlip
WWW-unibrake-Com Ar 1 0/ UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




You can follow our new products from our website.




UNIBRAKE B

SERIES

Turkey [l

Brake Caliper Repair Kit

AB-0089-YS

9001 / Caliper Repair Kit Complete
TSB 3709 /4309 (9 TON AXLE ) Type

8340/ Plug 9016 9004 / Roller Bearing Set
Caliper Adjusting Mechanism Set

@

o9 =

9003 / Caliper Pin Repair Kit

% e—

9032 / Caliper Mechanism , Piston & Cover Set

— -—f S
B K =@
co@8 OO0

S TRERN) )

9002 / Caliper Boot & Cap Set
TSB 3709 /4309 / 4312 Type

B: 09.801.07.62.0

D41xD37x73 mm @41xB37x30 mm
| — - - o .
8305 / Pin Bush - 8312/ O-ring 8310/ Plug

8306 / Pin Bush

e cocoee OO

8330/ Plastic Washer 8321 / Plastic Cap

8309 / Pin Boot 8331/ O-ring
9003 / Caliper Pin Repair Kit
TSB 3709 /4309 / 4312 Type
@37x123 mm D241x@37x30 mm B41xB37x30 mm
“ M16x1,5x100 mm 0
e j 8308 / Pin Bolt — . @ . : Q
8303 / Caliper Pin 8305/ Pin Bush 8306 / Pin Bush 5310 8312 8313
P Plug O-ring Pin Circlip
236,40x70 mm
W— M16x1 5x70 mm
8304 / Caliperrin 8309/ Pin Boot 8330/ Plastic Washer 8321/ Plastic Cap 8331/ O-ring
WWW.unlbrake.com.tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE

Brake Caliper Repair Kit

SERIES

e
Turkey [l

9004 / Roller Bearing Set
TSB 3709 /4309 / 4312 Type

¢ X
Qé%?ﬂ ‘zﬁx\ﬁ}

8329 / Roller Bearing

9005 / Roller Bearing Set
TSB 3709 /4309 (9 TON AXLE ) Type

8332/ Roller Bearing

9006 / Caliper Pin Repair Kit
TSB 3709 /4309 /4312 Type

B: 09.801.07.63.1 - 05.801.50.90.0

D

8302 / Clamp

S

8301 / Tappet Boot

8314 / Tappet With Pin

8315/ Locker

9007 / Caliper Calibration Bolt
TSB 3709 /4309 /4312 Type

9008 / Caliper Lever
TSB 3709 /4309 /4312 Type

9009 / Caliper Adjusting Mechanism
TSB 3709 /4309 / 4312 Type

8320
Shaft Roller Bearing

8319
Caliper Mechanism Bearing House

9010 / Caliper Lever Pin
TSB 3709 /4309 / 4312 Type

9011 / Caliper Cover Set
TSB 3709 /4309 / 4312 Type

B:05.010.95.31.0

<

8318
Mechanism Washer

M8x16 mm

1111
111

0120/ Bolt

8316 / Mechanism Cover

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

SERIES

Tuirkey I

9012 / Caliper Washer Set
TSB 3709 /4309 / 4312 Type

QD O
O O O

8339 / calibration Bolt Housing

9013 / Shaft Housing
TSB 3709 /4309 / 4312 Type

9014 / Caliper Adjusting Mechanism
TSB 3709/ 4309 (9 TON AXLE ) Type

B: 01.127.38.02.0

9016 / Caliper Adjusting Mechanism Set
TSB 3709/ 4309 / 4312 Type

9017 / Shaft Housing
TSB 3709/ 4309 (9 TON AXLE ) Type

9018 / Caliper Lever Pin
TSB 3709 /4309 /4312 Type

——

9010/ Caliper Lever Pin

M8x16 mm

1

0120/ Bolt

9008 / Caliper Lever

9019 / Caliper Bearing Set
TSB 3709/ 4309 / 4312 Type

€D &3 €3 € &
€D €I ED & &5

8320 / Shaft Roller Bearing

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




| N B R H K E® TUI?;MK [H[

2 v ) Turkey
SERIES "

Brake C'aliper* Repair Kit

9020 / Caliper Pin Repair Kit
TSB 3709 /4309 / 4312 Type

B:09.801.07.61.0

@37x123 mm B41xD37x73 mm
“ " M16x1,5x100 mm s
P P—— .
— 8308 / Pin Bolt R : :

8303 / Caliper Pin 8312/ 0-ring 8313/ Pin Circlip

8305/ Pin Bush
©36,40x70 mm D41xB37x30 mm

M16x1,5x70 mm .
5 0806 / Pin Bolt . .
8304 / Caliper Pin -

8306 / Pin Bush 8321 / Plastic Cap 8331/ O-ring

9021 / Caliper Boot & Cap Set
TSB 3709 /4309 / 4312 Type

OO () e

8330 / Plastic Washer

8331/ O-ring 8310/ Plug
8309 / Pin Boot 8321/ Plastic Cap 8312/ O-ring

9022 / Caliper Pin Repair Kit
TSB 3709 /4309 / 4312 Type

@37x123 mm D41x@37x73 mm

‘l —— ,.._L“..:' M16x1,5x100 mm
— - o '1 o~ J

8303 / Caliper Pin 8308 / Pin Bolt

8305 / Pin Bush
D41xD37x30 mm
236,40x70 mm

M16x1,5x70 mm
l 0806 / Pin Bolt . Q

: : 8313/ Pin Circli
8304 / Caliper Pin 8306 / Pin Bush P

9023 / Caliper Plug Set 9024 / Caliper Pad Retainer Repair Kit
TSB 3709 /4309 / 4312 Type TSB 3709 /4309 / 4312 Type
g
N 5

- .
75 mm

8340 e — 3 . .
Plug i

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




“”BRF.KE Tuirkey I

B
SERIES e

Brake Caliper Repair Kit

9025 / Brake Pad Retainer Repair Kit
TSB 3709/ 4309 / 4312 Type

B: 09.801.07.68.1

8327 / Washer 8326 / Cotter Pin

8328 / Brake Pad Retainer
-
T . ’— © o
S [
8325/ Pin

8341 / Pad Retainer Spring

9026 / Caliper Pin Repair Kit With Pad Retainer
TSB 3709 /4309 / 4312 Type

B: 09.801.05.81.0

@37x123 mm

“ = M16x1,5x100 mm 9025 / Brake Pad Retainer Repair Kit
S u——— 8308 / Pin Bolt

@36,40x70 mm
q M16x1,5x70 mm
a— 0806 / Pin Bolt : :

8304 / Caliper Pin 8330 / Plastic Washer

9027 / Caliper Cover Set
TSB 3709 /4309 / 4312 Type

O oo

8330 / Plastic Washer

8321 / Plastic Cap 8331/ O-ring

9028 / Caliper Repair Kit
TSB 3709 /4309 (9 TON AXLE ) Type

9017 / Shaft Housing 9014 9004 / Roller Bearing Set 9005 / Roller Bearing Set
Caliper Adjusting Mechanism

S P \ %

WWW-unibrake-com-tr OI UnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




UNIBRAKE .
SERIES

Brake Caliper Repair Kit

TURKAIK

_v ) Turkey

EAL

9030 / Caliper Complete Mechanism Repair Set

TSB 3709 / 4309 (9 TON AXLE ) Type
9032 9018 / Caliper Lever Pin

Caliper Mechanism , Piston & Cover Set E

9004 / Roller Bearing Set

. R

:’f’,\\é‘x p\)

9032 / Caliper Mechanism , Piston & Cover Set
TSB 3709/ 4309 (9 TON AXLE ) Type

ULIRRARN)
- m

9033 / Caliper Pad Retainer Repair Kit
TSB 3709 /4309 / 4312 Type

iy '

60 mm

9034 / Caliper Mechanism Bearing House
TSB 4312 (12 TON AXLE ) Type

9035 / Caliper Mechanism , Piston & Cover Set
TSB 4312 (12 TON AXLE ) Type ( New Type)

mu,l]_ll}!_i;nn

9035 / Caliper Mechanism , Piston & Cover Set

1111

1111

9036 / Caliper Complete Mechanism Repair Set
TSB 4312 (12 TON AXLE ) Type

9018 / Caliper Lever Pin

9004 / Roller Bearing Set

—_

P\ P\

<

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive

(@) / unibrake_caliper




UNIBRAKE

Brake Caliper Repair Kit

SERIES

EAL

9037 / Caliper Repair Kit Complete
TSB 4312 (12 TON AXLE ) Type

8340/ Plug

9016

Caliper Adjusting Mechanism Set

4

%)

9004 / Roller Bearing Set

2 AP
@ 7))

9003 / Caliper Pin Repair Kit

—
—— S
e O
co@8 00

9018 / Caliper Lever Pin

www.unibrake.com.tr

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS

OI UnibrakeAutomotive (@) / unibrake_caliper




BRRKE SPECIAL Turkey HI

Br*ake Caliper Repair Kit PRODUCTS
—

WWW-unibrake-Com-tr OIUnibrakeAutomotive (@) / unibrake_caliper

ORIGINAL PART NUMBERS MENTIONED ONLY FOR DESCRIPTIONS




h 4

) [ 4
Kdfatad\

©tomotiv




	Başlıksız
	Başlıksız
	ÖN KAPAK-1.pdf
	Page 2

	ARKA KAPAK-1.pdf
	Page 1




